REGISTERED
DESIGN

dalice - RMS

_RMS

gepriifte
Sicherheit

EN 14344




FR

PT

KOOLAH
Trying to anticipate and answer to the needs of the cycling community, we have declared it to our mission to create innovative accessories for bicycles,
providing leisure and differentiation, while granting the safest performance possible.

To put your mind at ease when taking your child with you on various of your bicycle rides, we developed the perfect solution for carrying your child on most
bicycle types. Our ergonomic child seats are all built with safety and comfort as the primary goals, offering features as adjustable safety harness that the child
cannot unbuckle, foot protection, padded safety belts for softer shoulder protection and full protection in case of heavy falls.

At Polisport, our business is innovation, quality and safety, because cycling is a passion of yours and perfection, is a passion of ours.
This document contains instructions for a safe assembling of your baby seat.

TECHNICAL CHARACTERISTICS
- The seat cannot be mounted on bicycles with rear shock absorbers.
- The baby seat can be assembled on bicycles with wheels with diameters of 26"and 28"

- The baby seat can only be mounted on bicycles with a luggage carrier with a capacity of 25 kg, according to EN14872 standard.
- The seat cannot be mounted on bicycles with luggage carriers wider than 175 mm.

- If you have any doubts on assembling the baby seat on your bicycle, please contact your bicycle supplier for further information.

KOOLAH

Afin de prévoir les besoins de la communauté cycliste et d'y répondre au mieux, nous nous sommes fixé pour mission la conception d'accessoires innovants
et originaux pour vélos, pour les moments de plaisir, tout en assurant la meilleure sécurité possible.

Pour vous libérer de tout souci lorsque vous prenez votre enfant sur un de vos vélos, nous avons développé la solution parfaite pour transporter un enfant

sur la plupart des types de bicyclettes. Nos siéges ergonomiques pour enfants sont fabriqués dans le but d'assurer confort et sécurité : harnais de sécurité

que l'enfant ne peut déboucler, protége-pieds, ceintures de sécurité rembourrées assurant un maintien confortable des épaules et une protection totale
en cas de lourde chute

Chez Polisport notre métier est l'innovation et la sécurité. Votre passion est le cyclisme, la notre est la perfection.

Ce document contient I'information et les indications nécessaires au montage et a I'utilisation du porte-bébé, en parfaites conditions de sécurité.

CARACTERISTIQUES TECHNIQUES

- Ne peut pas étre utilisé sur bicyclettes avec amortisseurs arrieres.

- Le porte-bébé peut étre monté sur des vélos avec roues de diamétres entre 26" et 28"

- Le porte-bébé ne peut étre utilisé que sur porte-bagages prévu pour une charge de 25 kg en accord avec la norme EN14872.

- Ne pas utiliser le porte-bébé sur bicyclette ayant un porte-bagages avec plus de 175 mm de largeur.

- En cas de doute a propos du montage du siége, veuillez vous adresser a votre fournisseur afin d'obtenir les informations nécessaires

KOOLAH

Tentando antecipar e responder as necessidades da comunidade de ciclistas, a nossa empresa tem-se dedicado a criar acessérios inovadores para bicicletas,
orientados para o lazer, oferecendo diferenciagao e garantindo o méaximo nivel de seguranga possivel.

Para que possa levar o seu filho consigo nos seus passeios de bicicleta sem preocupagdes, crigmos a solugdo perfeita para o transporte do seu filho
em quase todos os tipos de bicicletas. Os nossos porta bebés ergondmicos séo construidos com o objectivo principal de proporcionarem seguranca e

conforto, possuindo caracteristicas como abragadeiras de seguranca ajustaveis, que a crianga ndo consegue abrir, protecgao dos pés, cintos de seguranga
almofadados para uma protecgdo dos ombros mais macia e protecgao total em caso de quedas mais aparatosas.

A Polisport aposta na inovagéo, qualidade e seguranca, pois sabemos que andar de bicicleta é a sua paixao, tal como a nossa é a perfeicao.

Este documento contém a informacéao e indicagdes que serao Uteis paraa montagem e o uso do porta bebé, em condicées perfeitas de seguranga.

CARACTERISTICAS TECNICAS

- N&o pode ser aplicado em bicicletas com amortecedores traseiros.

- O porta bebé pode ser montado em bicicletas com didmetros de rodas de 26" e 28"

- O porta bebé sé deve ser aplicado em porta bagagens com capacidade de carga de 25 Kg respeitando a norma EN14872
- O porta bebé ndo pode ser montado em porta-bagagens que apresentem uma largura superior a 175mm.

- Caso tenha duvidas quanto a possibilidade de instalacdo do porta bebé na sua bicicleta, recomendamos que obtenha mais informagées junto do
distribuidor da bicicleta.

2 www polisport.com



KOOLAH

In dem Bestreben, stets auf die Bedrfnisse der Radfahrer einzugehen, haben wir es uns zur Aufgabe gemacht, innovatives Fahrradzubehér zu entwickeln,
das nicht nur ein HochstmaB an Fahrspal8 und Individualitat bietet, sondern dartiber hinaus héchsten Sicherheitsanforderungen gerecht wird.

Wir bieten Ihnen die ideale Losung fiir die Beférderung von Kindern auf den meisten Fahrradtypen, damit Sie die in Begleitung lhres Kindes unternommenen
Ausflige entspannt genieen konnen. Unsere ergonomischen Kindersitze, bei denen sowohl Sicherheit als auch Sitzkomfort oberstes Gebot ist, sind
ausgerustet mit verstellbaren Sicherheitsgurten, die sich nicht vom Kind &ffnen lassen, FuBschutz, gepolsterten Sicherheitsgurten fur einen bequemeren
Schulterschutz und Rundumschutz fur den Fall eines schweren Sturzes.

Bei Polisport stehen Innovation, Qualitat und Sicherheit ganz oben, denn Fahrradfahren ist Ihre Leidenschaft und Perfektion die unsere.

Diese Anleitung beinhaltet die genauen Angaben und notwendigen Informationen fiir die sichere Montage und Nutzung lhres
Fahrradkindersitzes.

TECHNISCHE EIGENSCHAFTEN
- Kann an Fahrradern mit 26" bis 28" Reifendurchmesser angebracht werden.
- Eignet sich nur fur Fahrrader mit Gepécktrager von einer Tragekapazitdt von 25kg, der EN14872 Norm entsprechend.
-Wenn Sie noch Fragen zur Montage des Fahrradkindersitzes haben, wenden Sie sich bitte and den Verkanfer des Fahrrades. Der Kindersitz eignet sich nicht
flir Fahrrader mit Gepacktrager mit Uber 175mm Breite.

KOOLAH

Batll iy ool i, sl 1 8 0”5 B by il L o Ll i) ) s dis bzl g Joalaslly g3 5201 i Loe
Tl e 28T il 28 01y “ odlly

BN g s o 1 QY aslia, ol g T ne S llid ok JUll 1 U b il ] Y Sl ellil” o i iiladal s o o)
,_;,;J;.-k;bu\u;,.“ci”mn;l,, Lol o Jalal) 5 Y 1l el A1 a1 LS 2] il sy L 0els 11 )1 oY, Lae¥I s
ehd | bl N s 1S Ll Aol 2T S Bla 3

IS Gont) o) St o 33l s a1 08 0080 5l 544y g Y ) s Ulee Polisport

< llib asil oW a8 2] ol o ladas e B2 1 JE '

Laaall ol U

ey’ W il Wity e il a5 o5 Y-

(20028 5260 U as Moas i, "Wl ol 3 Jiba)l i pa K5

ENTA872 ., ot lad xS 25 i’ msal ety 82, ] o k3 Jaka)l dinko oS 5 5=

w175 o ainpe din aaaBl Jolo ol Sl s o i)l dnia oS 5 58 Y-

] o ghne i al il 51 T U P 1 o IS il 5 e Jiladl dnds pat S S gl LS 13-

KOOLAH

OnuTBaiiki ce Aa NPeaBUANM 1 OTFOBOPYM Ha NOTPEOHOCTATE Ha BENOCUMNE[HOTO O6LeCTBO, H1 AeKNapupame Haluata M CKA a Cb3AaBame MHOBATUBHM
aKcecoapu 3a BeNOCUneam, OCUrypABaiki OTAMX U AUBEPCUGUKALIVA, MPY Bb3MOXHO Hali-rofiAamMa 6€30MacHOCT.

3a 71a BM e CNOKOWHO, KoraTo B3emaTe BaleTo [eTe C BaC Ha PasfIMiHU BENOCUMNENHM Pa3XOAKY, He cMe pa3paboTunn NephekTHO peleHmre 3a HoceHe
Ha BaLLETO fleTe Ha NOBEYETO BUAOBe Benocunean. BCUUKN Haln eproHOMIUYHI IeTCKM Ceflanki Ca Ch3fafieHi Taka, Ye Ha MbpBO MACTO A1a ca 6e30nacHi
1 KOMPOPTHY, Npeanaraikn xapakTepucTKN KaTo perynvipyemn pembliv 3a 6e30MacHOCT, KOUTO AeTeTO He MOXe Aa OTKOMYae, 3almTa 3a Kpakata,
[IOMbAHUTENHY 3aLLMTHIA PEMbLV 3a MO-MeKa 3all1Ta Ha PaMeHaTa v Mb/iHa 3allmTa B Clyyall Ha Cepro3HO NafaHe.

B Polisport, Hrie paboTVM MHOBATMBHO, KaueCTBEHO M 6e30MacHo, 3alioTO Thil KaKTO KOMOE3/leHeTo € Balla CTPacT, HalaTa CTPacT € CbBbPLIEHCTBOTO B
KONOE3LEHETO.

Tosm T CbAbpXKa UH

1 MHCTPYKUMM 3a crnobsABaHe No 6e30naceH HaunH Ha cefankata.
TEXHUYECKW XAPATEPUCTUKU
- Cepankata He MOXe fia 6bae MOHTVPaHa Ha Befocunes CbC 3aAHN aMOPTUCHOPMU.
- [letckata cefjanka moxe fja 6bie MOHTVPaHa Ha Benocuned ¢ Konena c AMameTbp 26" nnm 28"
- [leTckata cefjankata MOXe fia Ce NpuKpensa eAMHCTBEHO KbM BENOCKNEAM C paMKka 3a Barax ¢ KanaumTeT 25Kr B CbOTBETCTBME CbC CTaHaapTa EN14872.
- Cepjankara He Moxe Aa 6b1e MOHTMPaHa Ha BENocunes € BaraxHiik No-LMPOK OT 175 M.
- AKO MMaTe CbMHEeHUA OTHOCHO MOHTUPAHETO Ha Ta3n CeAanka Ha BalwuA Benocunes, Mona, CBbpxeTe ce C NpofaBaya Ha BENOCUNEAa, 3a Aa nonyunte
AONbNHUTENHa MH¢OpMauMﬂ

KOOLAH

Ve snaze predvidat a reagovat na potteby cyklistické vefejnosti jsme si stanovili za kol vytvofit pokrokové pfislusenstvi pro jizdni kola, které poskytuje nejen
pohodli a specializaci, ale také zajistuje nejvyssi moznou miru bezpecnosti.

Kdykoliv budete se svym ditétem podnikat cyklistické vyjizdky, mGzete byt iplné v pohodé, nebot jsme vyvinuli jedinecné feseni pro prevoz ditéte na vétsingé
typU jizdnich kol. Priméarnim cilem konstrukce nasich détskych ergonomickych sedacek je bezpecnost a pohodli, a proto nabizi takové funkéni prvky, jakymi
jsou nastavitelné bezpecnostni popruhy, které dité nemuze rozepnout, polstrované bezpecnostni pasy zajistujici mékei ochranu ramen a plnou ochranu
pro pfipad tézkych padd

Ukolem spole¢nosti Polisport je inovace, kvalita a bezpe¢nost, nebot cyklistika je vase vasen a dokonalost je nasi vasni.

Zde naleznete informace a navod pro spravnou a bezpe¢nou montaz sedacky

TECHNICKE PARAMETRY
- Sedacku nelze pouzit pro kola s tlumici.
- Détskou sedacku |ze namontovat na jizdni kola o priméru kol 26"a 28"
- Sedacku Ize pouZit pouze pro jizdni kola s nosi¢em s kapacitou 25 kg, podle normy EN14872.
- Sedacku nelze pouzit pro kola s nosi¢em 3irsim nez 175 mm.
- Pokud jste na pochybach ohledné montaze détské sedacky na jizdni kolo, obratte se na dodavatele jizdniho kola, ktery védm poskytne dalsf informace.

www.polisport.com 3

D D ] 3




7§ =3 = 0

KOOLAH

Med det formal at foregribe og imadekomme cykelfaellesskabets behov, har vi erklaeret det som vor mission at skabe innovativt cykeltilbeher der giver dig
differentiering og mulighed for at nyde din fritid, samtidig med at vi garanterer en praestation under de bedst mulige sikkerhedsbetingelser.

For at du kan fele dig tryk ndr du tager dit barn med pa en tur pé cyklen, har vi udviklet den perfekte lasning, der ger det muligt at transportere dit barn pa
langt de fleste cykeltyper. Vore ergonomiske barnestole er alle bygget med sikkerhed og bekvemmelighed som primaere mal og tilbyder indretninger sa
som justerbar sikkerhedssele, som barnet ikke selv kan frigere sig fra, fodbeskyttelse, polstrede sikkerhedsseler for en mere bekvem beskyttelse af skuldrene
og fuld beskyttelse i tilfaelde af fald.

Hos Polisport fokuserer vi p& innovation, kvalitet og sikkerhed, fordi cykling er din passion, imens perfektion er vor passion.

Naervaerende dokument indeholder relevante og nyttige oplysninger for sikker montering og brug af barnestolen.

TEKNISKE SPECIFIKATIONER
- Stolen kan ikke anvendes pa cykler udstyret med steddeemper pé baghjulet.
- Barnestolen er egnet til montering pa cykler med hjul i sterrelsen 26" og 28"
- Barnestolen ber kun anvendes pa bagagebaerer med en baereevne pé 25 Kg og som overholder EN14872 standarden.
- Barnestolen kan ikke monteres, hvis cyklens bagagebzerer er bredere en 175 mm.
- Hvis du er i tvivl om hvordan du skal montere barnestolen pa din cykel, anbefaler vi at du kontakter forhandleren.

KOOLAH

SNV MPOOTIABEd UG Va EVTOTTICOUHE EK TWV TIPOTEPWV TIG QVAYKEC TNG MOSNAATIKAG KOWOTNTAG Kat va avTamokplBoUpe 0g autég BewpoUpE KabrKov pag
Snpiovpyia kawotopwy aecoudp yia modrnata, cuvdualovtag TV avapuyr Kal Tn Slapopomnoinon e Ty mapoxr TNG aoparéaTepnc Suvatrig anodoonc.

Ma va pmopeite va napete 1o madi oag padi otig Siapopec moSnAATIKEG SIadPOpEC 0ag XWPIG Va aVNOUXETE, avantuéape TV TEAEI AJON yia T HETAPOPA
TadIWV HE TOUG TIEPIOOOTEPOUG TUMOUG modnAGTwy. ‘OAa Ta €pyovopIka Taidiké kabiopatd pag kataokeualoval He yvwpova TNV aceaiela kal Ty Gveon,
TIPOOPEPOVTAG OToIXEl OMWG PUBILOUEVES TTOPTES {WVIV AOPAEIG, TG OTToieg To Taidi Sev PITOPEl va avoiEel, TPooTaTeuTIKA aptriuata oSy, (Wveg
ao@aAeiag pe pagihapdkia yia TNV Mo HaAakr TPOoTacia Twv WHWV Kal TTAjpn pooTacia oe MepimTwaon 0oBapiv MTWOoEw.

>tV Polisport avtihapBavopaoTe Ty epyacia pag we Kavotopia, Toldtnta Kat ao®aiela, pia kai n modnhacia eival to maog oag Kat n Teheidtnta 1o SiKO pag.

To £yypago auto mepIEXEL TIC TANPOYOPIEC Kat EVSEIEEIC TTOV gival XPriOIHES Yia TN OUVEESN Kal TN XPrioN TOU TTOPT-UMEUTE, UE AMOAUTEG OUVOIKEG
acpaleiag.

TEXNIKA XAPAKTHPIZTIKA
- Agev uropei va epappooTel 0e TOSHAATA LE AUOPTICEP OTO TTOW HEPOG.
- To maibiko KaBlopa propei va ouvappoloynei oe modriAata pe TpoxoUs SIapETPoU 26 Kal 28 IVTOWV.
- To TOPT-HMEUTTE UMOPE! HOVO VA EQAPHOOTE! OF OXapa MoSNAATOU e SuvatdTnTa HETAYoPas Bapoug 25 Kg, oupgpuwva e To mpdturo EN14872
- To mMopT-pnepné Gev Umopei va cuvappoloynBei Gv Sev apaIPECETE TO TTOPT-HMAYKAL, EQOCOV AUTO EXEl TAATOG AVWTEPO TwV 175 mm
- EdQv éxete omoleadnmote ap@IBoNEG OXETIKA UE TN OUVAPHOAGYNON Tou MaISIKoU KaBiopatog oto MoSHAATO 0ag, TAPAKANOUHE ETKOIVWVAOTE HE TOV
TPopNBeuTH Tou TOSNAATOL Yia TIEPICOOTEPEC TTANPOPOPIEC.

KOOLAH

Intentando anticipar y responder a las necesidades de la comunidad de ciclistas, nuestra empresa se viene dedicando a crear accesorios innovadores para
bicicletas, orientados al ocio, y que ofrecen diferenciacion y garantizan el méximo nivel de seguridad posible.

Para que pueda llevarse a su hijo en sus paseos en bicicleta sin preocupaciones, hemos creado la solucion perfecta para transportar a su hijo en casi todos los
tipos de bicicletas. Nuestros portabebés ergonémicos son construidos con el objetivo principal de ofrecer seguridad y confort. Proporcionan caracteristicas
como hebillas ajustables, que el nifo no es capaz de abrir, proteccion de pies, cinturones de seguridad almohadillados para conseguir una proteccion de los
hombros més suave y una proteccion total en caso de caidas mas aparatosas.

Polisport apuesta por la innovacion, calidad y seguridad, pues sabemos que andar en bicicleta es su pasion, tal como la nuestra es la perfeccion.

Este documento contiene la informacion e indicaciones que seran utiles para el montaje y el uso del portabebés, en condiciones perfectas de
seguridad.

CARACTERISTICAS TECNICAS
- No se puede aplicar en bicicletas con amortiguadores traseros.
- El portabebé puede montarse en bicicletas con didmetro de ruedas de 26"y 28"
- El portabebés solo se debe aplicar en portaequipajes con capacidad de carga de 25 Kg, respetando la norma EN14872.
- El portabebés no se puede montar sin retirar el portaequipaje, en caso de que este presente una anchura superior a 175 mm.
- Sitiene dudas sobre la instalacion del portabebé en su bicicleta, le recomendamos que se ponga en contacto con el distribuidor de la bicicleta.

KOOLAH

Putame ette naha ratturite kogukonna vajadusi ja neile vastata. Meie missiooniks on innovaatiliste rattatarvikute loomine, mis pakuvad rédmu ja véimalust
eristuda, tagades Uhtlasi parima voimaliku turvalisuse.

Et meel oleks rahulik, kui votate lapse endaga rattaretkele kaasa, té6tasime valja téiusliku lahenduse lapse vedamiseks enamikku tipi ratastel. Ergonoomsete
lapseistmete konstrueerimisel oli meie peamiseks eesmargiks turvalisus ja mugavus. Meie lapseistmed pakuvad selliseid omadusi nagu reguleeritavad
turvarakmed, mida laps ei saa lahti teha, jalakaitse, polsterdatud turvavodd, mis kaitsevad pehmelt dlgu ning taielik kaitse tosiste kukkumiste korral.

Firma Polisport seab eesmérgiks innovaatilisuse, kvaliteedi ja turvalisuse, sest teie kireks on rattasoit ning meie pttidleme taiuslikkusele.

Kéaesolevas dokumendis on vilja toodud juhised ja kasulik info teie uue jalgratta turvatooli paigaldamise ja ohutu kasutamise kohta.

TEHNILISED ERIOMADUSED
- Ei ole sobiv tagumise amordiga jalgratastele.
- Lapseistme voib paigaldada ratastele, mille ratta 1abimoot on 26" ja 28"
- Turvatooli tohib vedada ainult pakiraamidel, mille kandevdime on 25 kg, vastavalt standardile EN14872.
- Kui jalgratta pakiraam on suurem kui 175 mm, tuleb see turvatooli paigaldamiseks eemaldada.
- Kui kahtlete, kuidas lapseistet rattale paigaldada, poérduge palun lisainfo saamiseks ratta midja poole.

4 v polisport.com



KOOLAH

Yritamme ennakoida pyoréilijdiden tarpeet ja vastata niihin, ja olemme asettaneet tehtavaksemme luoda innovatiivisia polkupyorien lisatarvikkeita, jotka
tarjoavat iloa vapaa-aikaan, erottuvat muista tuotteista ja takaavat samalla suurimman mahdollisen turvallisuuden.

Jotta sinun ei tarvitsisi huolehtia turhista ottaessasi lapsesi mukaan erilaisille pyoraretkillesi, olemme kehittaneet téydellisen ratkaisun lapsen kuljettamiseen
useimmilla pyoratyypeilld. Olemme rakentaneet kaikki ergonomiset lastenistuimemme pitdmalla turvallisuutta ja mukavuutta ylimpind padmaarindamme. Ne
tarjoavat ominaisuuksia, kuten saadettavat turvavaljaat, joita lapsi ei voi avata, jalkasuojus, pehmustetut turvahihnat, jotka suojaavat olkaa pehmeammin,
sekd taydellinen suojaus pydran kaatuessa pahasti.

Polisportin liketoiminta on innovaatiota, laatua ja turvallisuutta, koska pyoraily on sinun intohimosi ja taydellisyys meidan intohimomme.

Tassa kdyttoohjeessa on tietoa ja ohjeita istuimen turvalliseen kiinnittamiseen.

TEKNISET TIEDOT
- Istuinta ei voi kiinnittaa polkupydraan, jossa on takana iskunvaimentimet.
- Lastenistuin voidaan asentaa polkupydriin, joiden pyorien lapimitta on 26" tai 28"
- Lastenistuimen voi kiinnittaa ainoastaan polkupyariin, joiden tavaratelineen - kantavuus on 25 kg (EN14872 -standardin mukaan).
- Istuinta ei voi kiinnittda polkupyoraén, jonka tavarateline on leveampi kuin 175 mm.
- Jos et ole varma, voitko asentaa lastenistuimen polkupyoraési, ota yhteyttd polkupyorasi toimittajaan saadaksesi lisatietoja

KOOLAH

DIYTN DATAN X7 MNON? DNXY? DNW, MyN D7 79071 DMOIXD QDN N7 7¢ DX IR NIDXY '012

AWn7 MIY TN NNRAN NINAN NN DYRA DY 27'w2, TIN' NIND, W9IN DAD N7 79V, DM9IN?

D7UMN [NN9N X DNN'S, DD7W DMOIXN NIW'0IN 77N DdXNY DD T7' NX D'NPI7 DNXY Ny W91 LPY D7 7907 D

NN P2Wn? MUM MIYXIAI WX DDA 7Y D" DT7'0 2N 72, DM9IXD 210 N2 D T7' NX NRY? TWORY
NI NNRN, 720 92 220, XY MINYY? 177 NIWOKN MKW NIDNN NNV NANT N> NDDNA INYA [ DTN, NINDI
MW NI7'9) 7W DNpNa X7 ML, D"SNDY7 NI NN MAN? NIToNn

07¢ MARD XN~ NIN7WY NN, D79 NANKN XN DM9IK NADT D, NNV ND'R, NDYTN Dn-Polisport 2 07w Nrnnmn minn

DYY P11'NA AVIn 7Y n'NINtva MdYA7 NITMA 7N AT non

D''1D0 D')''ONN

OMINK DYITYT M70 Y2 0M9IK? AWINN X 12N7 N1 X7-

LYIR-28 1°YIN 26 7W 10172 07272 702 0M9IK 7V MdIA7 MA 70NN AUin-

EN14872.[pN '9 7V NIXT, P 25 KWL 7D' DN7W 7100w DMOIK? 21 PDNN AW DX 127 M-

N"N-175 N aM DN7Y 710NW DM9IN7 AWINN DX 12N7 N9 X7-

fon Y¥TN? 07w DMOINN NX' DY WP NY KX, D7W DM9IXD Q2 7V 70NN AWIN 122107 Yand DNW'7) NiE90 007 W' DX-

KOOLAH

Nastojeci predvidjeti potrebe biciklista i sasvim ih ispuniti, za cilj smo si zadali stvaranje inovativnih dodataka za bicikle koji su zabavni i ¢ine vas razli¢itima,
aistodobno pruzaju najve¢u mogucu sigurnost.

Za bezbriznu voznju biciklom kad ste na nju povezli i vase dijete razvili smo savrseni dodatak koji omogucuje prijevoz djeteta na vecini vrsta bicikala. Nase
ergonomski izradene djecje sjedalice udovoljavaju prvenstveno uvjetima sigurnosti i udobnosti, nudeci uz to i mogucnosti poput podesivog sigurnosnog
okvira sjedala koje dijete ne moze otkopcati, zastitu za noge, mekane sigurnosne pojaseve za njeznu zastitu ramena i potpunu zastitu u slu¢aju teZih padova.
Nas posao u Polisportu je inovacija, sigurnost i kvaliteta jer je vasa strast biciklizam, dok je nasa savrsenstvo.

Ovaj priru¢nik sadrzi upute za sigurno sastavljanje vase djecje sjedalice.

TEHNICKE KARAKTERISTIKE
- Sjedalicu nije moguce postaviti na bicikle sa straznjim amortizerima.
- Djedju sjedalicu moguce je ugraditi na bicikle ¢iji je promjer kotaca 26"i 28"
- Dje¢ju sjedalicu moguce je ugraditi na bicikle koji imaju kapacitet nosaca prtljage od 25 kg, prema standardu EN14872.
- Sjedalicu nije moguce postaviti na bicikle sa nosacem prtljage Sirim od 175 mm.
- Imate i bilo kakvih dvojbi oko ugradnje dje¢je sjedalice na bicikl, obratite se vasem prodavacu bicikla radi dodatnih informacija

KOOLAH

Hogy megprébéljunk elébe menni a biciklisek igényeinek, elkételeztik magunkat az olyan, innovativ kerékpar-tartozékok gyértdsa mellett, amelyek
kényelmesen és differencidltan hasznalhatdk, ugyanakkor a leheté legbiztonsagosabbak is.

Hogy megkonnyitstik a dolgat, amikor magdval viszi gyermekét a kiilonbézé biciklitdrékra, kidolgoztuk a tokéletes megoldast gyermekének a kulonbozéd
tipusu kerékpérokon torténé széllitasara. Az altalunk forgalmazott ergonomikus gyermekilések mindenek el6tt a biztonsag és a kényelem figyelembe
vételével készultek, olyan funkciokat kinalva, mint az éllithaté biztonsagi 6v, amelyet a gyermek nem tud kicsatolni; a labvédd; az alapéarnazott biztonsagi
ovek a vall kiméletesebb védelmére és a teljes kori védelem sulyos eséseknél.

A Polisport cégnél az innovacidra, a minéségre és a biztonsagra helyezziik a hangsulyt, mivel a biciklizés az Onék kedvenc idétoltése, a tokéletesités pedig
amiénk.

Ez a tajékoztaté tartalmazza mindazon informaciokat és utmutatasokat, melyek a gyermekiilés f
hasznalatahoz sziikségesek.

éhez és tokél bi:

MUSZAKI JELLEMZOK

- Nem szerelhet6 fel hatso lengéscsillapitoval rendelkezé kerékparokra.

- A bébiulést 26" és 28" atmérdjui kerekekkel rendelkezé kerékparokra lehet felszerelni.

- A gyermekilés az EN14872 szabvanynak megfeleléen 25 kg teherbirast csomagtartora szerelhetd fel.

- Ha a csomagtarto szélessége meghaladja a 175 mm-t, a gyermekilés a csomagtarto levétele utén szerelhet6 fel.

- Ha barmilyen problémaik adédnak a bébitilés felszerelésével kapcsolatban, akkor tovabbi informacioért forduljanak a kerékpar szallitéjahoz.

T D D

www.polisport.com 5



KOOLAH

Nel tentativo di prevenire e soddisfare le esigenze della comunita dei ciclisti, ci siamo prefissi la missione di creare accessori innovativi per biciclette,
garantendo tempo libero ed originalita, offrendo nel contempo prestazioni assolutamente sicure.

Per mettervi a vostro agio, quando portate con voi vostro figlio nelle vostre pedalate, abbiamo ideato la soluzione per trasportare bambini su quasi tutti i tipi
di bicicletta. Tutti i nostri sedili ergonomici per bimbo sono costruiti avendo come obiettivi primari la sicurezza e il confort, e offrendo caratteristiche come
limbracatura di sicurezza regolabile, che il bambino non pud sganciare, la protezione per i piedi e le cinture di sicurezza imbottite per una protezione pil
morbida delle spalle e per una protezione totale in caso di pesanti cadute.

In Polisport, il nostro business sono l'innovazione, la qualita e la sicurezza, perché se la bicicletta & una vostra passione, la nostra & la perfezione.

Questo documento contiene informazioni ed istruzioni per assemblare il seggiolino in condizioni di sicurezza

CARATTERISTICHE TECNICHE
- Il seggiolino non deve essere montato su biciclette con ammortizzatori sul retro.
- Il sedile per bimbo puo essere montato su biciclette con ruote del diametro di 26" e 28"
- Il seggiolino puo'essere montato solamente su biciclette il cui portapacchi abbia una portata di 25 kg. In conformita’con la normativa EN14872
- Il seggiolino non deve essere montato su biciclette con portapacchi superiore a 175 mm di larghezza.
- In caso di dubbio circa il montaggio del sedile sulla bicicletta, rivolgersi al proprio rivenditore di biciclette per ulteriori informazioni.

KOOLAH

Polisport #£D X v ¥ 3 vid, BEARSUZREL DD, LIv—lEAVIFTUT 2RI Uic, YOV VT EBTZERO-_—XEXWMDI 3
LOBEHMNBEGRERT VYU ERRITZETY,

BAI UV TICBENTORIC, BFHRERDULTRARSEONZ LS. FEERLTDY A TOBRECKG UCBBNLBEFHRAY — M EMARELE L.
IWNT/ 2V REERUIHHONE—Y— b, REMEHRBEREZE—ICEX. BFROFTEIT LD TERVBHRRE/\—RZAP, Ty b

=R 2vyayADIY—tNILL, BEKICEZEL CRELBHSH2EEH—RTZ7 vy a Y ADI—IRILERE, BXOTXRZRS LD

DTY,

LHOEBOERE., FHE. RE. 2T, YHORELRKI DADOERE. BNV A7)V /2B 2HBRICATRIFLERVNEDTT,

FEICIR. RE—Y— M ERBIBHBI TR HOBRBEHNETNL TV,

s 30ken
SARE=Y—hE U TPYav P TV —N—EOBBEEICEMONFF I ENTEREA.
- NE=Y— M IRA —)LE261 Y F E281 Y FOEGREIRD AT &N TEET,

- ANE—Y—hE, WBESE265kgDFA (EN148728EAM) DHZEGRHEICOAMDHITEENTEERT,
- ARE-Y—hE TAOEN175mmEBZ 2 BHREICIEMDHFTE e TEEE A
- CEAOBBEINE—Y— 2RO 2 ETRARRLH 2HEE. BREOX—A—ABHLWADERZE L,

KOOLAH

Mes siekiame jgyvendinti esamus dviratininky poreikius ir atspéti basimus, todél masy misija — kurti naujoviskus dviraciy priedus, pagerinancius laisvalaikj,
pabréziancius individualuma ir uztikrinancius auksciausia jmanomg saugumo lygj.

Mes sitlome tobula vaiko vezimo dviraciu sprendima, kad galétuméte saugiai keliauti, kai kartu pasiimate savo vaika. Visos musy ergonomiskos sedynés
sukurtos pirmiausiai galvojant apie sauga ir patoguma. Dél to jose yra reguliuojamas saugos dirZas, kurio vaikas negali pats atsisegti, pedy apsaugos
elementai, minkstos dirzy juostos ties peciais ir apsaugos per visa Ugj elementai.

Pagrindiniai,Polisport” verslo principai yra naujoves, kokybé ir sauga. JUsy aistra — dviraciai, 0 musy aistra — tobulybés siekimas.

Siame dokumente rasite visa reikalinga informacija kaip saugiai bei tinkamai surinkti kédute jos naudojimui.

TECHNINES CHARAKTERISTIKOS
- Kédutés negalima tvirtinti prie dviraciy su trumpais amortizatoriais.
- Sig vaiko kedute galima sumontuoti ant dviraciy, kuriy ratai yra 26" arba 28" skersmens.
- Vaiko kéduté gali bati tvirtinama tik prie dviraciy, turinciy bagazine, kurios laikomoji geba yra bent 25 kg, kaip nurodyta EN14872 standarte.
- Kedutés negalima tvirtinti prie dviraciy su bagaZine, kuri yra platesné nei 175 mm.
- Jei turite kokiy nors abejoniy dél vaiko kédutés montavimo ant jasy dviracio, kreipkités | savo dviracio pardaveja, kuris suteiks jums daugiau informacijos.

KOOLAH

Masu uznémums arvien ir centies apmierinat it visas ritenbraucéju vajadzibas, izstradajot dazadus inovativus divritenu piederumus, kas lieti noder gan
ikdienas gaitas, gan atpUtas brizos un ir maksimali drosi ekspluatacija.

Lai veloizbraucieni kopa ar mazuli batu patiesam patikami un izdevusies, esam partpéjusies par teicamu risinajumu, kas laus mazo érti parvadat ar vairumu
divritenu. Visi masu ergonomiskie bérnu sédeklisi konstruéti ta, lai batu maksimali drosi un komfortabli. Tie aprikoti ar bérna spékiem neatspradzejamam
reguléjamam drosibas jostam, kam ir miksts aizsargpolsteréjums plecu dala, ka ari ar kaju aizsargiem, turklat nodrosina pilnigu aizsardzibu smagu kritienu
reizés.

Polisport devize ir novatorisms, kvalitate un drosiba. Tas ari labi saprotams, jo masu razojumu perfekcija mums nozimé tikpat daudz, cik jums — velobrauksana.

Saja instrukcija sniegti noradijumi par to, ka drosi un pareizi uzstadit bérnu sédekliti.

TEHNISKAIS RAKSTUROJUMS
- Sédekliti nevar uzstadit velosipédiem ar pakaléjo amortizaciju.
- Bérnu sédekliti iespéjams uzstadit divriteniem ar 26 un 28 collu riteniem.
- Sédekliti drikst uzstadit tikai tadiem velosipédiem, kuru bagaznieks nodrosina 25 kg celtspéju atbilstosi standartam EN14872.
- Sédekliti nevar uzstadit velosipediem ar bagaznieku, kas plataks par 175 mm.
- Ja bérnu sédeklisa uzstadisana sagada gratibas, IGdzam konsultéties veikala, kura iegadats divritenis.

6 vw polisport.com



KOOLAH

Om te anticiperen op en tegemoet te komen aan de wensen van het fieterscollectief, zien wij het als onze taak innovatieve accessoires voor fietsen te
ontwerpen die zorgen voor ontspanning en afwisseling, waarbij de grootst mogelijke veiligheid wordt gegarandeerd.

Om met een gerust hart uw kind mee te kunnen nemen op een van uw fietstochten hebben wij de perfecte oplossing gevonden die geschikt is voor
de meeste fietstypes. Al onze ergonomische kinderzitjes zijn gebouwd met veiligheid en comfort als primair uitgangspunt en zijn uitgerust met o.a.
een verstelbaar veiligheidstuigje dat niet door het kind kan worden losgekoppeld, voetbescherming, veiligheidsgordels met kussentjes voor een zachtere
schouderbescherming en een totale bescherming in geval van een ernstige val

Bij Polisport is onze business innovatie, kwaliteit en veiligheid, want uw passie is fietsen en onze passie is perfectie.

Dit document bevat informatie en instructies voor de montage en het gebruik maken van het fietsstoeltje, onder strikt veilige condities.

TECHNISCHE SPECIFICITIES
- Het fietsstoeltje kan niet worden gemonteerd op een fiets met achtervering.
- Het kinderzitje kan worden gemonteerd op fietsen met een wieldiameter van 26 tot 28 inch.
- Het fietsstoeltje kan alleen gemonteerd worden op fietsen met een bagagedrager met een draagvermogen van 25 kg, volgens EN14872 norm.
- Het fietsstoeltje kan niet worden gemonteerd op fietsen met een bagagedrager breder dan 175 mm.
- Indien u twijfels heeft over de montage van het kinderzitje op uw fiets, neem dan contact op met uw fietshandel voor verdere informatie.

KOOLAH

Ved 3 prove pa a forutse og svare pa behovene til sykkelsamfunnet har vi erkleert at vart oppdrag er & skape innovativt tilbeher for sykler, muliggjere fritid og
ulik utvikling og samtidig serge for den tryggeste ytelsen som er mulig.

For & la deg slappe av nér du tar med barnet ditt pé dine ulike sykkelturer har vi utviklet en perfekt lasning for & frakte barnet ditt pa de fleste sykkeltyper. Vére
ergonomiske barneseter er bygd med trygghet og komfort som hovedmal og tilbyr funksjoner som justerbart sikkerhetsbelte som barnet ikke kan avspenne,
fotbeskyttelse, polstrede sikkerhetsbelter for mykere skulderbeskyttelse og full beskyttelse i tilfelle alvorlige fall.

Hos Polisport er var forretning innovasjon, kvalitet og sikkerhet, fordi sykling er din lidenskap og perfeksjon er var lidenskap.

Dette dokumentet inneholder instruksjoner for en trygg montering av ditt barnesete.

TEKNISKE SPESIFIKASJONER
- Setet kan ikke bli montert pé sykler med stgtfangere bak.
- Barnesetet kan bli montert pa sykler med hjuldiameter pa 26" og 28"
- Barnesetet kan kun bli montert pa sykler med et baggasjebrett med en kapasitet pa 25 kg i henhold til EN14872 standard.
- Setet kan ikke bli montert pé sykler med baggasjebrett som er bredere enn 175 mm
- Hvis du er i tvil om montering av baresetet pa din sykkel, vennligst kontakt din sykkelleverander for mer informasjon.

KOOLAH

Przewidywanie oraz zaspakajanie potrzeb pojawiajacych sie w spotecznosci rowerzystow wptyneto bezposrednio na zakres oraz charakter misji firmy, ktéra
jest tworzenie innowacyjnych akcesoriow rowerowych, spetniajacych réznorodne funkcje rekreacyjne oraz gwarantujacych maksymalne bezpieczeristwo.
Gléwnym zmartwieniem rodzicow pragnacych przewiez¢ swoje dzieci na rowerze, jest troska o ich bezpieczeristwo. Wychodzac na przeciw tym potrzebom,
opracowalismy idealne rozwiazanie - fotelik pasujacy do wiekszosci rodzajow roweréw. Gtéwnym celem podczas opracowywania projektu ergonomicznego
fotelika dzieciecego byto bezpieczeristwo oraz wygoda przewozonego malucha. W zwigzku z powyzszym foteliki zostaty wyposazone w regulowane
pasy bezpieczenstwa ze sprzaczkg, ktérej dziecko nie odepnie, ochraniacze na stopy, naktadki na pasy bezpieczeristwa chronigce ramiona dziecka przed
bezposrednim kontaktem z pasami oraz zapewniajace petng ochrone w razie powaznego upadku.

Firma Polisport kiadzie szczegolny nacisk na innowacyjne rozwigzania, wysoka jako$¢ oraz bezpieczeristwo. Jazda na rowerze jest réwniez nasza pasja

Niniejszy dokument zawiera informacj

iinstrukcje bezpiecznego montazu fotelika

CHARAKTERYSTYKA TECHNICZNA

- Fotelik nie moze by¢ montowany na rowerach posiadajacych tylne amortyzatory.

- Fotelik dzieciecy mozna montowac na rowerach, ktérych kota posiadaja srednice 26 lub 28 cali.

- Fotelik moze by¢ montowany na rowerach posiadajacych bagaznik nosnosci 25 kg. zgodnie z norma EN14872.

- Fotelik nie moze by¢ montowany na rowerach o bagaznikach szerszych niz 175 mm

- W przypadku watpliwosci dotyczacych montazu fotelika na swoim rowerze, prosimy zasiegnac informacji u sprzedawcy roweru.

KOOLAH

Incercand sé anticipam si sd raspundem nevoilor comunitatii biciclistilor, ne-am asumat misiunea de a crea accesorii inovatoare pentru biciclete, oferind
relaxare si originalitate si asigurand, in acelasi timp, un nivel de sigurantd in folosire cat mai ridicat posibil.

Pentru linistea dumneavoastra cand iesiti cu copilul la o plimbare cu bicicleta, am elaborat solutia perfectd pentru a va putea transporta copilul pe
majoritatea tipurilor de biciclete. Obiectivele noastre principale in fabricarea scdunelelor ergonomice pentru copii sunt siguranta si comfortul, oferind
caracteristici precum hamul de siguranta ajustabil care il impiedica pe copil sa se elibereze singur, protectie pentru picioare, centuri de sigurantd captusite
pentru protejarea delicatd a umerilor si in cazul caderilor accidentale.

La Polisport, inovatia, calitatea si siguranta constituie telul nostru principal deoarece ciclismul este pasiunea voastra iar perfectiunea este pasiunea noastra

Acest document contine informatii si instructiuni pentru asamblarea scaunelului in cond

perfecte de siguranta

CARACTERISTICI TEHNICE

- Scaunelul nu poate fi montat pe biciclete cu amortizoare posterioare.

- Scaunelul se poate monta pe biciclete cu roti cu diametrul de 26”si 28"

- Scaunelul trebuie sé fie montat doar pe portbagaje cu capacitate portanta de 25 kg, in conformitate cu norma EN14872.

- Scaunelul nu poate fi montat pe biciclete cu portbagaje ce depasesc 175 mm in latime.

-1n caz de neclaritati privind modul de montare a scdunelului pe bicicleta dv, vd recomanddm s& solicitati informatii ulterioare furnizorului dv de biciclete.

www.polisport.com 7

I D e



KOOLAH

PyKOBOACTBYACH MOXeNaHUAMY BENOCKNEAVCTOB, Halla GypMa 3aHMaeTCA Pa3paboTKoM NPUHUMMMANbHO HOBbIX MPUCMOCOBNEHNi, NoBbiWaloWMX yaobCTBO,
SKCMyaTaLMOHHbIE KauyeCTBa, HaAeXHOCTb 1 6e30NacHOCTb Benocuneos

Yrobbl Bac M36aBuTb OT 3360T BO BpEMA BeNOCKNEAHbIX NPOrYNoK C pebeHKoM, Mbl pa3paboTanu pelleHme, aeanbHO NoAxoAALLee N7 BENOCUNEAOB NPaKTUYecKu
nioboro Tmna. Halwy 3proHoMUYHbIE AETCKNE CUAEHbA, CKOHCTPYMPOBaHHbIE C YNOPOM Ha 6e30MacHOCTb M KOMGOPT, OCHaLLEHbI TaKMU MPUHAANEXHOCTAMY,
Kak perynvpyemble NpUBA3HbIE PEMHY, KOTOpble pebeHOK He CMOXET OTCTerHyTb, YCTPOCTBA ANA 3alUWTbl HOT, MATKVE HarneyHble pemHu 6e30macHoCTy,
npucnocobnexis, obecneurBaiolLye HaaexHyIo 3alUUTy NPy NageHni.

[leBn3 komnaHum Polisport — HOBaTOPCKMIA NOAXOA, KauecTso, 6e30nacHOCTb. Bl niobute BenocunefHble NPOryskuW, Mbl xe, pabotas AnA Bac, CTPEMUMCA K

COBEPLIEHCTBY.

toT T C ¢ ny pbie GynyT | PV MOHTaXe 1 NCMONb30BaHNN BENIOCUNENHOrO AEeTCKOro Kpecna, B

ycnosuaAx nosHoi 6esonacHocTu.

TEXHWUYECKWUE XAPAKTEPUCTUKN

- [IeTcKoe Kpecno He MOXeT BbiTb YCTaHOBNEHO Ha BeNOCUNEeAax C 3aAHMMM aMopTU3aTopam.

- [leTckoe craeHbe MOHTUPYETCA Ha Benocuneaax C iMaMeTpom konec 66 1 71 cm (26 v 28 loimos).

- [leckoe Kpecno MOoXeT 6biTb YCTaHOBIEHO Ha BaraXHOM KPOHLUTElHe C rpy30MogbeMHOCTbIO 25 Kr, B COOTBETCTBUM CO CTaHaapTom EN14872.

- [leTckoe MecTo He MOXeT GbiTb YCTaHOBNEHO Ha Benocunese, y KOTOporo GarakHbli KPOHLWTENH wipe 175 mm (0fHaKo GaraxHblil KDOHWTEH MOXET GbiTb

AEMOHTPOBAH Nepef YCTaHOBKOM AETCKOTO Kpecna).

- C BOMpOCami OTHOCUTENBHO MOHTaXa AETCKOrO CHAeHbA 0BpalliaiiTech K N3roTOBUTENIO VY NPOAaBLY Benocunesa.

KOOLAH
V snahe predpokladat a reagovat na potreby cyklistickej komunity sme tieto snahy zadeklarovali v rdmci nasich cielov, ktorymi je vytvorit inovativne doplnky
bicyklov, ktoré poskytuju pohodlie a moznost rozlisenia, a to pri zabezpeceni maximalnej bezpecnosti

Aby ste sa nemuseli velmi obavat pocas doby, kedy beriete svoje dieta na rézne cyklistické tury, vyvinuli sme vynikajtice riedenie na prevazanie deti na vacsine
typov bicyklov. Nase ergonomické detské sedacky su skonstruované bertic ako primarme ciele bezpecnost a pohodlie, ponukaju funkcie ako je nastavitelny
bezpecnostny postroj, ktory dieta nedokaze rozopnut, ochranu noh, makké bezpecnostné pasy zabezpecujice maksiu ochranu pliec a kompletnu ochranu
v pripade nebezpecnych padov.

V spolo¢nosti Polisport je nase podnikanie zalozené na inovéciach, kvalite a bezpecnosti, pretoze bicyklovanie je vasou véasiou a dokonalost je nasou vasnou.

Tento navod obsahuje délezité informacie o tom, ako spravne a bezpecne upevnit sedacku na bicykel.

TECHNICKE INFORMACIE
- Sedacka nesmie byt upevnend na celoodpruzené bicykle.
- Detsku sedacku je mozné namontovat na bicykle s kolesami rozmerov 26" a 28"
- Detska sedacka moze byt umiestnend len na bicykle s nosi¢mi s nosnostou 25 kg, EN14872.
- Sedacka nesmie byt upevnena na bicykle s nosi¢mi, ak su tieto nosice sirsie ako 175 mm.
- Pokial' mate pochybnosti ohladne montaze detskej sedacky na svoj bicykel, spojte sa prosim s dodavatefom bicyklov a poziadajte ho o dalsie informacie.

KOOLAH

Poskusamo predvidevati in se odzivati na potrebe kolesarjev, zato je nase poslanstvo ustvarjanje nove dodatne opreme za kolesa, ki omogoca vecje udobje
in naredi razliko, hkrati pa zagotavlja kar najvarnejse delovanje kolesa

Da bi lahko brez skrbi vzeli s seboj otroka na razli¢ne voznje s kolesom, smo razvili odli¢no resitev za prevazanje otrok na vecini vrst koles. Varnost in udobje je
prednostni cilj pri izdelavi nasih ergonomicnih otroskih sedezev, ki vsebujejo takine elemente, kot je nastavljivo varnostno jermenije, katerega otrok ne more
odpeti, zad¢ita za noge, oblazinjeni varnostni pasovi za mehkejso zascito ramen in popolno zad¢ito v primeru tezkih padcev.

Polisport se posveca inovacijam, kakovosti in varnosti, ker je vasa strast kolesarjenje, nasa strast pa brezhibnost.

Ta dokument vsebuje informacije in navodila za sestavo ter pritrditev sedeza!

TEHNICNE LASTNOSTI
- Sedeza ni mogoce pritrditi na kolesa z zadnjim vzmetenjem.
- Otroski sedez lahko montirate na kolo s kolesi premera 26"in 28"
- Lahko ga pritrdite le na kolesa z nosilcem za prevoz tovora - prtljaznikom, najmanjse nosilnosti 25 kg po standardu EN14872.
- SedeZa ni mogoce pritrditi na kolesa z montiranim prtljaznikok 3irsim od 175 mm,
- Ce ste v dvomu glede montaze otroskega sedeza na svoje kolo, se obrite na dobavitelja koles za dodatne informacije.

KOOLAH
U pokusaju da se izade u susret i udovolji potrebama biciklista, dali smo sebi za zadatak da stvorimo inovativan pribor za bicikliste, pruzajuci im osecaj

dokolice i razlicitosti, dok ujedno omogucujemo i najvec¢i moguci bezbednosni ucinak.

Kako ne biste preterano brinuli dok svoje dete vozite biciklom na razna mesta, razvili smo savréeno resenje za voznju vaseg deteta na vecini vrsta bicikla. Nasa
ergonomska sedista za decu nacinjena su imajuci prvenstveno u vidu bezbednost i udobnost, nudeci mogucnosti kao $to su podesivi bezbednosni pojasevi
koje dete ne moze da otkopca, zastita nogu, obloZeni bezbednosni pojasevi za meku zastitu ramena i potpuna zastita u sluaju tekih padova.

Kod Polisporta, nase poslovanje su inovacija, kvalitet i bezbednost, posto je biciklizam vasa strast, a savrienstvo nasa strast.

Ovaj dokument sadrzi smernice za bezbedno sastavljanje vaseg decjeg sedista.

TEHNICKE KARAKTERISTIKE
- Sediste nije moguce montirati na bicikle sa zadnjim amortizerom.
- Ovo degje sediste se moZe postaviti na bicikle koji imaju tockove precnika od 26"i 28"
- Degje sediste se moze montirati samo na bicikle kod kojih je prtljaznik kapaciteta 25 kg, u skladu sa EN14872 standardom.
- Sediste nije moguce montirati na bicikle sa prtljaznikom $irim od 175 mm.
- Ukoliko sumnjate u moguénost postavljanja de¢jeg sedista na vas bicikl, radi buducih informacija kontaktirajte vaseg snabdevaca.

8 vw polisport.com



KOOLAH

For att tillmotesga och uppfylla cyklisternas behov har vi gjort det till var uppgift att ta fram innovativa cykeltillbehér, som skapar noje och omvéxling,
samtidigt som de ges ett sa sakert utférande som majligt.

For att du skall kunna kénna dig lugn nér du tar med ditt barn pé cykeltur har vi tagit fram den perfekta I6sningen for att du skall kunna skjutsa ditt barn pa
de flesta typer av cyklar. Alla vara ergonomiska barnsitsar &r tillverkade med sakerhet och bekvamlighet som framsta mal. De har egenskaper som justerbara
sakerhetsselar som barnet inte kan knappa upp, fotskydd, vadderade sékerhetsbélten som ger mjukare skydd for axlarna och fullt skydd i handelse av tunga
fall.

Hos Polisport arbetar vi med innovation, kvalitet och sakerhet eftersom din passion ar cykling och vér passion ar perfektion.

Informationen nedan innehaller instruktioner avseende montering av sitsen for bésta sakerhet.

TEKNISKA SPECIFIKATIONER
- Montera inte barnsitsen pa cyklar med bakhjulsfjadring
- Barnsisten kan monteras pé cyklar med 26" och 28" cyklar.
- Barnsitsen kan endast monteras pa cyklar med pakethéllare med en kapacitet pé 25 kg enligt normen EN14872.
- Sitsen skall ef monteras pa cyklar med en pakethallare bredare an 175 mm.
- Om du hyser nagra tvivel om monteringen av barnsitsen pa din cykel, kontakta din cykelleverantér for vidare information.

KOOLAH

Bisiklet toplulugunun ihtiyaglarini tahmin etmeye ve bunlara cevap vermeye calisirken, hem eglence hem de farklilik yaratacak ama bunun yani sira mimkan
olan en gtivenli performansi saglayacak sekilde bisikletler icin yenilikgi aksesuarlar yaratmayi gorev edindigimizi ilan ettik.

Bisiklet gezintilerinizde cocugunuzu yaniniza aldiginizda iginizin rahat olmasi igin, cogu bisiklet tiirinde ¢ocugunuzu tastyabilmenizi saglayacak kusursuz
¢ozUmu gelistirdik. Ergonomik ¢ocuk koltuklarimiz temel hedeflerimiz glvenlik ve konfor olarak tasarlandi, cocugun acamayacadi ayarlanabilir emniyet
kemeri, ayak koruma, daha yumusak omuz koruma icin dolgulu emniyet kemeri ve ciddi diisme olaylarinda tam koruma gibi 6zellikler sunulmaktadir.
Polisport'ta bizim isimiz yenilik, kalite ve gtivenliktir; bisiklet stirmek nasil sizin tutkunuzsa, mukemmellik de bizim tutkumuzdur.

Bu dokiiman, koltugun giivenli bir sekilde takilmasi icin gerekli bilgi ve talimatlari icermektedir

TEKNIK OZELLIKLER
- Koltuk, arka amortisorii olan bisikletlere monte edilemez.
- Bebek koltugu, tekerlek capi 26" ve 28" olan bisikletlere monte edilebilir.
- Bebek koltugu sadece EN14872 standardina uygun 25 kg kapasiteli bir ytk tastyicisina sahip bisikletlere monte edilebilir.
- 175 mmden daha genis bagaj tasiyicisi olan bisikletlere monte edilemez.
- Bebek koltugunun bisikletinize monte edilmesi ile ilgili olarak herhangi bir stipheniz oldugu takdirde, daha fazla bilgi almak igin lttfen bisiklet saticiniza
basvurun.

KOOLAH

Hamaratouncs 3asflanerigb Bragat HOTDG6M CNOXKMBAYIB Ta 3aJ0BOMTbHUTA IX, MV BBA>KaEMO CBOEID MOSTOBHOIO METOI0 CTBOPEHHA \HHOBBL\H;\HVIX aKkcecyapis
Ana senocvnenis. Came TOoMmy Hawi CHeL\\aﬂBOBaH\ akcecyapu 3D06J1F|Tb Baw Bi[:U'IOUV\HOK FIOBHOLUYHHVIM Ta 6e3neyHmm

LLlob BM He XBUMIOBANMCA Yepes CBOK AUTUHY Mif YaC BENOCWMNEAHMX MPOryNAHOK, MU CTBOPUNM PillieHHA, AKe iAeanbHO MIAXOAWTb ANA GinbLiocTi
Beslocunenis. Halli eproHoMiUHI AUTAUT BENO Kpicna po3pobieHO TaknuM YMHOM, OB 3abe3neunTii MakcmMasnbHWi piserb Gesneku Ta KomdopTy. Ix ocHalyeHo
nackamv 6e3neku 3 MOXIMBICTIO perynioBaHHA 3 M'AKVMM NNeYOBUMMN HaKMagkamu Ta 3axmcTom Bi BUNaAKOBOro BIAKPWMBAHHA, @ TAKOXK ONOpamMKn ANa Hir Ta
[I0AaTKOBVMI 3aC0obamu Be3nekm, o 3abe3neuyioTb MOBHMI 3aXMCT Bif BaXKKOTO MagiHHs.

[Mpu po3pobui npoayKLUii B kKomnaHii Polisport My kepyemoca TpboMa NPUHLMNaMK: iIHHOBALNHMIA NiAXia, AKICTb Ta 6e3neka. By 3axonnioeTect Benocuneaamu,
a /LA HacC roNoBHe — NparHeHHaA 40 AOCKOHaNoCTi.

Lieii LOKYMEHT MiCTUTb iHpOpMaLilo Ta IHCTPYKUIT LLIOAO MOHTaXy Ta LiNIKOBUTO 6€3MeYHOro BUKOPUCTaHHA AUTAYOrO BENOCMNEAHOTO CUAIHHSA.

TEXHIYHI XAPAKTEPUCTUKKN
- CWgiHHA He MOXHa BCTAHOBIIOBATY Ha BENOCUMNEAW, WO MaIoTb 3aAHi aMOPTU3aToOPU.
- [InTAYe BENOKPICNO BCTAaHOBMIOETLCA Ha BEIOCUMNEAN 3 KONleCamu fiameTpom 26 Ta 28 Aloimis.
- [luTAde Kpicno mosxe 6y BCTaHOBNEHO Ha Benocunesax i3 6araxH1KoM BaHTaxoNIAMOMHICTIO 25 Kr BIANOBIAHO A0 cTaHaapTy EN14872
- CWAiHHA He MOXHa BCTaHOB/IOBATY Ha Benocunean, 6araxHyk AKMX WUPLWMA 3a 175 M.
- 3 NUTaHHAMK CTOCOBHO BCTAHOB/EHHA BENOKPICNa Ha Ball Benocunes Ta 3a AOAATKOBOK iHdOpMaLjielo 3sepTaiitecs, Gyab nacka, 4O KOMMaHIi-
nocTavanbHyka senocunesa

KOOLAH
SRIEE BRI HE BITFHRMINEE, HNELRECHESEMT: ITEFRBTEM:, LBREAZZSRTENKREE, BRREATHE
RIEFITRE,

ATIHEERMBTER TROMTE LENBF—EERBEZR, BIFRT —MAUSATASHRELNTERRAR. ZNFGAMEIREZN)LEERN
REMEFENE—BIT, TREESIE: LETEECHANTEREST, P, FRANBRRZ ST ERENNLERF.
# Polisport, I, AEMRLIEAMIREAE, BABEREMERTE, Mk, WRENVAERE.

FXEEARRLRE) | EERHETRIA,

BARRHE

- R R RRE A E RN o

- ) LB IARECAE 26 0 28 (FIEREN 26 71 28 &Y) ATF L

- 258 EN14872 Hfe bb) L B R BERRAE TR H E A 25kg MHIAZE £

- ERTRERRETFREERY 175mm MMEZE £,

- MREEEBTE ERELERNEEARER, ERACHNETERENREESER

www.polisport.com 9



B2

B1

VAN

® o

A. Main seat B. Seatbelt B1. Safety buckle B2. Seatbelt adjuster C. Safety
strap fixed to bike's frame D. Footrest strap E. Footrest F. Centre of gravity G.
Upholstery H. Installation kit I. Base for fixing onto the luggage carrier J1.
Metal fastening plate 1- open forwards J2. Metal fastening plate 2 - open
towards rear K. M5x45 Bolt L. Nut M5 M. M8x25 Bolt N. M8 Nut O. Pins for
fixing to luggage carrier P. Fixing holes for the luggage carrier pins

FR.

A.Siége principal B. Ceinture de sécurité B1. Boucle de sécurité B2. Ajusteur
de ceinture C. Ceinture de sécurité au cadre de la bicyclette D. Sangle de
soutien pour les pieds E. Repose-pieds F. Centre de gravité G. Garnissage H.
Kit de montage 1. Base de fixation au porte-bagages J1. Plague de fixation
métallique 1- serrage avant J2. Plaque de fixation métallique 2 - serrage
arriere K. Vis M5x45 L. Ecrou M5 M. Vis M8x25 N. Ecrou M8 O. Vis de fixation
du porte-bagages P. Trous de fixation pour vis du porte-bagages

PT.

A. Assento principal B. Cinto de seguranca B1. Fivela de seguranca
B2. Ajustador de cinto C. Cinto de seguranca ao quadro de bicicleta D.
Abracadeira do pousa pé E. Pousa pé F. Centro de gravidade G. Estofo H.
kit de Montagem I. Base de Fixacao ao Porta Bagagem J1. Chapa de fixagao
metélica 1- aperto a frente J2. Chapa de fixacdo metdlica 2 - aperto atras
K. M5x45 Parafuso L. Fémea M5 M. M8x25 Parafuso N. M8 Fémea O. Pinos
de fixacdo do porta bagagens P. Buracos de fixagao para pinos do porta
bagagem

10 www.polisport.com

DE.
A. Sitzschale B. Sitzgurt B1. Sicherheitsschnalle B2. Gurtversteller C. Am
Fahrradrahmen befestigter Sicherheitsriemen E. FuRstutze F. Schwerpunkt
G. Polsterung H. Installationsset I. Halteblock zum Befestigen am
Gepacktrager J1. Metallbefestigungsplatte 1- 6ffnen nach vorne J2.
Metallbefestigungsplatte 2 - 6ffnen nach hinten K. M5x45-Bolzen L.
M5-Mutter M. M8x25-Bolzen N. M8-Mutter O. Stifte zum Befestigen am
Gepacktrager P. Befestigungslocher fir Gepacktragerstifte
AR.
Col¥l ol Lol B2, glal el B1L sl 13> Bl Y1 o SUAL
Jal 5, Foslilys Eeasill ) ol Dn il Yy contill plol 21>
o) A1 Jold ! e cotal) aels | oS 3l deprma . HislesGe
G i) 2 = tal) e ) 2L il - el s )
olee M8 O. 355> MBX25 N. (2, M5 M. &3> M5x45 L. 2K
Lol Al el e ol Oui8 Pudahd) Al el e o)
BG.
A. [letcko ctonye B. MpepanaseH Konax B1. MpepnasHa 3akonuanka B2.
Perynatop Ha npeanasHua konaH C. MpeanaseH pembK, GrKcupaly Kbm
pamkaTa Ha Benocunepa D. Kanwwka Ha noctaskata 3a Kpaka E. MNocTaska 3a
Kpaka F. LieHTbp Ha TexecTTa G. Tanuuepua H. Habop oT nHcTpymeH I
OcHoBa 3a uKcrpaHe BbpXy GaraxHuka J1. MeTanHa 3akpensalia nnaHka
1- rnepa Hanpep J2. MeTanHa 3akpensalla nnaxka 2 - rmepa Hasaa K. bont
M5x45 L. Tarika M5 M. Bont M8x25 N. larika M8 O. LLndT 3a prkcmpaHe
KbM baraxHuika P. Oukcypally oTBopU 3a WndToseTe Ha baraxHnKa
cs.
A. Hlavni sedadlo B. Bezpe¢nostni pas B1. Bezpecnostni pfezka B2.
Sefizova¢ bezpecnostniho pasu C. Bezpecnostni popruh pfipevnény
k rdmu D. Popruh stupacky E. Stupacka F. Téziété instalace G. Calounéni
H. Instala¢nf sada I. Zakladna pro upevnéni do zavazadlového nosice J1.
Kovovd upeviiovaci deska 1- oteviené podpéry J2. Kovova upevriovaci
deska 2 - oteviené podpéry, zadni K. Sroub M5x45 L. Matice M5 M.
Sroub M8x25 N. Matice M8 0. Cepy pro upevnéni na zavazadlovy nosi¢ P.
Upeviiovaci otvory pro ¢epy na zavazadlovy nosi¢
DA.
A.Hovedsade B. Sikkerhedsbalte B1. Sikkerhedsspaende B2. Justering
af sikkerhedsselen C. Sikkerhedsstrop der er fastgjort til cyklens stel D.
Fodstgtte rem E. Fodstette F. Tyngdepunkt G. Polstring H. Installationssaet
1. Base til bagagebaereren fiksering J1. Fastgerelsesplade af metal 1- abn
fremad J2. Fastgerelsesplade af metal 2 - 3bn mod bagsiden K. M5x45
bolt L. Matrik M5 M. M8x25 bolt N. M8 Matrik O. Stifter til fastgerelse pa
bagagebaereren P. Fastgarelseshuller til bagagebaerer stifterne
EL
A. Baoiko kabiopa B. Zovn B1. Koppiov aopaheiog B2. Pubuiotrc {wvng
C. lpavtag aopaheiag MPOoaPHOOHEVOG OTOV OKEAETO Tou modnhdtou D.
Ipdvtac vnomddiou E. Yromddio F. Kévtpo Bdpoug G. Emévuon H. Zet
ouvappoAoynong . Baon mpog eykatdotaon otn oxapa amookeuwy J1.
MeTaMIKA) TAGKA aoaNong 1- avoiyel TTPog Ta epumpog J2. MeTalikn
TAAKA a0paNong 2 - avolyel pog ta miow K. M5x45 Mmoulévt L. Magiuddt
M5 M. M8X25 Mmouhdvt N. M8 Magipadt 0. ACOVES TPOC TPOGApKoyr oTn
OXapa amookeuwv P. ECOXEC TTPOCPHOYNG YIa TOUG GEOVES TNG OXapag
QTOOKEVWV
ES.
A. Asiento principal B. Cinturén de seguridad B1. Hebilla de seguridad
B2. Ajustador del cinturén C. Correa de seguridad fija a la estructura de la
bicicleta D. Correa del reposapiés E. Reposapiés F. Centro de gravedad G.
Tapicerfa H. Kit de instalacién 1. Base de fijacion al portaequipajes J1. Placa
de fijacion metdlica 1- abierto hacia delante J2. Placa de fijacion metélica
2 - abierto hacia atras K. Tornillo M5x45 L.Tuerca M5 M. Tornillo M8x25 N.
Tuerca M8 O. Pasador de fijacién al portaequipajes P. Orificios de fijacion
para los pasadores del portaequipajes
ET
A. Peamine iste B. Turvavod B1. Ohutuspannal B2. Turvavdd reguleerija
C. Ratta raamile kinnitatud ohutusrihm D. Jalatoe rihm E. Jalatugi F.
Raskuskese G. Polsterdus H. Paigalduskomplekt 1. Alus pagasikanduri
kinnitamiseks J1. Metallist kinnitusplaat 1- avada ette J2 pool J2. Metallist
kinnitusplaat 2 - avada taha K pool K. M5x45 polt L. Mutter M5 M. M8x25
polt N. M8 mutter O. Noelad pagasikanduri P. kinnitamiseks. Pagasikanduri
kinnitusnoelte kinnitusavad
Fl.
A. Istuinosa B. Turvavyé B1. Kiinnityssolki B2. Turvavyon sdadin C.
Turvahihna kiinnitettyna pyorén runkoon D. Jalkatuen hihna E. Jalkatuki F.
Painopiste G.Verhous H.Asennussarja I. Pohja tavaratelineen kiinnittamista
varten J1. metallinen kiinnityslevy 1- aukeaa eteenpdin J2.metallinen
kiinnityslevy 2 - aukeaa taaksepdin K. M5x45 pultti L. mutteri M5 M.
M8x25 pultti N. M8 mutteri O. Nastat tavaratelineen kiinnitysta varten P.
Kiinnitysreidt tavaratelineen nastoja varten



HE.
ninwa MANC. awm NN pion. B2, jnva nmax Bl awm nann. B. Npy awnA.
ToN. G. Tann ™. F. 7n-pwn E. 20-pwn N, D. omorn nT7w Xoon v
AN NN9 - 1NdNNN ATYA NNz, J1. pon? xwmn 7y nEnn ooa. L. mpnn nd>w. H.
Ms.N. nix Max25. M. N0 Ms.L.DIKM5x45.K ND.INK? NN9 2 ~ Ndnn nyn nni7. J2.
WoNY7 XWINN 7w NNLIKN 297 DAIN. P. Ponn xwIN 10N? D9 0.
HR.
A. Glavno sjedalo B. Sigurnosni pojas B1. Sigurnosna kopca B2. Podesivac
sigurnosnog pojasa C. Sigurnosni remen pri¢vrs¢en na okvir bicikla D.
Remen postolja za stopala E. Postolje za stopala F. SrediSte gravitacije
G. Presvlaka H. Komplet za montazu I. Glavno postolje za montazu na
nosa¢ tereta J1. Pri¢vrsna metalna plocica 1- otvorena prema naprijed
J2. Pri¢vrsna metalna plocica 2 - otvorena prema natrag K. Vijak M5x45 L.
Matica M5 M. Vijak M8x25 N. Matica M8 O. Pri¢vrsni umeci za nosac tereta
P. Rupice za pri¢vrsne umetke za nosac tereta
HU.
A. Ulés B. Biztonsagi 6v B1. A biztonsagi év csatja B2. A biztonsagi év
allitdja C. Kerékpérvézhoz régzitendd biztonségi heveder D. Lébtartd
heveder E. Labtartd F. Sulypont G. Uléskarpit H. Felszereld készlet I. Keret a
csomagtartora valo rogzitéshez J1. 1-es fém illesztélemez — elérefelé nyitott
J2. 2-es fém illesztSlemez — hatrafelé nyitott K. M5x45 csavar L. M5 anya M.
M8x25 csavar N. M8 anya O. Csapok a csomagtartéra vald rogzitéshez P.
Rogzitényilasok a csomagtartora valo rogzitéshez hasznalt csapokhoz
T
A. Seduta B. Cintura di sicurezza B1. Chiusura di sicurezza B2. Regolacintura
C. Cinghia di sicurezza fissata al telaio della bicicletta D. Cinghia del
poggiapiede E. Poggiapiede F. Centro di gravita G. Rivestimento H. Kit di
installazione 1. Base per il fissaggio al portapacchi J1. Piastra di fissaggio
metallica 1- aperture frontale J2. Piastra di fissaggio metallica 2 - apertura
posteriore K. M5x45 Vite L. Dado M5 M. M8x25 Vite N. M8 Dado O. Gancio
per il fissaggio al portapacchi P. Fori di fissaggio per i ganci del portapacchi
JP.
A Y—hAEB. ¥—rNILE Bl £=7F7 1\ 7))L B2, ¥— kX)L
RBEFI v 25— C. 7L—LBOFIREL—TT74AZv 7 D. 7V h
LANRBOER)ZANZ YT E. 7Y LAMNRBOER) F. EMIE G A
AN— H BSFFy b L FrUFPEEY— M= J1. XFZILTL—h
1-70AY8J2. XF)LT7L—k 2 - /Xy T K RIL b (M5x45) L. Fv
~(M5) M. 7RJL b (M8x25) N. v h(M8) O. ¥+ U FEEEY P. ¥+
FEEEYR—IL
LT
A. Pagrindiné sedyné B. Saugos dirzas B1. Saugos sagtis B2. Saugos dirzo
requliatorius C. Saugos dirzelis, pritvirtintas prie dviracio rémo D. Pédos atramos
dirzelis E. Pédos atrama F. Masés centras G. Apmusalas H. Montavimo rinkinys I.
Tvirtinimo prie bagazinés pagrindas J1. Metaliné tvirtinimo plokstelé 1- atver¢iama
| priekj J2. Metaline tvirtinimo plokstelé 2 - uzver¢iama j gala K. M5 x 45 varztas L.
M5 verZlé M. M8 x 25 varztas N. M8 verzlé O. Tvirtinimo prie bagazinés kais¢iai P.
Tvirtinimo skylés bagazines kais¢iams
LV
A. Galvenais sédeklis B. Drosibas josta B1. Drogibas spradze B2. Drosibas
jostas regulétajs C. Drosibas siksna japiestiprina pie velosipéda ramja D.
Kaju balsta siksna E. K&ju balsts F. Smaguma centrs G. Polster&jumi H.
Instalacijas komplekts I. Baze nostiprinasanai uz bagaznieka J1. Metala
stiprinajuma plaksne 1- vérstu uz priek$pusi J2. Metala stiprinajuma plaksne
2 - vérstu uz aizmuguri K. M5x45 skrive L. Uzgrieznis M5 M. M8x25 skrave
N. M8 uzgrieznis O. Tapas piestiprinasanai pie bagaznieka P. Bagaznieka
tapu stiprinajuma caurumi
NL
A. Hoofdzitje B. Veiligheidsgordel B1. Veiligheidsgesp B2. Veiligheidsgordel
regelaar C. Veiligheidsriem fietskader D. Voetsteun riem E. Voetsteun
F. Zwaartekrachtpunt G. Bekleding H. Installatie uitrusting I. Montage
platform voor bagagedrager J1. Metalen montageplaat 1- opent naar
voren J2. Metalen montageplaat 2 - opent naar achteren K. Bout M5x45 L.
Moer M5 M. Bout M8x25 N. Moer M8 O. Montageschroeven bagagedrager
P. Bevestigingsgaten voor schroeven bagagedrager
NO.
A. Hovedsete B. Setebelte B1. Sikkerhetsspenne B2. Justeringsmekanisme
for setebelte C. Sikkerhetsstropp festet til sykkelrammen D. Fotstatte-
stropp E. Fotstette F. Tyngdepunkt G. Foring H. Installasjonssett I. Base
for & feste pd bagasjebrettet J1. Festeplate i metall 1- &pnes forover J2.
Festeplate i metall 2 - dpnes bakover K. M5x45 bolt L. Mutter M5 M. M8x25
bolt N. M8 mutter O. Festepinner for & feste pa bagasjebrett P. Festehull for
baggasjebrettets festepinner
PL.
A. Gtéwna siodetko B. Pas bezpieczenstwa B1. Klamra bezpieczerstwa
B2. Regulacja paséw C. Pasek zabezpieczajacy przymocowany do ramy
roweru D. Pasek podndzka E. Podndzek F. srodek ciezkosci G. Tapicerka,
wyscidtka H. Zestaw montazowy I. Podstawa do mocowania na bagaznik
J1. Metalowa ptytka mocujaca 1- otwierana do przodu J2. Metalowa ptytka

mocujaca 2 - otwierana do tytu K. M5X45 sruba L. Nakretka M5 M. M8x25
Sruba M8 N. Nakretka O. Kotki do mocowania do bagaznika P. Otwory do
mocowania kotkéw do bagaznika

RO.

A. Scaunul principal B. Centura de sigurantd B1. Catarama centurii de
sigurantd B2. Dispozitiv reglare centura de siguranta C. Chinga de siguranta
montata pe cadrul bicicletei D. Curelusa pentru suportul piciorului E. Suport
pentru picior F. Centru de gravitate G. Tapiterie H. Kit instalare 1. Suport de
fixare pe portbagaj J1. Placa de fixare din metal 1- prindere anterioard J2.
Placa de fixare din metal 2 - prindere posterioara K. Surub M5x45 L. Piulita
M5 M. Surub M8x25 N. Piulita M8 O. Stifturi pentru fixarea de portbagaj P.
Gauri de fixare a stifturilor portbagajului

RU.

A. OcHoBHaA YacTb cuaeHba B. Pemerb Ge3onacHocTn B1. 3amok pemHs
B2. Perynatop pemHsa C. PemeHb 6€30MacHOCTY, MPUCTETMBAIOWMIACA K
senocunenHoi pame D. Pemewok ana Hor E. Moactaska ana Hor F. LieHtp
TAxecTn G. Obmska H. KomnnekT ana moHTtaxa l. Onopa ana kpennexus
Ha GaraxkHuke J1. MeTannnuyeckan KpenexHaa nnactuHa 1- nepeaHas J2.
MeTannuueckas kpenexHas nnactvHa 2 - 3aaHaAa K. bont M5x45 L. laiika
M5 M. bont M8x25 N. laiika M8 O. LTbipn Ans dprikcaumm Ha baraxHuke P.
OtBepcTia Ana GUKcaLmm WTbipei GaraxH1Ka

SK.

A. Hlavna sedacka B. Bezpecnostny pas B1. Bezpec¢nostnd spona B2.
Nastavovac bezpecnostného pasu C. Bezpecnostny popruh upevneny k
ramu bicykla D. Popruh podnozky E. Podnozka F. Tazisko G. Caltinenie H.
Montazna suprava l. Montdzny podstavec na nosi¢ J1. Kovovy upeviiovaci
plech 1- otvorenie vpredu J2. Kovovy upeviiovaci plech 2 - otvorenie
smerom dozadu K. Skrutka M5x45 L. Matica M5 M. Skrutka M8x25 N.
Matica M8 0. Koliky na uchytenie k nosi¢u P. Otvory pre uchytenie kolikov
nosica

SL.

A. Glavni sedez B. Varnostni pas B1. Varnostna zaponka B2. Regulator za
varnostni pas C. Varnostni jermen, pritrjen na okvir kolesa D. Pascek na
naslonu za noge E. Naslon za noge F. Tezis¢e G. Oblazinjenje H. Montazni
komplet I. Podstavek za pritrditev na prtljaznik J1. Kovinska pritrdilna
plocica 1- privijanje naprej J2. Kovinska pritrdilna ploscica 2 - privijanje
nazaj K. Vijak M5 x 45 L. Matica M5 M. Vijak M8 x 25 N. Matica M8 O. Zatici
za pritrditev na prtljaznik P. Luknje za pritrditev zaticev prtljaznika

SR.

A. Glavno sediste B. Sigurnosni pojas B1. Sigurnosna kop¢a B2. Regulator
sigurnosnog pojasa C. Sigurnosni kai$ koji je fiksiran za ram bicikla D. Kai$
oslonca za noge E. Oslonac za noge F. Centar gravitacije G. Presvlaka H.
Komplet za instalaciju I. Osnova za montiranje na prtljaznik J1. Metalna
ploca za pricvrsivanje 1- otvorena prema prednjem kraju J2. Metalna ploca
za pri¢vri¢ivanje 2 - otvorena prema zadnjem kraju K. M5x45 Zavrtanj L.
Navrtka M5 M. M8x25 Zavrtanj N. M8 Navrtka O. Osovinice za pri¢vricivanje
na prtljaznik P. Montazni otvori za osovinice prtljaznika

Su

A. Séte B. Sele B1. Spanne B2. Justering av sele C. Sakerhetsband fast
vid cykelramen D. Fotstédsrem E. Fotstéd F. Tyngdpunkt G. Kladsel H.
Monteringssats I. Bas for montering pa pakethallaren J1. Monteringsplatta
i metall 1 - 6ppen framat J2. Monteringsplatta i metall 2 - 6ppen bakat K.
Bult, typ M5x45 L. M5-mutter M. Bult, typ M8x25 N. M8-mutter O. Pinnar
fér montering pé pakethéllaren P. Monteringshél for pakethéllarens pinnar
TR.

A. Ana koltuk B. Emniyet kemeri B1. Emniyet tokasi B2. Emniyet kemeri
ayarlayicisi C. Emniyet kayisi bisikletin gévdesine sabitlenir D. Ayak dayama
yeri kayisi E. Ayak dayama yeri F. Agirlik merkezi G. Déseme H. Kurulum kiti
1. Bagaj taslyicisi sabitleme althigi J1. Metal baglanti plakasi 1- 6nde agma
J2. Metal baglanti plakasi 2 - arkada agma K. M5x45 Civata L. M5 Somun
M. M8x25 Civata N. M8 Somun O. Bagaj tastyicisi sabitleme pimleri P. Bagaj
tastyici pimleri sabitleme delikleri

UK.

A. Cugitba B. Peminb Ge3nexkn B1. Qikcyiounin 3amok B2. Perynatop
NOBXMHU pemeHis Ge3nekn C. PemiHb dikcauii go niacigensHoi Tpybu
senocvnena D. Qikcatop onopu ana Hir E. Onopa ana Hir F. LleHtp sarun
G. M'sika obbveka H. MoHTaxHuin komnnekt I OcHosa ana ¢ikcauii Ao
GaraxHuky J1. MeTtanesa nnactnHa KpinneHHa 1- Bigkputta Bnepen J2.
MeTanesa nnactuHa KpinneHHa 2 - BigkputTta Hasag K. bont M5x45 L.
laiika M5 M. bont M8x25 N. larika M8 O. WTndtu KpinneHHa cuaikHa Ao
6araxHuky P. OTBOpY NA KpinneHHA 6ONTiB CUAIHHA baraxHVIKy

ZH.

A. TEf B. 22 Bl. 221 B2. Z&%HATH C. BRTETEFE
MZ2H D. WKRT E WK F. B0 G ER H. ZKEH | BTEE
ETFRNEE J1. KBEER 1 - MAFE J2. £BEER 2 - AEFE
K. M5x45 212 L. M5 28 M. M8x25 ##i¢ N. M8 128 O. {7Z4EE
#H P. ITEREETL

www.polisport.com 11




EN.
Place the baby seat so that it is positioned as shown above.
FR.
Retournez le siege, comme indiqué sur l'illustration.
PT.
Coloque o porta bebé de forma a ficar posicionado con-
forme a figura indica.
DE.
Drehen Sie den Kindersitz um (siehe Abb.).
AR.
Bopmall 5 e WS dnill (A3

BG.
Ob6bpHeTe 06paTHO cepfankaTa KakTo e MOKa3aHO Ha
duryparta.
cs.
Otocte sedacku podle obréazku.
DA.
Vend barnestolen om som vist pa tegningen
EL.
TupioTe avamoda To MOPT-UIMEUTTE, CUUPWVA UE TNV EIKOVA.
ES.
Invierta el portabebés para que quede segun la figura.
ET
Keerake turvatool imber nii, nagu on naidatud juuresoleval
joonisel.
Fl.
Kaanna istuin ympari kuvan osoittamalla tavalla.
HE.

NINM IXINND AYINN DX 1290
HR.
Okrenite sjedalicu kako je prikazano slikom.
HU.
Forditsa a gyermekdilést a rajznak megfelel6 éllasba.
T
Rovesciare il seggiolino come mostra la foto.

JP
HoLSi, ¥—hEeEEULET,
Ir

Apverskite kédute taip, kaip parodyta paveikslélyje.
LV,
Pagrieziet sédekliti, ka paradits attéla.

12 www.polisport.com

NL

Draai het stoeltje om zoals op de tekening wordt getoond.
NO.

Vend setet som vist pa bildet.

PL.

Obroci¢ fotelik tak, jak pokazano na rysunku.

RO.

Résturnati scaunelul dupa cum este ilustrat in imagine.
RU.

lMepeBepHUTe AETCKOE CAEHbE, KaK MOKa3aHO Ha PUCYHKe.
SK.

Otocte sedacku tak, ako je zndzornené na obrazku.

SL.

Sedez obrnite v polozaj kot ga prikazuje slika.

SR.

Prevrnite sediste kao $to je na slici prikazano.

L))

Vénd pa sitsen sasom bilden visar.

TR.

Koltugu resimde gosterildigi gibi ters cevirin.

UK.

MepeBepHIiTb CUAIHHA TaK AK Lie 306paxeHO Ha MaIoHKY.

ZH.
BUNEIFTT 73 TR R ERE k



EN.
Remove the baggage carrier fixing base (1) from the bag by
cutting the strap that fixes it to the seat.
Remove the components from the bag.
FR.
Retirez la Base de fixation au porte-bagages (I) du sac, en
coupant le collier de serrage qui la fixe au siége. Retirez tous
les composants du sac.
PT.
Retire a Base de Fixacdo ao Porta Bagagem (I) do saco. cor-
tando a abracadeira que a fixa a cadeira.
Retire todos os compormentes do saco.
DE.
Entnehmen Sie den Gepécktrager-Halteblock (l)aus dem
Beutel, indem Sie die Riemen aufschneiden, mit denen er
am Sitz befestigt ist.
Entnehmen Sie die Teile aus dem Beutel.
AR.
8y T ) G (i bl A Jold] e il 3usG ¢ 3
S ey U1 1A
el o s AN UL 3
BG.
OTcTpaHeTe OCHOBaTa 3a 3akpenBaHe Kbm GaraxHuka (1)
OT M/IMKa KaTo CpeXkeTe BPb3KaTa, KOATO ro NPUKpens KbM
cTonyerto.
M3BapeTe CbCTaBHMTE YaCTW, KOMMNOHEHTUTE OT MAKKa.
cs.
Sejméte upevnovaci zakladnu zavazadlového nosice (1), a
to odfiznutim popruhu, ktery ji drzi k sedadlu.
Vyjméte komponenty z tasky.
DA.
Fjern bagagebezerer fastgerelsesbasen (I) fra posen ved at
skaere remmen som fastlaegger det til seedet. Fjern kompo-
nenterne fra posen.
EL.
Agpaipéote TN Pdon TPOG TPooapupoyry OTn  oxdapd
amookeuwv (1) amé Tn cakovAa kéBovTag Tov pdvTa mou
TN OTEPEWVEL OTO KABlopa.
APalpéoTe Ta E£APTANATA ATTO TN GAKOUAQ.
ES.
Retire la base de fijacion al portaequipajes (I) de la bolsa

cortando la correa que la fija al asiento.

Saque todos los componentes de la bolsa.

ET

Eemaldage pagasikanduri kinnitusalus (I) kotilt, l6igates
labi selle istmele kinnitamise rihma.

Eemaldage komponendid kotist.

Fl.

Poista tavaratelineen kiinnittava pohja (I) pussista leikkaa-
malla hihna, joka sitoo sen istuimeen.

Poista kaikki osat pussista.

HE.
v pwnn (1) |yonn Xy mpnnY 0'0an DX 10N
awIn? InIx nyapgny avixn Imn T
AYUNN DADIN DR KXIN

HR.

Izvadite postolje za montazu na nosac tereta (I) iz vrecice
rezanjem trake koja ju pri¢vrs¢uje za sjedalo.

Izvadite dijelove iz vrecice.

HU.

Vegye ki a csomagtartéra valé régzitéshez hasznalt keretet
(I) a csomagolasabdl ugy, hogy elészor elvagja a szalagot,
ami az tiléshez rogziti a csomagolast.

Vegye ki a csomagolas tartalmat.

IT

Rimuovere la base di fissaggio del portapacchi (I) dalla bus-
ta tagliando la fascetta che la fissa alla seduta.

Rimuovere i componenti dalla busta.

JP.

ATy 772D, Y= E5FFUTEEY— IR
—A(EWOhHLTLLZEW, EH5/—YZERH T
LTLIEEL,

LT

ISimkite tvirtinimo prie bagaZinés pagrinda (I) i§ maiselio
nukirpdami dirzelj, kuriuo jis pritvirtintas prie sédynés.
1Simkite dalis i$ maiselio.

LV,

Iznemiet bagaznieka stiprinajuma bazi () no maisina,
pargriezot siksnu, kas to piestiprina sédeklim.

Iznemiet detalas no maisina.

www.polisport.com 13




(1]

NL

Maak het montage platform voor bagagedrager (I) los van
het zitje door het riempje door te knippen.

Haal alle onderdelen uit de verpakking.

NO.

Fjern bagasjebrettets festebase (I) fra posen ved & kutte
stroppen som fester den til setet.

Ta ut komponentene fra posen.

PL.

Wyja¢ podstawe do mocowania na bagazniku (I) z worka,
przecinajac pasek mocujacy go do siedzenia.

Wyjac¢ elementy z worka.

RO.

Scoateti din punga suportul de fixare pe portbagaj (I) prin
taierea chingii cu care este prins de scaun.

Scoateti componentele din punga.

RU.

BbiHbTE Onopy Ans KpenneHusa Ha 6araxkHuke (I) M3 nakeTa,
paspesas LWHYP, KOTOPbIN GUKCMPYET ee Ha CUAEHbE.
JlocTaHbTe KOMMOHEHTbI U3 NakeTa.

SK.

Uvolnite montézny podstavec nosica prestrihnutim pasika,
ktorym je tento podstavec upevneny k sedacke.

Z vrecka vyberte jednotlivé sucasti.

SL.

Odstranite podstavek za pritrditev na prtljaznik (1) iz vrecke,
tako da odrezete vrvico, ki ga fiksira na sedez.

Odstranite sestavne dele iz vrecke.

SR.

Uklonite montaznu osnovu prtljaznika (1) iz kese presecan-
jem trake koja je pri¢vrscuje za sediste.

Uklonite delove iz kese.

")

Ta ut monteringsbasen for pakethallaren (I) ur pasen ge-
nom att klippa av det band som haller fast pasen mot satet.
Ta ut komponenterna ur pasen.

TR.

Kendisini koltuga sabitleyen kayisi keserek, bagaj tastyicisi
sabitleme althgini (1) posetten cikartin.

Bilesenleri posetten cikartin.

14 www.polisport.com

UK.

Po3pixTe cTpiuky, AKa O¢iKCye nNakeT 3 OCHOBOW AnA
KpinneHHA cuaiHHA Ao 6araxxHuky (1), i BUTATHITD Ti.
BuTArHiTh BCi getani 3 nakery.

ZH.

PIMTRTERKE () BETERNE T, EEafsd
Hito

MEHREH B,



EN.
Place the fixing base onto the luggage carrier (I). Ensure
that the base is positioned correctly on the luggage carrier.
FR.
Posez la Base de fixation au porte-bagages (1). Assurez-vous
que la base est bien positionnée sur votre porte-bagages.
PT.
Aplique a a Base de Fixacdo ao Porta Bagagem (1) no porta-
bagagem. Para tal posicione a base de forma correcta no
seu porta-bagagens.
DE.
Setzen Sie den Halteblock auf den Gepécktrager (1). Stellen
Sie sicher, dass der Halteblock korrekt auf dem Gepack-
trager positioniert ist.
AR. o

Sasl of oo w81) . G (i bal) ) Jold e conidl 3G o

ol G el e el S 5

BG.
MocTaBeTe OCHOBaTa 3a 3aKpenBaHe BbpXy OaraKHuKa
(). Y6epeTe ce, ue ocHOBaTa e NPaBUIHO NO3ULIMOHMPaHa
BbpXY 6araxxHuka.
cs.
Nasadte upeviovaci zakladnu zavazadlového nosice ().
Ujistéte se, zda je zakladna na zavazadlovém nosici predana
spravné.
DA.
Placer fastgerelsesbasen pa bagagebaereren (1). Serg for, at
basen bliver korrekt placeret pa bagagebazereren.
EL.
TonoBeteiote ™ Bdon mpooappoynig mavw otn oxdpa
amookeuwv (I). Ziyoupeuteite OTL n Bdon €xel TomoBeTnOei
OWwOoTd 0T OXAPA ATTOOKEVWV.
ES.
Coloque la base de fijacion en el portaequipajes (I).
Asegurese de que la base esté colocada correctamente en
el portaequipajes.
ET
Asetage kinnitusalus pagasikandurile (1). Veenduge, et alus
on pagasikandurile korrektselt paigutatud.
Fl.
Aseta kiinnityspohja tavaratelineeseen. (I)Varmista, ettd po-
hja on asetettu kunnolla tavaratelineeseen.

HE.

NI (I). |[yOonn XM %Y Mpnnn 001 NN O'Y

Jyonn Xwn 7y nd70d Dpinn 0'01nY

HR.
Postolje stavite na nosac tereta (1). Uvjerite se da je postolje
ispravno postavljeno na nosac tereta.
HU.
Helyezze a rogzitékeretet () a csomagtartéra. Gy6zédjon
meg arrél, hogy a keret megfeleléen van elhelyezve a cso-
magtarton.
T
Posizionare la base di fissaggio al portapacchi (1). Assicurarsi
che la base sia posizionata correttamente sul portapacchi.
JP.
BEER—ZANZEF v U7 LICRBELET, X—IADF
PUFPDEICELKMBELTWR ZEZRERL T
20,
LT
Uzdékite tvirtinimo pagrinda ant bagazinés (1). [sitikinkite,
kad pagrindas ant bagazinés uzdétas tinkamai.
LV.
Novietojiet stiprindgjuma bazi uz bagaznieka ().
Parliecinieties, vai baze ir pienacigi novietota uz bagaznieka.
NL
Plaats het montage platform op de bagagedrager (1). Con-
troleer dat het platform correct op de bagagedrager werd
geplaatst.
NO.
Plasser festebasen pa bagasjebrettet (1). Sorg for at basen er
posisjonert riktig pa bagasjebrettet.
PL.
Umiesci podstawe mocujgca na bagazniku (I). Upewnij sie,
Ze podstawa jest poprawnie posadowiona na bagazniku.
RO.
Puneti suportul de fixare pe portbagaj (I). Asigurati-va ca
suportul este pozitionat corect pe portbagaj.
RU.
MomecTute onopy Ha 6araxHuk (l). Yoeautech, uto onopa
NpaBWIbHO PacrnonoxeHa Ha 6araxxHuKe.
SK.
Montézny podstavec umiestnite na nosic (I). Uistite sa, ze
podstavec je spravne
polozeny na nosici.
SL.
Pritrdilni podstavek postavite na prtljaznik (I). Prepricajte
se, da je podstavek postavljen pravilno na prtljaznik.
SR.
Postavite montaznu osnovu na prtljaznik (I). Uverite se da je
osnova namestena tacno na prtljaznik.
)]
Placera monteringsbasen pa pakethallaren (I). Sékerstall att
basen &r korrekt placerad pa pakethallaren.
TR.
Sabitleme althgini bagaj tastyicisinin (I) Gzerine yerlestirin.
Althgin bagaj tasiyicisinin Gzerinde dogru bir sekilde
konumlandigindan emin olun.
UK.
MomicTiTb OCHOBY KpIiNNeHHA CWMAIHHA Ha 6araxHuK
Benocunepa (I). MepekoHainTecs, WO OCHOBa PO3MilLEHA
npaBubHO.
ZH.
BEERERETTZER () Lo HBFRZKEERIK
ETFTFEEL.

www.polisport.com 15

m
Q




04

_m

EN.

Position part (J1) Metal fastening plate 1 - open forwards -
underneath the luggage carrier. Fit two M5x45 bolts (K) into
the front part of the luggage carrier fixing base (1), using
whichever holes (1, 2, 3, 4, 5 or 6) offer the best chance of
securely tightening the base to the luggage carrier.

FR.

Placez (J1) Tole de fixation métallique 1 - serrage avant
- sous le porte-bagages. Placez deux Vis M5x45 (K) sur la
partie avant de la Base de fixation au porte-bagages (1), en
utilisant les trous (1, 2, 3, 4, 5 ou 6) qui offrent la meilleure
possibilité de serrage selon la base et le porte-bagages.

PT.

Posicione a (J1) Chapa de fixagdo metdlica 1 - aperto a fr-
ente. debaixo do porta bagagens. Coloque dois M5x45
Parafuso (K) na parte da frente da Base de Fixagao ao Porta
Bagagem (1) de acordo com as melhores possibilidades de
aperto (1,2, 3,4, 5, 6) que existirem entre a sua base e 0 seu
porta-bagagem.

DE.

Positionieren Sie Teil (J1) Metallbefestigungsplatte 1 - &ff-
nen nach vorne - unter dem Gepécktréger. Schieben Sie
zwei M5x45-Bolzen (K) in den vorderen Teil des Halteblocks
fir den Gepacktrager (I). Verwenden Sie dazu diejenigen
der Locher (1, 2, 3, 4, 5 oder 6), mit denen Sie die sicherste
Befestigung des Halteblocks am Gepécktrager erreichen.

AR. Ao L) A o e = W madlll) = G 1 (sl )l e
e el O el il Ledl 5 I M5X45 e
546) 51 (12345 il oo ol plidunclin Ll A Jold|

G bl A Joldl e ol Sue W LT ST oty plas e

BG. :

MocTaBeTe uactta (J1) MeTanHa npuKpensawa nnaHka
1 - rnepa Hanpep, nop 6araxHuKa. 3aBuiiTe GontoBete
M5x45 (K) B npefHaTa yacT Ha OCHOBaTa 3a 3aKpensaHe
KbM GaraxHuka (I), nsnonseanku otsopute (1, 2, 3, 4, 5
WM 6), NPepocTaBAlKW Hai-gobpaTa BbB3MOXHOCT 3a
6e30MacHOCT, NPVKpPenBaikn 0CHOBaTa KbM GaraxHuKa.
cs.

Vodici ¢ast (J1) Kovova upeviovaci deska 1 — oteviené
podpéry pod zavazadlovym nosicem. Upevnéte dva

16 www.polisport.com

Srouby M5x45 (K) do predni ¢asti zavazadlového nosice na
upevnovaci zakladné (I), pomoci otvort (1, 2, 3, 4, 5 nebo
6) ziskate tu nejlepsi Sanci na bezpecné upevnéni zakladny
k zavazadlovému nosici.
DA.
Placér del (J1) metal fastgerelsespladen 1 - abn fremad -
under bagagebaereren. Ved hjzelp af hullerne (1, 2, 3, 4, 5
eller 6), passe 2 M5x45 bolte (K) ind i den forreste del af
fastgerelsesbase af bagagebazereren (I), som tilbyder den
bedste chance for forsvarligt stramme basen til bagage-
baereren.
EL.
TonoBeteiote 10 €fdptnua  (J1) Metalikr  TAGKa
ao@ANoNg 1 - avoiyel TTPOG Ta EUMPOG KATW amd Tn oxdpa
amookeuwv. ToroBeteiote Vo M5X45 pmoulovia (K) oto
UImPOOTIVO Hé€POG TNG BAONG TPOCAPHOYNG OTn oxdpa
amookeuwv (I), XPNOIMOTIOIWVTAG OTIOIECSHTIOTE TPUTIEG
(1, 2, 3, 4, 5 1 6) €ival KATOAMNAOTEPES Yla TNV ACPOAR
mpocapuoyn TNG BAong oTn oXAPa AMOCKEVWV.
ES.
Coloque (J1) la placa de fijacién metalica 1 - abierto hacia
delante debajo del portaequipajes. Ponga dos tornillos
M5x45 (K) en la parte frontal de la base de fijacion al por-
taequipajes (1), utilizando los orificios (1, 2, 3, 4, 5 6 6) que
ofrezcan la mejor posibilidad de apretar firmemente la base
al portaequipajes.
ET
Asetage osa (J1) Metallist kinnitusplaat 1 - ettepoole
avanev - pagasikanduri alla. Asetage kaks M5x45 polti (K)
pagasikanduri kinnitusaluse (I) esiosale, voite kasutada
avasid (1, 2, 3, 4, 5 vdi 6) mis tagavad pagasikanduri kdige
kindlama kinnituse.
Fl.
Osien asento (J1) Metallinen kiinnityslevy 1. - aukeaa eteen-
pain - tavaratelineen alle. Kiinnitd kaksi M5x45 pulttia (K)
tavaratelineen kiinnitysosan etuosaan (I). Kdyta mita tahan-
sa avainta ( 1,2,3,4,5,6), milld saat turvallisimmin kiinnitet-
tya pohjan tavaratelineeseen.
HE.
NNo- 1NN NTAXAN NI (J1) 7720 DX D'w
M5x45'272 3w ODN. |YONN RYIn NNN -~ an'Tp



XYW ¥ npnnn 0'0a YW mTpn 2'7nn 1In(K)
IX (1,2, 3,4,5 01NN DNINY WIN'W N (1), [yonn
¢ NIL2 PIT'NY7 NI 210N 12'0N DX D'790NN6)
Jyonin xwin? 0'oan
HR.
Postavite pri¢vrsnu metalnu plocicu 1 - otvorenu prema
naprijed (J1) ispod nosaca tereta. Stavite dva vijka M5x45
(K) u prednji dio postolja za montazu na nosac tereta (),
koristeci bilo koje od rupica na raspolaganju (1, 2, 3, 4, 5
ili 6) kako biste postolje najbolje pri¢vrstili na nosac tereta.
HU.
Helyezze az 1-es fém (el6refelé nyitott) illesztélemezt a
csomagtarto ala. lllesszen két M5x45 csavart (I) a csomag-
tartora vald rogzitéshez hasznalt keret ellilsé részén talal-
haté nyilasba (1, 2, 3, 4, 5 vagy 6), amely leginkabb lehetévé
teszi a keret biztonsagos rogzitését a csomagtartoéra.
T
Posizionare (J1) la piastra di fissaggio metallica 1 — apertura
frontale - sotto il portapacchi. Inserire due viti M5x45 (K)
nella parte frontale della base di fissaggio del portapacchi
(1), usandoil foro (1, 2, 3,4, 5 0 6) che assicura meglio la base
al portapacchi.
JP.
AXZNTL—k-7AY M () EFvUTDETICN
BIEET, MEx45DMIL K (K)2 D%, R—AMF
YUFPIRT-DIEEZN(, 2, 3,4, 5, 60L\WTh
MDD SED, Fv UFEER—X()DRIFICIFZEH
AHET,
LT
Uzdékite dalj (J1) - 1 metaling tvirtinimo plokstele,
atverciama j priekj, po bagazine. Jsukite du M5 x 45 varztus
(K) j priekine pagrindo tvirtinimo prie bagazinés dalj (I) nau-
dodami bet kurias skyles (1, 2, 3, 4, 5 arba 6), kurios leidzia
geriausiai pritvirtinti pagrinda prie bagazinés.
LV,
Novietojiet dalu (J1) - metala stiprinajuma plaksni 1 - vérstu
uz priekSpusi - zem bagaznieka. leskravéjiet abas M5x45
skraves (K) bagaznieka stiprinajuma bazes (1) priekséja dala,
izmantojot caurumus (1, 2, 3, 4, 5 vai 6), kas ir vislabaka
iespéja bazi drosi pievilkt bagazniekam.
NL
Plaats (J1) de Metalen montageplaat 1 - opent naar voren—
onder de bagagedrager. Schroef twee M4x45 bouten (K) in
het voorste deel van het bagagedrager montage platform
(). Gebruik hiervoor de bevestigingsgaten (1,2,3,4,5 of 6)
die de beste bevestiging bieden aan de bagagedrager.
NO.
Posisjoneringsdel (J1) Festeplate i metall 1 - dpnes forover
- under bagasjebrettet. Monter to M5x45 bolter (K) inn i
den fremre delen av bagasjebrettets festebase (1), og ved a
bruke hvilket som helst hull (1, 2, 3, 4, 5 eller 6) har du den
aller beste muligheten til & kunne stramme basen godt til
bagasjebrettet.
PL.
Umies¢ element (J1) Metalowa ptytka mocujaca 1 - otwi-
erana do przodu - pod bagaznikiem. Zamocuj dwie Sruby
M5X45 (K) w przedniej czesci podstawy mocujacej na
bagaznik (1), za pomocg dowolnego otworu (1, 2, 3,4, 5 lub
6), ktory zapewni najbezpieczniejsze dokrecenia podstawy
do bagaznika.

RO.

Potriviti componenta (J1) placa de fixare din metal 1 - prin-

dere anterioard - sub portbagaj. Montati doud suruburi

M5x45 (K) pe partea anterioara a suportului de fixare pe

portbagaj (1), Utilizadnd oricare dintre gaurile (1, 2, 3, 4, 5 sau

6) care va ofera posibilitatea de a fixa suficient de strans su-

portul de portbagaj.

RU.

Momectute petanb (J1) “MeTannnueckas KpenexHas

nnactuHa 1 - nepenHaa” nop 6arakHUK. YctaHoBWTE fBa

6onTta M5x45 (K) B nepeaHein yacTu onopbl AnA KpenneHus

Ha 6araxkHuke (1), ucnonb3ys Ha Bblibop oTBepcTyA (1, 2, 3,

4, 5 nnu 6), KoTopble obecneunBaloT Nyullyio prKcauumio

ornopbl Ha 6araxHuke.

SK.

Umiestnite kovovy upevnovaci plech 1 na otvorenie vpredu

(suciastka J1) pod nosic. Do prednej ¢asti montazneho pod-

stavca nosica (1) vlozte dve skrutky M5x45 (K). Pouzite prit-

om otvory (1, 2, 3,4, 5 alebo 6), pri ktorych bude bezpe¢né

upevnenie podstavca k nosic¢u najlepsie.

SL.

Postavite (J1) kovinsko pritrdilno plos¢ico 1 - privijanje na-

prej — pod prtljaznik. V sprednji del podstavka za pritrditev

na prtljaznik (1) privijte dva vijaka M5 x 45 (K), tako da up-

orabite luknje, ki zagotavljajo najboljse moznosti za varno

pritrditev (1, 2, 3, 4, 5 ali 6) podstavka na prtljaznik.

SR.

Namestite deo (J1) metalnu plocu za pri¢vricivanje 1 - ot-

vorenu prema prednjem kraju - ispod prtljaznika. Monti-

rajte dva zavrtnja M5x45 (K) u prednji deo montazne os-

nove prtljaznika (1), koristeci bilo koji otvor (1, 2, 3, 4, 5 ili

6) koji nudi najbolju priliku za sigurno zatezanje osnove za

prtljaznik.

1)

Placera del (J1) (Monteringsplatta i metall 1 - ppen framat)

under pakethallaren. Placera tva bultar av typ M5x45 (K) i

monteringsbasens framre del (I). Anvand de hal (1, 2, 3, 4,

5 eller 6) som ger bast mojlighet att fasta basen sakert pa

pakethallaren.

TR.

(J1) Metal baglanti plakasini 1 - 6nde agma - bagaj

tastyicisinin altina yerlestirin. iki adet M5x45 civatayr (K)

bagaj tastyici sabitleme althiginin (I) 6n kismina takin. Hangi

delikler (1, 2, 3, 4, 5 veya 6) althdi bagaj tasiyicisina daha

saglam sekilde sabitleyecekse o delikleri kullanin.

UK.

MomicTiTb (J1) MeTaneBy NnacTuHy KpinneHHs 1 - BigkpuTTA

BrnepeA nia 6araxHvk. 3a gonomoroto aBox 6ontis M5x45

(K) 3akpiniTb nepefHI YacTUHY OCHOBM KpinneHHA Ao

6araxxHuky (I). O6epitb oTBip AnA KpinneHHsa (1, 2, 3, 4, 5

um 6), AKUIA rapaHTyBaTMMe HaiiKpally ¢ikcaLlito OCHOBY A0

6arakHuKy.

ZH.

BEEEER 1 (1), @EFR) RETITFRT

7o BN MEX45 e (K) REETFREERE
() RIRIER; IEREFEEMEEETTRLENEFH

AREAEPEANEEAL (1. 2. 3. 4. 5H6) .

www.polisport.com 17




05

EN.
Next, screw the nuts onto the bolts and tighten them using a PH2 Phillips screwdriver and a no. 8 open-ended spanner.
Repeat the same process for (J2) Metal fastening plate 2 - open towards rear.
FR.
Vissez ensuite les écrous sur les vis et serrez-les a I'aide d'un tournevis PH2 Phillips et d'une clé anglaise n°8. Répétez le
méme processus pour la (J2) Plaque de fixation métallique 2 - serrage arriere.
PT.
De seguida rosque as Fémeas aos parafusos e aperte os mesmos com uma chave de estrela PH2 e chave de bocas nre8.
Repita 0 mesmo processo para a (J2) Chapa de fixagdo metdlica 2 - aperto atras.
DE.
Schrauben Sie als Nachstes die Muttern an die Bolzen und ziehen Sie sie mit einen PH-2-Phillips-Schraubendreher und
einem Maulschlissel Nr. 8 fest. Wiederholen Sie den gleichen Vorgang fiir (J2) Metallbefestigungsplatte 2 - 6ffnen nach
hinten.
AR. )
oM Gl bt s el 8. 3, 2l i Phillips PH2 L)l £ lis Jussaly 2101 e 0l el o
R @iI2)2 - 5 (pand
BG.
Cnep ToBa 3aBuiiTe raiikute Bbpxy 601TOBeTe 1 ' 3aTerHeTe, U3non3earku oteepka,dununc” PH2 1 aBycTpaHeH raeueH
Kntoy 8. MoBTOpeTe CbLIOTO 3a (J2) MeTanHaTa 3akpensalla nnaHka 2 - reaa Hasag,.
cs.
Dale, zaSroubujte matice na Sroubu a utdhnéte je pomoci Sroubovéku PH2 Phillips a otevieného stranového klice ¢. 8.
Zopakujte stejny postup u (12) kovové upeviovaci desky - zadnich otevienych opér.
DA.
Dernaest, skrue meatrikkerne pé boltene, og spaend dem ved hjaelp af en PH2 stjerneskruetraekker og et nummer 8 skru-
enggle. Gentag den samme proces for (J2) Metal fastgerelsepladen 2 - dbn mod bagsiden.
EL.
21N ouvéxela, BdwoTe Ta madIpddia oTa PmouAdvIa Kal OPiETe Ta Xpnotpomolwvtag éva PH2 katoafidt Phillips kat éva
YAAAIKO KAeSi ap. 8. EmavaidBarte tnyv idia Stadikacia yia tnv (J2) MeTaAAKr TAGKa ac@ANoNG 2 avoiyel TTPog Ta Tiow.
ES.
A continuacion, enrosque las tuercas en los tornillos y apriételos con un destornillador Phillips PH2 y una llave fija N.° 8.
Repita el mismo proceso para (J2) placa de fijacion metalica 2 - abierta hacia atras.
ET
Asetage mutrid poltidele ning pingutage need PH2 Phillips tlilipi kruvikeeraja ja nr. 8 mutrivétmega. Korrake protsessi
osaga (J2) Metallist kinnitusplaat 2 - tahapoole avanev.
Fl.
Seuravaksi kiinnita ruuvit pultteihin ja kirista ne kdyttamalla PH2 Philips ruuvimeisselid ja nr. 8 kiintoavainta. Toista sama
taaksepdin kaantyvan metallilevyn (J2) kanssa
HE.
Y 71TN 8.190n0 'Taw Nnoni PH2 09'7'9 2720 Dy DNIX PTI D'AN20 72V DMIND DX 27120, 79 1IN
QINK? NN9 27 MONNN ATAXAN N'NI7 112V '700 INIK

18 www.polisport.com



HR.

Zatim matice stavite na vijke i zategnite ih Phillips PH2 odvijacem i vilicastim klju¢em br. 8. Ponovite isti postupak s
pri¢vrsnom metalnom plo¢icom 2 - otvorenom prema natrag (J2).

HU.

Ezutan csavarja az anyakat a csavarokra és hiizza meg egy PH2 Phillips csavarhizé és egy 8-as méretdi villdskulcs segitsé-
gével. Ismételje meg ezeket a miveleteket a 2-es fém (hatrafelé nyitott) illesztélemez (J2) esetében is.

T

In seguito, avvitare i dadi alle viti e stringerli usando un cacciavite PH2 Phillips e una chiave inglese n. 8. Ripetere lo stesso
procedimento per (J2) la piastra di fissaggio metallica 2 — aperture posteriore.

JP.

RiT, Fv hEMRILKNTHRUAH, PH2 Philips RS /\—&EOX/NF (8Bmm) ZfE> THHET, J2. X
FILTL—K 2 - Ny 7HREKICMDFAFIFTET,

LT

Tada ant varzty uzsukite verzles ir priverzkite jas naudodami atsuktuva PH2 ,Phillips” ir 8 verzliaraktj atviru galu. Tuos
pacius veiksmus pakartokite ir su (J2) — 2 metaline tvirtinimo plokstele, uzverc¢iama j gala.

LV,

Péc tam uzskraveéjiet skravju uzgrieznus un pievelciet tos, izmantojot PH2 Phillips skravgriezi un plakano uzgrieznu
atslégu Nr.6. Atkartojiet to pasu procesu ar (J2) - metala stiprinajuma plaksni 2 - vérstu uz aizmuguri.

NL

Schroef daarna de moeren op de bouten en span aan door middel van een PH2 Phillips schroevendraaier en een nr. 8
steeksleutel. Herhaal dit voor de (J2) Metalen bevestigingsplaat 2 - opent naar achteren.

NO.

Deretter skrur du mutrene pa boltene og strammer dem med en PH2 stjerneskrutrekker og en dpen fastnokkel nr. 8.
Gjenta den samme prosessen for (J2) festeplate i metall 2 - 3pnes bakover.

PL.

Nastepnie przykre¢ nakretki na sruby i dokre¢ je za pomocg Srubokreta Phillips PH2 i klucza francuskiego nr. 8. Powtérz
ten sam proces z (J2) metalowa ptytka mocujaca 2 - otwierang do tytu.

RO.

Apoi, insurubati piulitele pe suruburi si strangeti-le folosind o surubelnita Phillips PH2 (cap cruce) si o cheie fixa cu cap
deschis nr. 8. Repetati aceleasi operatiuni pentru (J2) placa de fixare din metal 2 — prindere posterioara.

RU.

3aTem HaKpyTUTe raiiku Ha 6oNTbl N 3aTAHUTE X C Nomolubto oTBepTKM PH2 Phillips 1 ABYCTOPOHHEro rae4yHoro Knwoua
Ne8. MosTopuTe Npoueaypy Ans aetanu (J2) MeTannunyeckan KpenexHasn nnactuHa 2 - 3aaHas"

SK.

Matice zaskrutkujte do skrutiek a utiahnite ich skrutkovacom PH2 Philips a otvorenym klti¢om 8. Tento postup zopakujte
s kovovym upevrovacim plechom 2 (J2) - otvorenie smerom dozadu.

SL.

Nato privijte matice na vijake in jih zategnite z izvijacem tipa PH2 Phillips in vilicastim klju¢em $t. 8. Ponovite enak posto-
pek za (J2) kovinsko pritrdilno plos¢ico 2 - privijanje nazaj.

SR.

Zatim, zavrnite navrtku na zavrtnjeve i zategnite ih koristedi krstasti odvija¢ PH2 i otvoreni kljuc br. 8. Ponovite isti proces
za (J2) metalnu plocu za pricvricivanje 2 - otvorenu prema zadnjem kraju.

)"

Skruva sedan pa muttrarna pa bultarna och spann at dem med hjélp av en skruvmejsel (Phillips PH2) och en u-nyckel (nr
8). Upprepa samma procedur for (J2) (Monteringsplatta i metall 2 - 5ppen bakat).

TR.

Sonrasinda, somunlari civatalara vidalayin ve PH2 Phillips tornavida ve 8 numara cift agizli somun anahtari kullanarak
somunlari sikin. Ayni islemi (J2) Metal baglanti plakasi 2 — arkada agma - igin tekrarlayin.

UK.

3aTArHitb 601TM raikamu 3a gornomoroio BUKpy Tk PH2 Phillips Ta BOCTOpOHHbOTO raiikoBoro Knioya N2 8. [oBTOpITH Liio
npoueaypy ans (J2) MeTaneBoi NNaCcTUHU KPinaeHHA 2 - BiGKPUTTA Ha3ag,.

ZH.
#E, A PH2 +FIR47IM0 8 SHANRFFEBESITETRIE L, NRAKNTEREEREERR 2 (J2, @F
FE) o

www.polisport.com 19




EN.
Position the seat above the luggage carrier fixing base (1). Place it in a position that allows the luggage carrier fixing pins
(0) to slot into the holes for the luggage carrier’s pins (P).
FR.
Placez le siége sur la Base de fixation au porte-bagages (1). Placez-le de fagon a permettre I'ajustement des Vis de Fixation
du porte-bagages (O) aux Trous de fixation destinés aux vis du porte-bagages (P).
PT.
Posicione a cadeira em cima da Base de Fixacao ao Porta Bagagem (I). Coloque-a numa posicdo que permita o encaixe
dos Pinos de fixagdo do porta bagagens (O) nos Buracos de fixagdo para pinos do porta bagagem (P).
DE.
Positionieren Sie den Sitz Gber dem Gepacktrager-Halteblock (I). Bringen Sie ihn in eine Position,in der Sie die Gepack-
tréger-Befestigungsstifte (O) in die Locher fiir die Befestigungsstifte (P) stecken kdénnen.
AR.
)5 (i Ly (AT Jaldl e Cortill poald s ing (5 da) . G5 (i bl G Joldl e il 3usB o o Sl o
). (G Ll A3 Jold] e cotdl 0p S Jp>
BG.
Mo3nuvoHvpaliTe CTONYeTo Haj, OCHOBATa 3a 3akpenBaHe KbM 6araxHuika (1). [locTaBeTe ro B No3numa, KOATO NO3BONABA
Ha wudtoseTte (O), 3aKpenBalyy barakHKa Aa BNA3aT B OTBOPUTe, NpefjHa3HaueHu 3a WwudToseTe 3a 3aKpensaHe KbM
6araxHuka (P).
cs.
Umistéte sedadlo nad upevnovaci zakladnu (). Umistéte ho do pozice, v niz upeviiovaci koliky zavazadlového nosice (O)
zapadnou do pfislusnych otvora (P).
DA.
Placér seedet over bagagebaereren fastgerelse base (1). Placer den i en position, som muligger bagagebaereren fastgerels-
estifterne (O) til at sidde ind i hullerne til bagagebezerer stifterne (P).
EL.
TonoBeteiote 1o K&BIOPA MEvw amd Tn BAcn MPOCAPHOYNG TNG OxApag amookevwv (1). TomoBeteiote To o€ B€on TéTola
WOTE VA EMITPEEL GTOUG AEOVEG TIPOCAPHOYNG TNG OXAPAG AmOoKeVWV (O) va el0€NBOUV OTIG EGOXEC Yla TOUG AEOVEG TNG
OXAPAG OTTOOKEVWV. (P).
ES.
Coloque la silla sobre la base de fijacién al portaequipajes (I). Coléquela en una posiciéon que permita que los pasadores
de fijacién al portaequipajes (O) encajen en los orificios para los pasadores del portaequipajes (P).
ET
Asetage iste pagasikanduri kinnitusaluse kohale (1). Jélgige, et istme asend vdimaldaks pagasikanduri kinnitusndeladel
(0) paigutuda selleks ette nahtud avadesse (P).
Fl.
S&ada istuimen asento ennen tavaratelineen kiinnittdmista pohjaan. Laita se sellaiseen asentoon, ettd tavaratelineen
kiinnitysnastat (O) mahtuvat tavaratelineen nastojen (P) reikiin.
HE.
D'TYI'AN DINN YINT Yanwn? (0) [yunn Xwin 7Y Y120 11197 MYORNN NNIM INIK NN(). jyunn Xwn 7¢ 112'Nn 01017 7un Awinn DX DN
(P).Jyunn Xwm 7w o'oY

20 www.polisport.com



HR.

Sjedalo postavite iznad postolja za nosac tereta (1). Sjedalo postavite tako da se umeci (O) mogu umetnuti u rupice za
njih (P).

HU.

Helyezze az (ilést a csomagtartéra valé rogzitéshez hasznalt keret (1) felé. Ugy helyezze el, hogy a csomagtartéra valé
régzitéshez hasznalt csapok (O) a rogzitényilasokba (P) illesztheték legyenek.

T

Posizionare la seduta sopra la base di fissaggio del portapacchi (I). Metterla in una posizione che permetta ai ganci di
fissaggio al portapacchi (O) di inserirsi nei fori per i ganci del portapacchi (P).

JP.

FrUTEER—X()LEICY—FEZREBELET, FrvUTFBEAEEYO)NEVYR—IL(PICAD LS ICNESE
ESCIN

LT

Uzdékite sédyne vir$ pagrindo, kad galétumeéte pritvirtinti prie bagazinés (I). Padékite taip, kad galétumeéte tvirtinimo prie
bagazinés kaiscius (O) jkisti j skyles, skirtas bagazinés kaisc¢iams (P).

LV,

Novietojiet sédekliti uz bagaznieka stiprinajuma bazes (I). Novietojiet ta, lai bagaznieka nostiprinadjuma tapas (O) ievieto-
tos tam paredzétajos caurumos (P).

NL

Plaats het zitje bovenop het bagagedrager montage platform (1). Plaats dit zodanig dat de montageschroeven(O) in de
bevestigingsgaten (P) passen die hiervoor werden voorzien.

NO.

Posisjoner setet over bagasjebrettets festebase (I). Plasser det i en stilling som

gjer at bagasjebrettets festepinner (O) kan skyves inn i de tiltenkte

hullene (P).

PL.

Umies¢ siodetko powyzej podstawy mocujacej na bagaznik (I). Ustaw je w pozycji, ktéra umozliwia wprowadzenie kotkéw
mocujacych do bagaznika (O) do otworéw do mocowania kotkéw do bagaznika (P).

RO.

Puneti scaunul peste suportul de fixare pe portbagaj (I). Pozitionati-l astfel incat sa permita introducerea stifturilor pentru
fixarea de portbagaj (O) in gaurile de fixare a stifturilor portbagajului (P).

RU.

YcTaHoBUTE CMAEHbE Haf OMOPO ANA KpenneHns Ha 6araxkHuke (I). MomecTnTe ero Takum 06pasom, YTobbI WTbIPU ANA
dukcaumm Ha baraxxHuke (O) Bowwnn B 0TBepCTUA Ha H6araxHuke (P).

SK.

Umiestnite sedacku nad montazny podstavec nosica (I). Umiestnite ju do takej polohy,

v ktorej koliky na uchytenie k nosicu (O) budi méct zapadnut do otvorov urcenych na koliky

nosica (P).

SL.

SedezZ postavite na podstavek za pritrditev na prtljaznik (I). Postavite ga tako,da se pritrdilni zati¢i prtljaznika (O) po-
ravnajo z luknjami za zatice prtljaznika (P).

SR.

Namestite sediste iznad montazne osnove prtljaznika (I). Stavite ga u polozaj koji dozvoljava montaznim osovinicama
prtljaznika (O) da se uzlebe u otvore za osovinice prtljaznika (P).

)"

Hall sétet ovanfér monteringsbasen (1). Placera det i en position dar pakethallarens

monteringspinnar (O) kan stickas in i de hal som &r avsedda for pinnarna (P).

TR.

Koltugu bagaj tastyici sabitleme althiginin tGzerine yerlestirin (1). Koltugu, bagaj tasiyici sabitleme pimlerinin (O) bagaj
taslyici pimleri sabitleme deliklerine (P) yerlesmesine misaade edebilecegi bir konuma getirin.

UK.

MomicTiTb cuAiHHA Ha OCHOBY KpinneHHA fo 6araxkHuky (I). Po3Tawyinte cvAaiHHA TaK, Wo6 wWTUGTU KpinneHHA Ao
6araxxHuky (O) cnisnanu 3 oTBOpamm Ana KpinneHHs (P).

ZH.
RESEMTITERECKE () LH. SEREETNETZRETEHE (0O) BATEREREL (P) WEE

o

www.polisport.com 21




1)4

EN.
After lining up the luggage carrier’s fixing pins (O) with the fixing holes on the baby seat (P), pull the baby seat backwards
and downwards until it is properly positioned on the luggage carrier.
FR.
Apres avoir aligné les Vis de fixation du porte-bagages (O) aux Trous de fixation destinés aux vis du porte-bagages (P),
tirez le siege bébé vers l'arriére et vers le bas de fagon a bien le placer sur le porte-bagages.
PT.
Depois de encaixar os Pinos de fixacdo do porta bagagens (O) nos Buracos de fixagdo para pinos do porta bagagem (P),
puxe o porta bébe para tras e para baixo de modo a que fique bem posicionado em cima do porta bagagens.
DE.
Nachdem Sie die Gepacktrager-Befestigungsstifte (O) an den Befestigungslochern des Kindersitzes (P) ausgerichtet ha-
ben, ziehen Sie den Kindersitz nach hinten und unten, bis er richtig auf dem Gepécktrager sitzt.
AR.
S o) ¢ & (JEBY S 3D 5 () AR ol e ol als o5 ] g
Gl A L e Gl i) 5 ey o ) Jiesdy il JBY
BG.
Cnep HanacBaHe Ha wudToseTe (O) 3a 3aKpensaHe KbM baraxkHVKa BbB GpUKCMpaLynTe OTBOPU Ha JeTCKOTO cTonde (P),
[ipblHeTe ATCKOTO CTONUe 06PaTHO U HaAoNy, AOKATO TO Ce NO3ULIMOHMPa NPaBUIHO BbPXY HaraxkHuKa.
cs.
Po vyrovnani upevinovacich kolikd zavazadlového nosice (O) do otvord na détské sedacce (P), zatahnéte détskou sedacku
dozadu a dold, tak aby byla na zavazadlovém nosici fadné upevnéna.
DA.
Efter foring op af bagagebaererens fastgorelsestifter (O) med monteringshullerne pa baby saede (P), treek barneszedet
bagud og nedad, indtil den er korrekt placeret pa bagagebzereren.
EL.
ApoU oTaBuioETE TOUG AEOVEG TIPOCAPHOYNG TNG OXApag amookeuwv (O) HE TIG E00XEC Twv afovwy Tou maidikou
kaBiopatog (P), Tpafri&te To maidikéd KABIoHA TTPOG Ta TOoW Kal TTPOG Ta KATW PEXPL va gival opBda TomoBeTnpévo otn
OXAPa OTTOOKEVWV.
ES.
Después de encajar los pasadores de fijacion al portaequipajes (O) en los orificios de fijacion (P) en el bebé del asiento, tire
del asiento del bebé hacia atras y hacia abajo hasta que esté bien colocado en el portaequipajes.
ET
Pérast pagasikanduri kinnitusndelade (O) joondamist lapseistme kinnitusavadega (P) tdmmake lapseistet taha ja all-
apoole kuniks see on korrektselt pagasikanduril.
Fl.
Kun olet sovittanut tavaratelineen kiinnitysnastat (O) lastenistuimen kiinnitysreikiin (P) , veda lastenistuinta taaksepdin
ja eteenpéin kunnes se on asettunut kunnolla kiinni tavaratelineeseen.
HE.
awin X J1vn (P), 1rnn awim 2ww 11ann N2 (O) [yunn Xwin 7w yIa'En ' YIA'W MINR

Jyonn Xwan 7y D270 DRI RINY TV N0N 1971 VINK7 71 Nn

22 www.polisport.com



HR.

Nakon navodenja umetaka (O) na rupice sjedalice (P), sjedalicu vucite unatrag i nadolje, sve dok pravilno ne sjedne na
nosac tereta.

HU.

Miutdn egy vonalba helyezte a csomagtartéra val6 rogzitéshez hasznalt csapokat (O) a gyermekilésen taldlhatéd
rogzitényilasokkal (P), tolja hatra és lefelé a gyermekiilést, amig a megfelelé helyzetbe nem keriil a csomagtartén.

T

Dopo aver allineato i ganci di fissaggio al portapacchi (O) con i fori di fissaggio sulla seduta del bambino (P), tirare la
seduta indietro e verso il basso finché non & adeguatamente posizionata sul portapacchi.

JP.

BEEY(O)ZERE—Y—RhDEYIR=IL(P)ICIFHRAH, NE—Y—rPEv UF EICEBAELMNET D&
5. ®A. TASIC5SEDFT,

LT

Sulygiave tvirtinimo prie bagazinés kaiscius (O) su tvirtinimo skylémis ant kadikio sédynés (P), patraukite kadikio sédyne
atgal ir Zemyn, kol ji atsidurs tinkamoje padétyje ant bagazinés.

LV,

Péc tam, kad bagaznieka stiprindjuma tapas (O) ir pielagotas stiprindjuma caurumiem uz bérnu sédeklisa (P), pavelciet
sédekliti atpakal un uz leju, [1dz tas ir pienacigi novietots uz bagaznieka.

NL

Eenmaal de montageschroeven(O) vastzitten in de bevestigingsgaten van het kinderzitje (P), trekt u het kinderzitje naar
achteren en naar onderen totdat het correct geplaatst is op de bagagedrager.

NO.

Etter & ha satt bagasjebrettets festepinner (O) pé linje med festehullene pa babysetet (P), trekker du babysetet bakover
og nedover til det er riktig posisjonert pa bagasjebrettet.

PL.

Po wprowadzeniu kotkéw mocujacych (O) do otworéw do mocowania znajdujacych sie w foteliku dzieciecym (P),
pociagnij fotelik do tytu | w dot, az zostanie prawidtowo posadowiony na bagazniku.

RO.

Dupa alinierea stifturilor pentru fixarea de portbagaj (O) cu gaurile de fixare de pe scaunul pentru copil (P), trageti scaunul
copilului inapoi si in jos pand cand se aseaza in mod corespunzator pe portbagaj.

RU.

Mocne Toro Kak wWTblpy AnA ¢prKcaumm Ha b6araxkHuke (O) BOWNM B KpenexHble OTBEPCTUA Ha AeTCKOM cupaeHbe (P),
nepemeLlaiiTe leTckoe cMAeHbe Ha3aj 1 BHU3, MOKa OHO He 6yfieT NpaBUbHO PacMosioXeHO Ha baraxHuke.

SK.

Po zarovnani kolikov (O) s fixatnymi otvormi na detskej sedacke (P) potiahnite detsku sedacku dozadu a nadol, kym nie
je riadne ulozena na nosici.

SL.

Potem ko ste poravnali pritrdilne zatice prtljaznika (O) z luknjami za pritrditev na otroskem sedezu (P), povlecite otroski
sedez nazaj in navzdol, da ga pravilno namestite na prtljaznik.

SR.

Kada uskladite sve montazne osovinice prtljaznika (O) sa motaznim otvorima decijeg sedista (P), povucite decije sediste
unazad i nadole dok ga ne namestite u pravilan polozaj na prtljaznik.

)"

Nar pakethallarens monteringspinnar (O) befinner sig i linje med monteringshalen pa barnstolen (P) drar du barnstolen
bakat och nedét tills den sitter ratt pa pakethallaren.

TR.

Bagaj taslyicisi sabitleme pimlerini (O) bebek koltugundaki sabitleme delikleriyle (P) hizaladiktan sonra, bagaj tasiyicisi
tizerinde diizgln bir sekilde konumlanana kadar bebek koltugunu geriye ve asagiya dogru ¢ekin.

UK.

Micna uboro, nopanTe cMAiHHA BNepes i HaTUCHITb BHU3 ANA 3aKPIiNIeHHA Ha 6araXkHNKy.

ZH.

WFTITFRETEH (0) MB/LEHRLNEEIL (P) & HB2)LESAEMEA T, BEIRIERMISEREME
TFEREANILE,

www.polisport.com 23




EN.

Lift up the upholstery (G) and fit bolt M8x25 (M) into the hexagonal
hole, as shown on the image.

FR.

Lever le coussin (G) et faire passer la vis (M) par le trou hexagonal,
comme le montre l'image.

PT.

Levante o estofo (G) e coloque o Parafuso M8x25 (M) no orificio hex-
agonal, como demonstra aimagem.

DE.

Heben Sie das Sitzpolster (G) an und fiihren Sie die Schraube (M) in
die sechseckige Offnung (siehe Abb.).

AR.

2 WSl il (M) (2l s (G) Jabal ke 53lay gl (k| il
Chypall S

BG.

MosaurHete Bb3rnaBHuUaTa (G) Ha AeTckaTa cefjanka v nocraBete
BUHT (M) B LLECTOBIBIHMA OTBOP, KaKTO € NokasaHo Ha ¢uryparta.
cs.
Nadzvednéte podlozku na sedac¢ce (G) a vlozte Sroub (M) do
Sestihraného otvoru tak, jak je to znédzornéno na obrazku.
DA.
Loft stolebetrakket (G) og anbring skruen (M) i det sekskantede hul,
som vist pa billedet.
EL.
AvaonKwoTe To paghapt Tou maidikov Kabiopatog (G) kat eloayayeTe
™ Bida (M) otnv e€aywvikn o, dMwg QaiveTan oTnV lKOVa.
ES.
Levantar el cojin del portabebé (G) e introducir el tornillo (M) en el
agujero hexagonal, al igual que en la foto.
ET
Tostke lapseistme padi (G) tiles ja pistke kruvi (M) kuuskantauku, nagu
pildil ndidatud.
Fl.
Nosta lastenistuimen pehmikettd (G) ja aseta ruuvi (M) kuusiokoloon
kuvassa osoitetulla tavalla.
HE.

(M)nn NX IN901H(G) PoNN AWM TI9N DX IKYM, 7NN DX INND

NINN2 DRNY 19D, NYIWNN 1NN N2

HR.
Podignite jastuk djecje sjedalice (G) i stavite vijak (M) u Sesterokutni
otvor prikazan na slici.
HU.
Emelje fel a gyerekiilés parndjat (G) és tegye a csavart (M) a képen
lathatd lyukba.
IT.
Togliere I'imbottitura (G) e infilare la vite (M) nel foro esagonale, come
indicato nella foto.

24 www.polisport.com

M

JP.

KERITINE—Y— BYvY¥ay (G) 2HUL. BEDELS
EANBEDORICZAY ) a— (M) ZELRAHETT,

LT

Pakelkite kédutés pagalvéle (G) ir jsukite sraigta (M) | Sesiakampe

skyle, kaip parodyta nuotraukoje.

LV,

Atvirziet sédeklisa polsterégjumu (G) un ievietojiet skravi (M) tai
paredzétaja atverg, ka paradits attéla.

NL.

Til het polster van het kinderzitje (G) omhoog en zet de schroef (M) in
de zeskantige opening, net als in de afbeelding.

NO.

Loft babyseteputen (G) og plasser skruen (J2) i det sekskantede hullet
som vist pa bildet.

PL.

Podnie$¢ wysciotke fotelika (G) i umiesci¢ Srubke (M) w szesciokatnym
otworze, tak jak na zdjeciu.

RO.

Ridicati captuseala de pe scaunel (G) si introduceti surubul (M) in ori-
ficiul hexagonal, dupa cum este ilustrat in imagine.

RU.

MogHuMKTe NopyluKy feTckoro cupeHba (G) u BctaBbTe BUHT (M) B
LWeCTUrpaHHOe OTBEPCTUE, Kak MOKa3aHO Ha PUCYHKe.

SK.

Zodvihnite podlozku na sedacke (G) a vlozte skrutku (M) do
Sesthranného otvoru tak, ako je to zndzornené na obrazku.

SL.

Dvignite oblazinjenje (G) in vstavite vijak (M) v luknjo. Glej sliko.

SR.

Podignite jastuk de¢jeg sedista (G) i stavite zavrtanj (M) u Sestougaonu
rupu, kao 3to je na slici prikazano.

SV

Lyft upp barnsitsdynan (G) och sétt skruven (M) i sexkanthalet, sdésom
bilden visar.

TR

Resimde gosterildigi gibi bebek koltugu minderini (G) kaldirin ve
vidayi (M) altigen delige yerlestirin.

UK.

MNigivmite nopywky antavoro cmpiHHA (G) Ta BCTaeTe rBuHT (M) B
LIeCTUKYTHUN OTBIP, AK Lie 306paXXeHO Ha MastoHKy.

ZH.
TTFEFRE) L EERETR ()R] (M) BASNARALF,
BRI,



EN.

Screw nut M8 (N) onto bolt M8x25 (M). Tighten the nut us-
ing a no. 13 open-ended spanner. Make sure that the nut is
properly tightened and that the luggage carrier fixing base
(1) is properly attached to the baby seat.

FR.

Vissez 'Ecrou M8 (N) a la Vis M8x25 (M). Serrez Iécrou a
I'aide d'une clé anglaise n° 13. Assurez-vous que l'écrou est
bien serré et que la Base de fixation au porte-bagages (I) est
correctement fixée au siege bébé (1).

PT.

Rosque a Fémea M8 (N) no Parafuso M8x25 (M). Aperte a
fémea com uma chave de bocas n°13. Tenha a certeza que
a fémea esta bem apertada e a Base de Fixacdo ao Porta
Bagagem () esta bem fixa ao porta bebé.

DE.

Schrauben Sie die M8-Mutter (N) auf den M8x25-Bolzen
(M). Ziehen Sie die Mutter mit einem Maulschlissel Nr. 13
fest. Stellen Sie sicher, dass die Mutter richtig festgezogen
und der Gepacktrager-Halteblock (I) richtig am Kindersitz
befestigt ist..

ke Jnzal) . - MBX25 (bl o) o M8 (&3] el
5 ol el | UKL B3 ot e 8T 1343, 211
JUBYI e S L B3sie) O (i Ladd ) Joldl e Condll
BG.
3aBwuiiTe raitkata M8 (N) Bbpxy 6onta M8x25 (M). 3aTerHete
ranikara, n3non3Bsankiy raeyeH Koy N2 13. Ybenete ce, ue
raiikaTa e Jo6pe 3aTerHata 1 Ye OCHOBaTa 3a NPUKpenBaHe
KbM 6araHuka e CBbp3aHa C AETCKOTO CTONYe, KaKTo
Tpab6Ba.
cs.
Nasroubujte matici M8 (N) na Sroub M8x25 (M). Ma-
tici utdhnéte pomoci otevieného stranového klice ¢. 13.
Ujistéte se, Ze matice je fadné utazend a zZe je zdkladna za-
vazadlového nosice (1) fadné pripojend k détské sedacce.
DA.
Skru metrik M8 (N) pa bolt M8x25 (M). Spaend metrikken
med et nummer 13 dben gaffelnagle. Serg for, at metrikken
er spaendt korrekt, og at bagagebaerer fastgerelsesbasen (I)
er korrekt tilsluttet barnesaedet.

EL.
Bidwote to ma&ipuadt M8 (N) oto pmoulovi M8X25 (M).
Y @i€te 1o ma&luadl xpnotpomowvTag éva YaANKO KNS ap.
13. Ziyoupeuteite 611 To ma&luadt givat opOA& o@iyuévo kat
6t n Bdon mpooapuoynig TG oxdpag amookeuwv (1) givat
opBd mpoodedepévn oto maidiko kabiopa.
ES.
Atornille la tuerca M8 (N) en el tornillo M8x25 (M). Apriete la
tuerca con una llave fija N.° 13. Asegurese de que la tuerca
estd correctamente apretada y que la base de fijacién al
portaequipajes (I) estd correctamente fijada a la silla de
bebé.
ET
Kruvige mutter N8 (N) poldile M8x25 (M). Pingutage mutter
nr. 18 avatud otsaga mutrivdtmega. Veenduge, et mutter
oleks korralikult kinni ning pagasikanduri kinnitusalus (1)
oleks lapseistmega korralikult thendatud.
Fl.
Kiinnita ruuvi M8 (N) pulttiin M8x25 (M). Kirista ruuvi kayt-
tamalla nr 13 kiintoavainta.
Varmista, ettd ruuvi kunnolla kiinnitetty ja ettd tavarate-
lineen kiinnityspohja sopii kunnolla lastenistuimeen.
HE.
X TN M8x25 (M). 2112 72w M8 (N) DIkn N 2120
NTI 13,1900 'TAY NNOM WIN'Y 'T' % DIXN
NWIN 7¢ V1270 0'0QW1 D7D 7TINN DIRNY
21NN awin? nd70d 1ainn (1) jyonn
HR.
Maticu M8 (N) stavite na vijak M8x25 (M). Pricvrstite ju
pomocu vilicastog kljuca br. 13. Uvjerite se da je matica
dovoljno stegnuta te da je postolje na nosacu tereta (1) is-
pravno spojeno sa sjedalom.
HU.
Csavarja az M8 anyat (N) az M8x25 csavarra (M). Hizza meg
az anyat 13-as méretd villaskulccsal. Gy6zédjon meg arrol,
hogy az anya megfelel6en meg van huizva, és, hogy a keret
(1) megfeleléen rogzitve van a gyermekiléshez.
T
Avvitare il dado M8 (N) alla vite M8x25 (M). Stringere il dado
usando una chiave inglese n. 13. Assicurarsi che il dado sia
adeguatamente stretto e che la base di fissaggio del por-

www.polisport.com 25




tapacchi (l) sia adeguatamente attaccata alla seduta del
bambino.

JP.

M8x25DRIL k(M) & M8F v ~(N) ICZEUAHE
o MOX/NNF(13mm)ZfE> THEDET. v h%E
MBITEBALEFD, Fv UTFR—I()DBRE—T—k
ICEEY 5 &L SHRILEE W,

LT

Uzsukite verzle M8 (N) ant M8 x 25 varzto (M). Priverzkite
verzle naudodami 13 verzZliaraktj atviru galu. Jsitikinkite,
kad verzlé tinkamai priverzta ir tvirtinimo prie bagazinés
pagrindas (1) yra tinkamai pritvirtintas prie kadikio sédynés.
LV

Uzskravéjiet uzgriezni M8 (N) uz skrives M8x25 (M).
Pievelciet uzgriezni, izmantojot plakano uzgrieznu atslégu
Nr.8. Parliecinieties, vai uzgrieznis ir pienacigi pievilkts un
bagaznieka stiprinajuma baze (1) ir pareizi pievienota bérnu
sédeklitim.

NL

Schroef moer M8 (N) op bout M8x25 (M). Span de moer
aan door middel van een nr.13 steeksleutel. Controleer dat
de moer goed spant en dat het montage platform (I) goed
werd bevestigd aan het kinderzitje.

NO.

Skru mutteren M8 (N) pa bolten M8x25 (M). Stram til mut-
teren med en apen fastnokkel nr. 13. Serg for at mutteren
er strammet godt og at bagasjebrettets festebase (I) er godt
festet til babysetet.

PL.

Zatéz nakretkag M8 (N) na Srube M8x25 (M). Dokre¢ za
pomoca klucza francuskiego nr. 13. Upewnij sig, ze nakretki
s prawidtowo dokrecone i ze podstawa mocujaca na
bagaznik (I) jest prawidtowo zamocowana do fotelika.

RO.

Tnsurubati piulita M8 (N) pe surubul M8x25 (M). Strangeti
piulita folosind o cheie fixa cu cap deschis nr. 13. Asigurati-
va cé piulita este bine stransa si ca suportul de fixare pe
portbagaj (I) este prins in mod corespunzator de scaunul
pentru copil.

RU.

HasuHTtuTe ramky M8 (N) Ha G6ont M8x25 (M). 3aTaHuTe

26 www.polisport.com

raiky C NOMOLLbIO [BYCTOPOHHErO raeyHoro Kntwoua N213.
Y6enuTech, UTO ralika 3aTAHyTa AOJIKHbIM 06pasoM 1 4To
onopa AnA KpenneHus Ha 6araxHuke (l) Hagnexawum
06pa3om 3aKpenieHa Ha AETCKOM CHAEHbE.

SK.

Zaskrutkujte maticu M8 (N) do skrutky M8x25 (M). Maticu
utiahnite pomocou otvoreného kltca 13. Skontroluijte, ¢i je
matica pevne utiahnutd a montazny podstavec nosica (I)
riadne pripevneny k detskej sedacke.

SL.

Privijte matico M8 (N) na vijak M8 x 25 (M). Zategnite matico
z vilicastim klju¢em st. 13. Prepricajte se, da je matica dovolj
zategnjena in da je podstavek za pritrditev na prtljaznik (1)
pravilno pritrjen na otroski sedez.

SR.

Zavrnite navrtku M8 (N) na zavrtanj M8x25 (M). Zategnite
navrtku pomocu otvorenog klju¢a br. 13. Proverite da li
je navrtka pravilno zategnuta i da li je montazna osnova
prtljaznika (1) pravillno pri¢vricena za decije sediste.

sV

Skruva pa M8-muttern (N) pa bulten av typ M8x25 (M). Sk-
ruva at muttern med en u-nyckel (nr 13). Se till att muttern
ar ordentligt dtdragen och att barnstolen ar ordentligt fast-
satt pd monteringsbasen ().

TR.

M8 somunu(N) M8x25 civata Uzerine vidalayin (M). So-
munu, 13 numara cift agizlh somun anahtari kullanarak
sikin. Somunun dizgiin bir sekilde sikildigindan ve bagaj
tastyici althginin (1) bebek koltuguna diizglin bir sekilde
takildigindan emin olun.

UK.

HakpyTiTb rainky M8 (N) Ha 6onT M8x25 (M) i 3aTArHiTb 3a
[IONOMOrol0  ABOCTOPOHHBLOrO ralkoBoro Kniwoua N2 13.
MepekoHanTecs, WO ranka 3aTArHyTa NPaBUIbHO | AuTaye
CUAIHHA HafiHO 3aKpinneHe Ha OCHOBI KpinneHHs (I).

ZH.

g M8 (N) FEAN M8X25 g (M) |, 7%,
RI3SHORFITRES, HERSERERMBITE,
METEREERE () REMBRREIE)LER,



o<l max.10 cm

EN.
The baby carrier has a centre of gravity (F) (inscribed on the
baby carrier) that must be positioned in front of the rear
wheel axle. If it is positioned rearwards of that axle then the
distance cannot exceed 10 cm.
FR.
Le porte-bébé présente un centre de gravité (F) (indiqué
sur le siége), qui doit étre placé a I'avant de l'essieu de la
roue arriére. S'il est placé a I'arriére de cet essieu, la distance
ne peut étre supérieure a 10 cm.
PT.
O porta bebé apresenta um centro de gravidade (F)
(gravado no porta bebé), que deve ficar posicionado a
frente do eixo da roda traseira. Caso fique posicionado atras
deste eixo, a distancia ndo pode ser superiora 10 cm.
DE.
Der Schwerpunkt (siehe Markierung auf dem Sitz) muss vor
der Hinterachse liegen. Liegt der Schwerpunkt dahinter,
dirfen max. 10 cm nicht tiberschritten werden.
AR.

LS ) il e Gl o5 (F) (J& 5,0 dadal)

e 10 e Bl Aol s s a1

BG.
[leTckaTa cefjanka e ¢ LeHTbp Ha TexecTTa (F) (oTbenssaH
BbPXy J[eTcKaTa cefanka), KouWto Tpsbsa pa 6Obge
pasnonoxeH npey ocTa Ha 3aHOTO Koneno. AKO CbLUMAT
ce HaMVpa 3af Ta3n OC, ToraBa PasCTOAHMETO He MOXe fa
Hagsuwaea 10 cm.
cs.
Sedacka ma vyznaceno tézisté (F), které ma byt pred osou
zadniho kola. Nachazi-li se za touto osou, vzdalenost nesmi
byt vétsinez 10 cm.
DA.
Bornestolen har et tyngdepunkt (F) (afmeerket pa
bernestolen), som skal veere anbragt foran akslen pa
baghjulet. Hvis det er placeret bag akslen, ma afstanden
ikke overstige 10 cm.
EL.
To mopt-pmepné éxel kévipo Bapoug (F) (n évdelgn umapxel
TAvw 0To KABIoNA) To oTmoio TIPETEL va BPICKETAL UITPOOTA
amnéd tov aova Tou miow TPoxou. Av TomoBeTnBei miow amd

Tov afova, n amootaon Sev mpémel va umepPaivel Ta 10
EKATOOTA.
ES.
El portabebés tiene un centro de gravedad (F), marcado
en el mismo, que debe situarse delante del eje de la rueda
trasera. Si se sita detras de este eje, la distancia no puede
ser superior a 10 cm.
ET
Lapse turvatoolil on raskuskese (F) (turvatoolil tahistatud),
mis tuleb paigutada tagaratta telje ette. Teljest tahapoole
paigaldamisel ei tohi kaugus tletada 10 cm.
Fl.
Lasten istuimessa on painopiste, joka on merkitty istuimeen
kirjaimella F. Istuin tulee sijoittaa siten, etta tama painopiste
on takapyoran akselin etupuolella. Jos se sijoitetaan akselin
taakse, etdisyys ei voi olla akselista 10 cm pidempi.
HE.
)awimn v [pion (F) (Tan ™n v 7irnn awin?
NIN DR, "INKD 72730 2'Y 1197 Dpin Difn7 2v Ny
n’o 107w nw! PNNAY AI0K, NT 'Y "NINKND DRINN
HR.
Nosa¢ za dijete ima teziSte (F) (oznaceno na nosacu za
dijete) koje je potrebno postaviti ispred osovine straznjeg
kotaca. Ako se teZiste postavi iza te osovine, tada udaljenost
ne smije biti ve¢a od 10 cm.
HU.
A gyermekiilés sulypontjat (F) (a gyermekdlésen is fel
van tlntetve) a hatso tengely elejéhez kell igazitania.
Amennyiben a tengely hatsé részéhez igazitja, a tavolsag
nem haladhatja meg a 10 cm-t.
IT
Il porta-bebé ha un centro di gravita (F) (interno al porta-
bebe), che deve essere posizionato davanti all’asse della
ruota posteriore. Se viene posizionato dietro a tale asse, la
distanza non puo essere superiore a 10 cm.
JP.
NE=Y—HMTRED (F) (RE—Y—NEHDWN
TWEY) MHDH, COBELIEBRED/\T LD HHEIIC
BoTWATNEWIEEA, EONNTLDESIC
BBHEF. NTHSOEREN10 cmZBX TIEWF
Ecv

www.polisport.com 27




e
LT

Vaiko kédutéje pazymétas svorio centras (F), jis turéty
atsidurti priesais uzpakalinio rato asj. Svorio centrui
atsiddrus uz asies, atstumas tarp centro ir asies negali virsyti
10 cm.

LV,

Ar attéla redzamo simbolu markétajam sédeklisa smaguma
centram (F) péc sédeklisa uzstadisanas jaatrodas pirms
pakaléja ritena ass. Ja smaguma centrs atrodas aiz ass, tas
nedrikst bat atvirzits vairak par 10 cm.

NL.

Het kinderstoeltje heeft een zwaartepunt (F) (zie indicatie
op het kinderstoeltje), diat bij het monteren van het
stoeltje voor de as van het achterwiel moet blijven. Als het
zwaartepunt toch achter de as van het achterwiel uitkomt,
mag dat niet meer dan 10 cm. zijn.

NO.

Barnesetet har et gravitetssentrum (F) (oppgitt pa
barnebzereren) som ma bli plassert foran pa bakre
hjulaksel. Hvis det blir plassert bakover pa den akselen ma
avstanden ikke overgd 10 cm, juster metallrammen pa en
av de tilgjengelige posisjonene.

PL.

Srodek ciezkosci (F) fotelika dla dzieci (zaznaczony na
foteliku) nalezy umiejscowi¢ przed osia tylnego kofa. Jezeli
zostanie on umieszczony za ta osig, odlegtos¢ nie moze
przekraczac¢ 10 cm.

RO.

Scaunelul pentru copii are un centru de greutate (F) (gravat
pe suprafata sa) care trebuie sa fie pozitionat in fata axei
rotii posterioare. Dacd este pozitionat in spatele respectivei
axe, distanta fata de aceasta nu trebuie sé depdseasca 10
cm.

RU.

LeHtp Taxectn (F) peTckoro cupeHba (OTMeYeH Ha
CUAEHWW) BOMKEH pacronaraTbCA BMepeay ocu 3afHero
Koneca. [lonyckaeTcA pasmelleHne LieHTpa TAXeCTW He
6onee yuem B 10 cM nNo3aau ocu.

SK.

Detsky nosi¢ ma tazisko (F) (oznac¢ené na nosici), ktoré musi
byt umiestnené pred zadnou osou kolesa. Ak je v polohe

28 www.polisport.com

S| max.10 cm

smerom dozadu od tejto osi, potom vzdialenost nesmie
prekro¢it 10 cm.

SL.

Otroski sedez ima tezis¢e (F) (napisano na otroskem
sedezu), ki ga je potrebno namestiti pred osjo zadnjega
kolesa. Ce je names¢en za osjo, potem razdalja ne sme
preseci 10 cm.

SR.

Decje sediste ima tezisni centar (F) (oznacen na decjem
sedistu) koji se mora postaviti ispred osovine zadnjeg
toc¢ka. Ukoliko se postavlja iza te osovine tada razmak ne
sme da premasi 10 cm. Ukoliko tezisni centar premasuje 10
cm, podesite metalni nosac u jedan od moguc¢ih poloZzaja.
sV,

Barnsitsen har en tyngdpunktsmarkering (F) (inristad).
Denna skall vara max 10 cm bakom hjulets centrum.

TR

Bebek tasiyicinin agirhk merkezi (F) (bebek tasiyicida
yazihdir), arka tekerlek aksinin 6niinde yer almalidir. Bu
aksin arkasinda bulunursa, aralik 10 cm'i gegemez.

UK.

[lnTAaye Kpicno mae LeHTp TAXIHHA (Ha Kpicni € BignoBigHa
nosHauka: F), wWo mMmae po3milwlyBaTucb nepen BicClO
3afHbOro Kosneca. AKwWo BiH byae po3milieHnin nosagy Liei
Bici, BifCTaHb He NOBMHHa nepesuLlyBaTty 10 cm.

ZH.
BERIED (F)GITER L) MM REERHE 10 cm
Bt WMREMREAKE, BEHER LURTIER -



EN.

Pass the safety belt (C) around the bicycle frame. Adjust it as
shown in the picture, under tension.

FR.

Faites passer la sangle de fixation (C) autour du cadre de
la bicyclette et serrez-la en vous assurant qu'elle soit bien
en tension.

PT.

Passe o segundo cinto de seguranca (C) a volta do quadro
da bicicleta, ajustando-o bem conforme a imagem
eliminando folgas existentes.

DE.

Fuhren Sie den Sicherheitsgurt (C) um den Fahrradrahmen.
Stellen Sie ihn straff ein (siehe Abb.).

AR.
o s b Gy B bl IS o (©) S WY1
3oyl (b el i B S0y
BG. )
MNpekapaiite  obe3onacutenHus konaH (C)  okono

BenocunefHata pama. Perynupaite ro Taka Kakto e
nokasaH BbB ¢uryparta, TpabBa Aa 6bae HaTerHart.

cs.

Provlecte bezpecnostni pas (C) okolo ramu kola. Ujistéte se,
Ze je pevné napnuty - viz. obrazek.

DA.

For nummer to sikkerhedsrem (C) omkring stellet og
speend den fast som angivet pa tegningen. Remmen skal
vaere stram.

EL.

MNepdote N Seutepn (wvn acealeiog (C) yopw amd to
mAaiolo Tou modnAdtou, épapudlovVTaE TNV KAAY, CUPPWVA
UE TNV EIKOVA amo@evyovTag omoladnmote XaAdpwon.

ES.

Pase el segundo cinturén de seguridad (C) alrededor del
cuadro de la bicicleta, ajustandolo bien segun la imagen,
eliminando espacios existentes.

ET

Tommake turvavoo (C) labi jalgratta raami ja kinnitage see
Umber raamitoru nagu on ndidatud juuresoleval joonisel,
tdmmake see tugevasti pingule, et valtida selle 16tvumist.
Fl.

Laita turvaremmi (C) polkupy6ran rungon ympari. Saada
sitd kuvan osoittamalla tavoin kiredksi.

HE.

091N 9127 2'aon (C) NIN'LAN MIAN DX 1N'AYN

NNINA NIX2, NINM AXNIY 19D ANIK 111D

HR.
Provucite sigurnosni pojas (C) oko okvira bicikla. Namjestite
kako je prikazano na slici, dok je napet.
HU.
A (C) jeltimasodik biztonséagi 6vet régzitse a kerékparvazhoz
a rajznak megfeleléen, és feszitse meg alaposan.
T
Allacciare la cintura di sicurezza (C) intorno al telaio della
bicicletta. Tensionare la cintura come indicato nella foto.
JP.

ZeN)Lh (C) ZBHEEDQ7L—LDEDICELR
Yo BRICRTELSIC. NLhZEL>MD EFNTL
EEW,

LT

Apjuoskite apsauginj dirzg (C) aplink dvirac¢io réma.
Pritvirtinkite jj taip, kaip parodyta paveikslélyje. tempkite
dirza.

LV.

Pievienojiet ramim drosibas atsaiti (C).
paradits attéla.

NL.

Voer de tweede veiligheidsgordel (C) rond het fietsframe
en trek strak aan zoals in de afbeelding.

NO.

For sikkerhetsbeltet (C) rundt sykkelrammen. Juster det
som vist pd bildet under belastning.

PL.

Przeciggna¢ pas bezpieczenstwa (C) wokét ramy roweru
aby zabezpieczy¢ fotelik przed wysunieciem. Dopasowac
tak, jak pokazano na rysunku, napinajac.

RO.

Pozitionati centura de sigurantd (C) in jurul cadrului
bicicletei. Tensionati-o conform imaginii.

RU.

MpoTtaHuTe BTOpOW pemeHb 6GesonacHoctn (C) BOKpYr
BeNOCKNe[HON Pambl, XOPOLLO OTPErynMpoBas ero 1 ybpas
CylecTBytowme 3a3opbl (CM. PUCYHOK).

SK.

Pretiahnite bezpecnostny pas (C) okolo ramu bicykla.
Nastavte ho tak, aby bol napnuty, ako je to ukézané na
obrézku.

SL.

Varnostni trak (C) ovijte okrog okvirja in ga zategnite (glej
sliko).

SR.

Provucite bezbednosni pojas (C) oko rama bicikla. Podesite
ga onako kako je na slici prikazano, pod opterecenjem.

1)

For sékerhetsremmen (C) runt cykelramen. Justera den.
Remmen maste vara spand.

TR

Emniyet kemerini (C) bisiklet kadrosunun etrafindan
gecirin. Resimde gosterildigi gibi gergin sekilde ayarlayin.
UK.

MponycTitb  cTpaxytounin nacok (C) HaBKono pamu
Benocuneay. 3abe3neunBlun HaTATHEHHA, Tpeba nigirHaTy
11010 TaK, K Lie 306paxxeHO Ha MasioHKYy.

ZH.

RBReW (C) BIMBEELR, RERETATRNITEH
TR EEKE.

Pievelciet, ka

www.polisport.com 29




12

B2

QOOO& o)

B1

=

7

<=

EN.

To put the child in the seat, open the lock (B1) of the safety
belt (B) and press the three buttons of the lock (B1) as
indicated. Before starting your ride, make sure the seat belt
is properly adjusted and that it does not hurt the child. This
adjustment is made by sliding the belt adjustors (B2).

FR.

Pour ouvrir la boucle de sécurité (B1) de la ceinture (B)
et pouvoir installer I'enfant sur le porte-bébé, pressez
simultanément, comme indiqué sur lillustration, les 3
points de la boucle (B1). Avant de commencer a rouler,
assurez-vous que la ceinture de sécurité soit bien ajustée a
I'enfant sans le blesser. La longueur de la ceinture se régle a
I'aide des ajusteurs (B2) de la ceinture.

PT.

Para abrir a fivela (B1) do cinto de seguranca (B) e poder
colocar a crianga no porta bebé, pressione os 3 pontos da
fivela (B1) indicados. Antes de iniciar o passeio certifique-
se que o cinto de seguranca esta devidamente ajustado
a crianca sem a magoar. Este ajuste devera ser feito pelo
deslize dos ajustadores (B2) existentes no cinto.

DE.

Um die SchlieBschnalle (B1) des Sicherheitsgurt (B) zu
offnen und das Kind in die Sitzschale zu setzen, driicken Sie
die 3 angegebenen Punkte der SchlieBschnalle (B1). Bevor
Sie lhren Ausflug starten, vergewissern Sie sich, ob der
Sicherheitsgurt fest am Korper Ihres Kindes anliegt, ohne
es zu verletzen. Stellen Sie den Gurt mit den Gurtverstellern
(B2) richtig ein.

AR. o
uJ..s{n.Lbb(B)AgLn\ﬂr.rcg(B‘l)ﬂ|@é|AM|£JM\C_'¢;
oo 0T o Ll s ey Jod. sos o WS (BT Jaald w1,
Us el oz Jill) 31 6T o Y iy Gale 38, oy o WYL L
(B2) of el cloSios 3 31 b 8 Lol
BG.

3a fla nocTaBuUTe fleTe B cefjankaTta, OTBOpeTe Kitovankara
(B1) Ha o6e3onacutenHua konaH (B) u HaTUcHeTe
TpuTe GyTOHa Ha Kilouyankata (B1) KakTo e nokasaHo.
Mpeau pa 3anouHeTe pasxopKaTa CU, yBepeTe ce, ue
06e30nacnTeNHUAT PeMbK e MPaBUIIHO PerynmpaH 1 Ye He
npuunHaBa 6onka Ha AeTeTo. Tasu perynvpoBKa ce npasu

30 www.polisport.com

ypes nnb3raHe Ha perynatopuTe Ha KonaHa (B2).
cs.
Nez date dité do sedactky uvolnéte zamek (B1)
bezpecnostniho pasu (B) a stisknéte tii tlacitka zamku (B1)
- viz obrazek. Pfed cestou se ujistéte, ze je pas sedacky
spravné upevnén a nezrani dité. Dotdhnéte posunutim
utahovaci prezky pasu (B2).
DA.
For at frigore sikkerhedsselerne og anbringe barnet i
stolen, dbn spaende (B1) pa sikkerhedsselen (B) og tryk
samtidigt pa de tre punkter pa spaende (B1), som angivet
ovenfor. Inden du begynder at kere, forvis dig om, at
sikkerhedsselerne er korrekt indstillet efter barnets hgjde;
selerne skal vaere fastspaendt, dog uden at stramme alt for
meget om barnet. Selernes leengde indstilles ved at flytte
spaenderne (B2) langs selerne.
EL.
MNa va avoifete 10 koUuMwua (B1) ¢ {Wvng acealeiag
(B) kat va umopéoete va TtomoBetioete to madi oTO
TIOPT-UMeuné, TATAOTE TA 3  papKAPIOpéva  onueia
Tou Koupmwuatog (B1). Mpwv exivoete tov mepimarto,
BeBaiwBeite 611 n {Wwvn acpaleiag epappolel CwWOTA XwPIG
va TANYWVEL To TTaLSi. AUTO TTETUXAIVETAL LETAKIVWVTAG TOUG
puUBUIOTEG (B2) TG {wvng.
ES.
Para abrir la hebilla (B1) del cinturén de seguridad (B) y
poder colocar el niflo en el portabebés, presione los 3
puntos indicados de la hebilla (B1). Antes de iniciar el
paseo asegurese de que el cinturén de seguridad esta
debidamente ajustado al nifio sin hacerle dafo. Este ajuste
se debera realizar deslizando las hebillas (B2) existentes en
el cinturén.
ET
Lapse turvatooli panemiseks tehke turvavod (B) lahti,
vajutades selle 3-punkti pandlale (B1). Enne soidu
alustamist veenduge, et turvavoo oleks lapse jaoks parajalt
peale pandud ega teeks lapsele haiget ning et lapsel
ei oleks ebamugav. Rihma saate reguleerida, libistades
rihmareguleerijaid (B2) tiles-alla.
Fl.
Kun asetat lapsen istuimeen, avaa turvavyon lukko (B1)
turvavyosta (B) ja paina lukon (B1) kolmea painiketta kuvan
osoittamalla tavalla. Varmista ennen pyérdilemaan lahtoa,
ettd turvavyd on saddetty oikein ja ettei se satuta lasta.
Turvavyota saddetdan liu'uttamalla vyon saatimia (B2).
HE.
mMiIan 7w (B1) 1200 NX 1NN, AWINA T7'0 DX NN 1)
ANITND (B1) 1200 'axn? nwi2w v 1xn'1 (B) nintvan
TNIN'02N MIANY IXTI, NN N7'NN 9%, Minm
MIANN NARNN. T7'7 N2'RON NIR X'NYI IR NNRNIN
.(B2) 11Ixn 'mxnn noon T Y nyxann
HR.
Za smjestaj djeteta u sjedalicu, otvorite bravu (B1) na si-
gurnosnom pojasu (B) i pritisnite tri tipke na bravi (B1) kako
je prikazano. Prije kretanja na voznju, provjerite jesu li si-
gurnosni pojasevi primjereno podeseni i nisu neudobni za
dijete. Podesavanje se izvodi klizanjem podesivaca pojasa
(B2).
HU.
A (B) jelzésti biztonsagi 6v (B1) jell csatjanak kinyitasahoz
nyomja meg a (B1) jeli csaton megjellt harom
pontot, ezutan tudja a gyermeket az ilésbe helyezni. A



kerékpdarozas megkezdése el6tt ellendrizze, hogy elég
szorosan kototte-e be a biztonsagi dvet, anélkil, hogy az
gyermekének fajdalmat okozna. Az v szorossagét az azon
taldlhato (B2) jell 6vfeszitokkel allithatja be.

T

Mettere il bambino sul seggiolino, aprendo la chiusura
della cintura di sicurezza (B1) premendo i tre bottoni della
serratura (B1) come indicato. Prima di partire,assicurarsi che
la cintura di sicurezza sia correttamente posizionata e che
non dia fastidio al bambino. Questa regolazione viene fatta
regolando il cursore (B2).

JP.

BFHFEV—NCESEZICE, RICKREITRIOY
7 (B1) LO3BEFORYVERLT, ¥—EXRILE
(B) ®dOv Y (B1) £5hLFET, FEEHERDDHEIIC, &
—MRNILADBETIICHEISNTHED . BFKREMDN
FRETWAWIESHEERL T LT W, DR
i, NJL RS (B2) ZfE-> TITWER T,

LT

Norédami jsodinti vaika j kédute, atsekite saugos dirzo (B)
uzrakta (B1), paspausdami tris uzrakto (B1) mygtukus kaip
pavaizduota. Prie$ pradédami vaziuoti jsitikinkite, kad
kédutés dirzas tinkamai sureguliuotas ir kad jis nezeidzia
vaiko. Dirzo pozicija galima sureguliuoti naudojant dirzo
reguliatorius (B2).

LV,

Lai mazuli iesédinatu sédekliti, atveriet drosibas jostas (B)
spradzi (B1), piespiezot tris spradzes pogas, ka paradits
attéla. Pirms katra brauciena parliecinieties, vai drosibas
josta ir pareizi noreguléta un nenodara sapes mazulim.
Regulésanai izmantojiet jostas regulésanas spradzes (B2).
NL.

Wanneer u uw kind in het stoeltje wilt zetten, open dan
de veiligheidsgesp van de vijfpunts-gordel (B) door
tegelijkertijd op de drie punten van het slotje te duwen
(B1).

Voordat u gaat fietsen met uw kind in het fietstoeltje,
controleer of de vijfpunts-gordel op de juiste maat is
afgesteld voor uw kind, zonder dat het kind er hinder van
ondervindt. De lengte van de gordel kunt u aanpassen
door te schuiven met de clips op de gordel (B2).

NO.

For a plassere barnet i setet, apn spenne (B1) til sikkerhets-
beltet (B) og trykk pa de tre knappene til lasen (B1) som
angitt. For du begynner a sykle, forsikr deg om at setebeltet
erriktig justert og at det ikke skader barnet. Denne justerin-
gen utferes ved & flytte beltejusteringene (B2).

PL.

Aby posadzi¢ dziecko w foteliku, prosimy odpig¢ blokade
(B1) pasa bezpieczenstwa (B) i wcisngé trzy przyciski
blokady (B1) tak, jak pokazano. Przed rozpoczeciem
jazdy, prosimy sie upewni¢, czy pas fotelika jest dobrze
przymocowany i czy nie rani dziecka. Regulacja jest
mozliwa przez przesuwanie paska (B2).

RO.

Pentru a pozitiona copilul in scaunel, deschideti catarama
de blocare (B1) a centurii de sigurantd (B) apasand cele
trei butoane ale inchizatorii (B1) dupd cum este indicat
in imagine. Tnainte de a porni la plimbare, asigurati-va
ca centura este pozitionatd corect si ca nu incomodeaza
copilul. Aceasta se regleaza prin ajustarea cataramelor de
pe centura (B2).

RU.

YTo6bl OTKPLITb 3aMoOK (B1) pemHAa 6e3onacHoctu (B)
1 nocagutb pebeHKa B [AETCKOE Kpecno, Haxmute 3
yKa3aHHble ToukM 3amka (B1). Mepen Hayanom nporynku

npoBepbTe, XOPOWO /W OTPerynmpoBaH  pemeHb
6e30MacHOCTN U He NMPUUMHAET NN OH HeY[06CTB pebeHkKy.
OTperynupoBatb  HaTAXXeHWe MOXHO MpK  MOMOLLM
perynatopos (B2), uMeloLwmxca Ha pemHe.

SK.

Ked' chcete dat dieta do sedacky, otvorte zamok (B1)
bezpecnostného péasu (B) a stlacte tri gombiky zamku
(B1), ako je to znézornené. Pred jazdou sa uistite sa, Ze pas
sedacky je spravne nastaveny. Nastavite ho postvanim
nastavovacov pésa (B2).

SL.

Ko zZelite namestiti otroka v sedez najprej odpnite varnostno
zaponko (B1) pet to¢kovnega sistema varnostnih trakov (B).
Varnostno zaponko (B1) odpnete s pritiskom na tri gumbe.
Pred voznjo vedno preverite pravilno zategnjenost sistema
varnostnih trakov. Pazite, da premocna zategnjenost trakov
ne poskoduje otroka! Dolzino in zategnjenost trakov
nastavite s pomikom nastavitvenih sponk (B2).

SR.

Da biste dete stavili u sediste, oslobodite kopc¢u (B1) bez-
bednosnog pojasa (B) i pritisnite sva tri dugmeta na kopci
(B1) kao sto je prikazano. Pre nego 3to krenete u voznju,
proverite da li je pojas na sediStu odgovarajuce podesen,
te da nece povrediti dete. Ovo podesavanje se vrsi
povlacenjem regulatora pojasa (B2).

1)

For att satta barnet i sitsen, Oppna laset (B1) pa
sékerhetsbaltet (B) och tryck pé de tre lasknapparna
(B1). Innan du borjar cykla, se till att sakerhetsbaltet &r
ordenligt spant och att det inte skadar barnet. Instalining
av baltesldangden gors genom att lata spannena glida (B2) .
TR.

Cocugu koltuga yerlestirmek icin, emniyet kemerinin
(B) kilidini (B1) agin ve gosterildigi gibi kilidin (B1) g
diigmesine bastirin. Bisikleti sirmeye baslamadan 6nce
koltuk kemerinin uygun sekilde ayarlandigindan ve
¢ocugun canini yakmadigindan emin olun. Bu ayarlama
kemer ayarlayicilari (B2) kaydirilarak yapilr.

UK.

o6 nomicTTM AUTUHY B CUAIHHI, NOTPIGHO BiZUUHUTK
3aMoK (B1) nackiB 6e3neku (B) HaTUCKaHHAM TPbOX KHOMOK
3amKy (B1) BianoBigHO 3006pa)keHHI Ha MasioHKy. [lo
noyatky Bawoi nporynsaHkn nepekoHanTecb B TOMY, LO
Nackn CUAIHHA HaNeXHUM YMHOM BigperynboBaHi Ta He
CNPUYMHAIOTD 6ONICHMX BigUYTTIB AWTUHI. PerynioBaHHA
BUKOHYETbCA NepecyBaHHAM perynatopis nackis (B2).

ZH.

EERFBRANERN, £TFZ2% (B) NEREHHEN
(B1) , RERETETREMO B1) W 3 MR
Ho EFIRFER, EMRERREHFERRELHER
FMEBFRIGE, BHRESHRAT (B2) EM#IT
R,

www.polisport.com 31




13

e

EN.

To adjust the height of the foot rest (E) that suits your child’s
size, release the foot rest (E) from the seat (A) by pressing
the two fasteners together and lift the foot rest as indicated
in the picture (it may be necessary to apply some pressure).
FR.

Pour ajuster la hauteur des repose- pieds (E) a la taille
de l'enfant, retirez le repose-pied (E) de la chaise (A) en
pressant les pinces et en levant le repose-pied comme
indiqué sur lillustration (il est possible que vous deviez
forcer un peu).

PT.

Para ajustar a altura do pousa pé (E) para a altura mais
apropriada ao tamanho da crianga, retire o pousa pé
(E) do assento principal (A) pressionando as patilhas
simultaneamente e levante o pousa pé como indicado na
imagem (podera ter de aplicar alguma forca no aperto das
patilhas).

DE.

Um die FuBrasten (E) auf die Hohe lhres Kindes einzustellen,
l6sen Sie die FuBrasten (E) vom Babysitz (A), indem Sie
beide Druckknopfe zusammenpressen und die FuBrasten
gleichzeitig leicht anheben und entfernen (siehe Abb.; evtl.
etwas Druck anwenden).

AR.
ol s, Vu_al,‘.»w» U (E) il ats g U | Jara)
ol dis 1l U™ ol S e (A) Ll asill el B)
) eiall Gany S5yl s 45 (5 ppeall 5 4] i 5o LS
BG.

3a pa perynupate BWCOYMHATa Ha MoCTaBKaTta 3a
Kpaka (E) B 3aBMCMMOCT OT BWCOYMHaTa Ha p[AeTeTo,
ocBobofeTe noctaBkata 3a Kpaka (E) or cepankata (A)
ype3 eAHOBPEMEHHO HaTUCKaHe Ha ABaTa ¢ukcatopa u
NoBAMIHETE MOCTaBKaTa 3a Kpaka, KakTo e NMokas3aHo BbB
durypata (moxe aa 6bae HeoOGXOAMMO Aa Ce MPUIOKU
N3BeCTeH HaTUCK).

cs.

Pro nastaveni vysky opérky na nohy (E), ktera vyhovuje
Vasemu ditéti, uvolnéte opérku na nohy (E) ze sedacky (A)
tak, Ze stlacite tlacitka k sobé a zvednete opérku tak, jak je
znazornéno na obrazku (je potreba vynalozit vétsi silu).

32 www.polisport.com

DA.
For at justere fodhvileren (E) til barnets hgjde, loft
fodhvileren (5) af stolen (1) ved at presse de to klemmer
sammen og lgft fodhvileren som vist pa billedet (det kan
eventuelt veere ngdvendigt at presse lidt).
EL.
MNa va puBpioete T0 VYOG TWV OTNPLYUATWY TwV TTOSIWV
(E) mou taipldlel otn owpatiky Siamhacn Tou MaSloU
oag, amodeoueloTe TO OThpypa Twv modiwv (E) and 1o
kabopa (A) cupmélovtag Ta dvo e§aptripata acediong
KAl AVACNKWVOVTAG TO OTHPLYHA TOU TTOSI0U, OTIWG paiveTal
otnV €lkOva (Umopsi va XPEIOOTED va OOKACETE KAmola
miieon).
ES.
Ajustar la altura del reposapiés (E) para que se adapte
al tamano del nifo, soltar el reposapiés (E) de la silla (A)
presionando los dos cierres a la vez y levantar el reposapiés
como estd indicado en la foto (puede ser que al ponerlo se
necesite ejercer algo de presion).
ET
Jalatoe (E) lapsele sobivaks reguleerimiseks laske tugi (E)
istme (A) klljest lahti, surudes kaks kinnitusdetaili kokku
ja tostke jalatugi pildil ndidatud viisil sobivasse kérgusesse
(vajadusel kasutage jéudu).
Fl.
Saada jalkatuen (E) korkeus lapsen kokoon sopivaksi
vapauttamalla jalkatuki (E) istuimesta (A) kahta kiinniketta
yhteen painamalla ja nostamalla jalkatukea kuvassa
osoitetulla tavalla (voit joutua kdyttamaan hieman voimaa).
HE.
W 177127 N7 (B) 72200 92 Tyon naua nx [ud7 '
v n¥'n7A (A) awmnn (B) 72270 92 Tvon X IN1nw, noTY?
ANINND 72710 92 TYOoNn NX INMINI, T '9'7) 1T 009NN 'Y
)12 DWY? NId VYN 7'VON7 DX 'YW DN (MM
HR.
Za podesavanje visine oslonca za noge (E) koji odgovara
veli¢ini vaseg djeteta, otpustite oslonac za noge (E) sa
sjedalice (A) istodobnim pritiskom dva zatvaraca i podiza-
njem oslonca za noge kako je prikazano slikom (mozda ¢e
biti potrebno malo jace uprijeti).



HU.

A gyerekilés ldbtartéjanak a gyerek labméretére torténd
beallitasahoz (E), oldja ki a labtartot (E) a gyerekilésbdl (A)
a két retesz 6sszenyomasaval és emelje feljebb a labtartot
a képen megfelel6 iranyban. (Némi erdkifejtés sziikséges
lehet.)

T

Per regolare correttamente l'altezza dei piedini (E) in base
alle dimensioni del vostro bambino, spostare i piedini (E)
dal seggiolino facendo pressione contemporaneamente
sulle due linguette, sollevando il piedino come indicato
nellla foto.

JP.

7y hLRK (E) ODESZEFIRORBICELE THRE
I BICiE. RICKRENTRY 22BN D KBz BRFICHD
LS| L. ZTYRLAKE) ZY—h (A) MSHUL
THEZTSLEYT (HIEERIBSRVEING
WEEDHDET) o

LT

Norédami nustatyti kédutés kojy atramos (E) aukstj, kuris
baty tinkamas Jasy vaikui, atlaisvinkite kojy atrama (E)
nuo kédutés (A) kartu spausdami abi laikiklio puses bei
kilstelékite atrama kaip parodyta nuotraukoje (gali bati,
kad reikés stipriau kilsteléti atrama, norint ja atlaisvinti).

LV,

Lai mazula augumam atbilstosd augstuma parvietotu
kaju balstus (E), nonemiet tos no sédeklisa korpusa (A),
paspiezot vienu pret otru fikséjosos akus, ka paradits attéla
(tam var bat nepiecieSsama zinama piepule).

NL.

Om de hoogte van de voetsteun aan te passen (E), dient
u de voetsteun (E) los te maken van het stoeltje (A) door
het beugeltje aan de achterzijde aan twee kanten tegelijk
in te duwen, terwijl u met uw andere hand het voetsteuntje
omhoog kunt brengen.

NO.

For & justere hoyden pa fotstatten (E) slik at den passer for
ditt barns sterrelse, frigjor fotstatten (E) fra setet (A) ved a
presse de to strammerne sammen og loft fotstetten som
vist pa bildet (det kan veere nedvendig 3 tilfare litt trykk).
PL.

Aby dostosowac wysokos$¢ oparcia do stop (E) do wzrostu
dziecka, odtacz oparcia stop (5) od fotelika (1) przez
jednoczesne nacisniecie dwoéch mocowan i przesun
oparcia tak, jak pokazano na zdjeciu (moze by¢ potrzebne
zastosowanie pewnego nacisku).

RO.

Pentru reglarea inaltimii suportului pentru picioare (E) in
functie de indltimea copilului dv, desprindeti suportul de
picioare (E) de scaun (A) apasand pe ambele clame deodata
si ridicati scdunelul dupa cum este indicat in imagine
(aplicarea fortei ar putea fi necesara).

RU.

Yro6bl OTperynupoBatb BbicoTy nogHoxku (E) no pocty
pebeHka, ocBobouTe NOJHOKKY (5) OT craeHbA (1), Haxas
OfHOBpPEMEHHO Ha ABa ¢uMKcatopa, W NPUNOAHUMUTE
NOAHOXKY, KakK NMOKa3aHO Ha PUCYHKEe (418 3TOro MoXeT
noTpeboBaTbCA HEKOTOPOE yCunue).

SK.

Pre nastavenie vysky opierky na nohy (E), ktorad vyhovuje
vasmu dietatu, uvolnite opierku na nohy (E) zo sedacky (A)

tak, ze stlacite tlacidla k sebe a zodvihnete opierku, ako je
znazornené na obrazku (je potrebné vynalozit vacsiu silu).

SL.

Ce zelite nastaviti visino opore za noge (E) jo morate
odstraniti s sedeza. S prstisti ene roke stisnite s oba jezicka
opore, z drugo roko pa dvignete kosarico opore in jo
staknite iz leziS¢a. Oporo vtaknite v izbrane odprtiine na
sedezu.

SR.

Da biste podesili visinu drzaca za noge (E) da odgovara
veli¢ini vaseg deteta, odvojte drza¢ noge (E) od sedista (A)
tako $to Cete sa obe strane pritisnuti nosac i podic¢i drzac¢
nogu kao $to je to na slici prikazano (mozda je potrebno
jace pritisnuti).

1)

For att justera hojden pa fotstodet (E) sa att det passar
ditt barn, tryck ihop de tva fastena samtidigt och lyft upp
fotstodet sasom bilden visar (det kan vara nédvéandigt att
anvanda lite kraft).

TR.

Ayak dayama yerinin (E) ytiksekligini cocugunuzun boyuna
gore ayarlamak icin, resimde gosterildigi gibi iki mandala
birlikte bastirarak ayak dayama yerinin (E) koltuktan (A)
serbest kalmasini saglayin ve ayak dayama yerini yukari
kaldirin (biraz basin¢ uygulamak gerekebilir).

UK.

o6 BigperynioBati BucOTy nigHixkok (E) BignosigHo
3pOCTy AWTUHK, NOTPIGHO 3BiNbHUTK NigHiXKM  (E) Big
cnpiHHA (A) HaTUCKaHHAM ABOX dikcaTopiB OfHOYACHO Ta
NiHATY NIGHDKKK TaK, AK Le 306paXxeHo Ha MasioHKy (ans
LibOro NOTPiGHO NPUKNACTY AesKe 3ycunns).

ZH
FRBEEER (B) NSENESAERTFHNEY, &
AN —ER T UMESER (A) ERFEEIER
(QY MERERARTSBEIER (GrEREmLE
E7) o

www.polisport.com 33




14

EN.

To guarantee your child’s safety, adjust the strap (D) of the
foot rest. Unlock the strap (D) and adjust it to the child’s
foot. Lock it again making sure the strap does not hurt the
child.

FR.

Pour garantir la sécurité de I'enfant, ajustez les courroies
de maintien (D) des repose-pieds. Sortez la courroie (D) du
cran d'arrét, et ajustez-la au pied de I'enfant ; fixez-la a nou-
veau en vous assurant qu'elle ne blesse pas I'enfant.

PT.

Para garantir a seguranca da crianga ajuste a abracadeira
(D) do pousa pé. Desprenda a abracadeira (D) do encaixe,
ajuste-a ao pé da crianca e volte a encaixar. Certifique-se
que a fivela ndo se encontra apertada em demasia para néo
magoar a crianga.

DE.

Zum Schutz ihres Kindes, rasten Sie den Sicherheitsriemen
(D) der FuBrasten gut fest. Losen Sie den Sicherheitsriemen
(D) von der Schnalle, straffen sie diese an die Fiile des
Kindes und schnallen Sie den Sicherheitsriemen erneut
fest. Vergewissern Sie sich dass diese nicht zu fest sitzt und
dabei das Kind verletzt.

AR.
085 el ol s "W (D) a2 el el ol 2eY” o
ol oo w8 31 5,0 Jasl Jaldll 03 O e sty (D) a2l
i NV e Y L2

BG.

3a fa ce rapaHTMpa 6e3omMacHoOCTTa Ha BalleTo AeTe,
perynupante pembka (D) Ha nocTaBkaTa 3a Kpaka.
OTkntoyete pembKa (D) 1 ro perynupaiite B 3aBUCUMOCT OT
KpakaTa Ha fleTeTo. 3aK/lloyeTe ro 0THOBO, KaTo ce yBepuTe,
4e peMbKa He HapaHsBa fieTeTo.

cs.

Pro bezpeli ditéte upevnéte pasek (D) stupacky. Pasek
uvolnéte a dotdhnéte podle nohy ditéte. Pasek zamknéte a
ujistéte se, Ze nezplsobi Vasemu ditéti zranéni.

DA.

For at sikre barnets sikkerhed, juster spaendbandet (D) til
fodhvileren. Tag spaendbédndet (D) ud af pladsholderen,
juster det til barnets fod og anbring bandet pa ny i

34 www.polisport.com

holderen. Forvis dig om, at bandet ikke sidder for stramt
om barnets fod, da det kan bevirke smerte.

EL.

Ma v eyyunon ¢ aoedAelag tou maidiol puBuiote
Tov 1pavta ouykpdtnong modwwv (D). Amoouvdéote Tov
IHAvTa ouykpatnong modiv (D), €pappoOOTE TOV OTO
681 Tou maidlov kat KAgioTe Tov favd. BeBawwbeite dT1 TO
KOUHUTWHA ao@aeiag Sev gival umepBOAIKA OQLYHEVO WOTE
va TANywvel to maidi.

ES.

Para garantizar la seguridad del nifo ajuste la abrazadera
(D) del reposapiés. Desprenda la abrazadera (D) del encaje,
ajustela al pie del nifo y vuelva a encajarla. Asegurese de
que la hebilla no se encuentra demasiado apretada para
que no haga dano al nifio.

ET

Et tagada lapse ohutus, kohandage jalatoe kinnitusrihma
(D). Votke kinnitusrihm (D) kinnituse kiljest lahti,
kohandage seda vastavalt lapse jala suurusele ning
kinnitage see uuesti kinnituse kilge. Kontrollige, kas
kinnitusrihm (D) ei ole liialt pingule tdmmatud ja ei tee
lapsele haiget.

Fl.

Varmista lapsen turvallisuus saatamalla jalkatuen remmia
(D). Avaa remmi ja sdada se lapsen jalkaan sopivaksi.
Kiinnita remmi uudelleen varmistaen, etta remmi ei satuta

lasta.
HE.
NVIIN DX IN'RNN, DDT?' ¢ ININ'02 IR N'0aNY7 ' 1)
(D)nvIxn N7YINR NINY. 7200 92 Tvon 7w(D)
NVININ DX 1D 770 %0 1920 997 ANk RNl
77 N2'RON NIR RY ITPORNE MNTN
HR.

Za potpunu sigurnost djeteta podesite traku (D) na osloncu
za noge. Otkopcajte traku (D) i podesite je prema djecjoj
nozi. Ponovno pricvrstite traku tako da nije neudobna za
dijete.

HU.

Gyermeke biztonsaga érdekében kosse be a labtarté (D)
pantjat. Oldja ki a (D) pantot az eresztékbdl, igazitsa azt a
gyermek labahoz, majd rogzitse ismét. Gy6z6djon meg



arrél, hogy nem kapcsolta-e tul szorosra a csatot, hogy ne
okozzon fajdalmat gyermekének.

T

Per garantire la sicurezza del vostro bambino, sistemare il
cinturino (D) del piede del seggiolino. Aprire la connessione
ed adattarla al piede del bambino. Chiudere il cinturino
plastico assicurandosi che non faccia male al bambino.

JP.

BFHRORLZWFET 2HIc. 7Y RLRAMDZ K
Zv7D) ZARBMLTLLEEW, ATV T (D) &—
BAUTHESEFRORBICEDETHSELET, R
KoY IDEFRORBEMOMIFTBERVLS TER
<IEEW,

LT

Kad garantuotuméte savo vaiko sauguma, pritvirtinkite
kojy atramy dirzelius (D). Atlaisvinkite dirzelius ir apjuoskite
jais savo vaiko pédas. UZfiksuokite dirzelius taip, kad jie
nekelty nepatogumo Jasy vaikui.

LV,

Lai garantétu mazula drosibu, pienacigi noreguléjiet kaju
balstu saites (D), atspradzéjot un pielagojot tas atbilstosi
pédas lielumam. Péc piespradzésanas parliecinieties, ka
saites nenodara sapes mazulim.

NL.

Voor de veiligheid van uw kind, pas het riempje (D) van de
voetsteun zo aan dat de voet van uw kind er goed inpast,
maar zonder dat het pijn doet.

NO.

For & sikre barnets sikkerhet, juster stroppen (D) pa fotstot-
ten. Ta stroppen (D) ut av plassholderen og juster den for
barnets fot. Forsikr deg om at stroppen ikke sitter for stramt
for ikke & pafere barnet smerte.

PL.

Aby zapewni¢ dziecku bezpieczenstwo, nalezy dopasowac
paski zabezpieczajace (D) odpinajac paski od oparcia i
dostosowujac do stopy dziecka. Nalezy sie upewni¢, ze
paski nie przeszkadzaja i nie rania dziecka.

RO.

Pentru a garanta siguranta copilului dv, ajustati curelusa
(D) suportului de picioare. Desprindeti curelusa (D) din
inchizatoare si potriviti-o pe piciorul copilului. inchideti-o
din nou asigurandu-vd ca respectiva curelusd nu
incomodeaza copilul.

RU.

[inA Toro, 4To6bl rapaHTMpOBaTb 6e30MacHOCTb pebeHkKa,
oTperynupyite pemewok (D) nopctaBks [nAa  Hor.
OtcterHute pemelwwok (D), obsegute BOKPYr CTYMHU
pebeHka W CHOBa 3aKpenuTe. YgocToBepbTecb, UTO
peMeLLOK He CIILLIKOM HaTAHYT 1 He JaBUT PebeHKy.

SK.

Aby dieta sedelo bezpecne, zatiahnite aj pasy (D) na
opierkach na nohy. Uvolnite pés a prisposobte ho nohe
dietata, uzatvorte ho a uistite sa, Ze dietatu neblizi.

SL.

Za najve¢jo mero varnosti morate pred voznjo pritrditi
Se otrokove noge. S tem poskrbite, da nebi prisle v stik z
vrtec¢imi deli kolesa. Odpnite trak kosarice za noge (D). Trak
mora pritrditi nogo na kosarico trdno, vendar ne premocno,
da ne poskodujete otroka.

SR.

Da biste zasigurali bezbednost vaseg deteta, podesite vez
(D) drzaca za noge. Otkopcajte vez (D) i prilagodite ga de-

tetovoj nozi. Ponovo ga zakopcajte vodedi racuna da vez ne
povredi dete.

1)

For att garantera ditt barns sékerhet, justera remmen (D) pa
fotstodet. Lossa remmen och anpassa den efter barnets fot.
Spann fast den igen och se till att den inte skadar barnet.
TR.

Cocugunuzun guvenligini garanti etmek icin ayak
dayama yerinin kayisini (D) ayarlayin. Kayisi (D) acin ve
cocugun ayagina gore ayarlayin. Kayisin cocugun canini
yakmadigindan emin olarak tekrar kilitleyin.

UK.

LWo6 rapaHTyBaTM 6e3neky Bawoi AuTWHW, NOTPiGHO
BigperynioBatm nacku nigHixkok (D). [nA BMKOHaHHA
Lboro NoTpibHO BiAcTebHYTM nNacok (D) Ta BigperynioBatu
NOro BiAHOCHO CTYMHi AWTUHW, NOTIM 3acTebHYTM Ta
NepeKoHaTHCA, WO NACOK He CNPUUYMNHAE GONICHUX BiAUYTTiB
OUTVYHI.

ZH
MHREBEFNRE, CERBIFERRT D) . #

FREIRT (D) FRHBSIERFREMORY. M
EBYERY, BRRFFASUBRTFRIGE,

www.polisport.com 35




15

f 13mm

EN.
To remove the baby seat from the luggage carrier fixing base (1), remove nut M8 (N) from bolt M8x25 (M). Next, pull the
baby seat upwards and remove it from the luggage carrier’s fixing pins (O).
FR.
Pour retirer le siége bébé de la Base de fixation au porte-bagages (1), desserrez I'Ecrou M8 (N) de la Vis M8x25 (M). Tirez
ensuite le siége bébé vers le haut et vers I'avant et libérez-le des Vis de fixation du porte-bagages (O).
PT.
Para remover o porta-bébe, puxe para cima e para a frente, libertando-o dos pinos de fixacao (O) da base de fixagdo ao
porta bagagem.
DE.
Um den Kindersitz vom Gepacktrédger-Halteblock (I) abzunehmen, entfernen Sie die M8-Mutter (N) vom M8x25-Bolzen
(M). Ziehen Sie als Néachstes den Kindersitz nach oben und entfernen Sie ihn von den Gepacktrager-Befestigungsstiften
(0).
AR.
Vol A Jold ] e Connttd] molas 10 a5l eI I JGBYT S ol (). . M8X25 ( &l 0) o M8 (u}lvl)‘d (G Lald AL ol e contdl a6 e ;,af;!lt;)
BG.
3a Aa ce OTCTPaHM JETCKOTO CTOMYE OT OCHOBATA 3a MPUKpenBaHe KbM 6araxkHuka (1), oteuinte M8 raikarta (N) ot 6ont M8x25
(M). Cnep ToBa ApbMHeTe AETCKOTO CTONUE HAarope 1 ro OTCTpaHeTe OT WndToBeTe 3a 3aKpensaHe KbM 6araxHuka (O).
cs.
Chcete-li sejmout détskou sedacku z upeviiovaci zakladny zavazadlového nosice (1), sejméte matici M8 (N) ze Sroubu
M8x25 (M). Dal vysurite détskou sedacku nahoru a sejméte ji z upevrovacich kolikl zavazadlového nosice (O).
DA.
For at fierne barnesaedet fra bagagebareren fastgerelsesbase (I), flern M8 (N) fra bolt M8x25 (M). Dernaest traekkes
barnesaedet opad og flern det fra bagage bagagebaereren fastgerelsestifter(O).
EL.
lMNa va agaipéoete 1o madikd kabiopa amoé ) BAcn MPOCAPHOYNE TNG oxdpag amookeuvwy (1), agaipéote To magipadt M8
(N) amé to pmouAdvt M8X25 (M). Xtn cuvéxela Tpapnte To matdikd KABiopa mpog Ta Mdvw Kal aPalpECTE TO amd Toug
a&oveg mpooapuoyn¢ TNG oxdpag amookeuwv (O).
ES.
Para quitar el asiento del bebé de la base de fijacion al portaequipajes (1), quite la tuerca M8 (N) del tornillo M8x25 (M). A
continuacion, tire del asiento del bebé hacia arriba y retire los tornillos de la base de fijacion al portaequipaje (O).
ET
Lapseistme eemaldamiseks pagasikanduri kinnitusaluselt (1), eemaldage mutter M8 (N) poldilt M8x25 (M). Seejarel tdm-
make lapseistet llespoole ning eemaldage see pagasikanduri kinnitusnéeltelt (O).
Fl.
Kun poistat lastenistuimen tavaratelineen kiinnityspohjasta (1) poista ruuvi M8 (N) pultista M8 x 25 (M). Seuraavaksi veda
lastenistuimen ylospadin ja irrota se tavaratelineen kiinnitysnastoista. (O).
HE.

K 71WN, 12 INK M8 (M). DINN X 100 (1), (VO XY 79 Y12'P0 0'01N PIPNN AWIN DK 1'on7 ' 1)

(0).]yunin KU ¢ NNVIAXRN '7'9N NI TN N72YN '9'D PIrNN AVIN

36 www.polisport.com



HR.

Za skidanje sjedala s postolja na nosacu (I), maticu M8 (N) skinite s vijka M8x25 (M). Zatim sjedalo povucite prema gore i
skinite ga s umetaka (O).

HU.

A gyermekiilés rogzitékeretrdl (1) torténd leszereléséhez, csavarja le az M8 anyat (N) az M8x25 csavarrdl (M). Ezutan tolja
felfelé a gyermekilést, és vegye le a csomagtarto rogzitécsapjairol (O).

T

Per togliere la seduta dalla base di fissaggio del portapacchi (1), rimuovere il dado M8 (N) dalla vite M8x25 (M). Poi, tirare
verso l'alto la seduta e toglierla dai ganci di fissaggio al portapacchi (O).

JP.

NE=Y—hEF v UTPR=Z()NSEDITERIF. MBDF v~ (NZMBXx25DRIL & (MDA SIRWTL
W, ZLT ANE=Y—hZLEICSIZELF. Fr UTPREEYO)NSIKREMDINL T EE W,

LT

Norédami nuimti kadikio sédyne nuo tvirtinimo prie bagazinés pagrindo (I), nusukite M8 verzle (N) nuo M8 x 25 varzto
(M). Tada patraukite kadikio sédyne aukstyn ir nuimkite nuo tvirtinimo prie bagazinés kaisciy (O).

LV,

Lai iznemtu bérnu sédekliti no bagaznieka stiprinajuma bazes (1), noskraveéjiet uzgriezni M8 (N) no skraves M8x25 (M). Péc
tam sédekliti pavelciet uz augsu un nonemiet to no bagaznieka stiprinajuma tapam (O).

NL

Om het kinderzitje te verwijderen van het bagagedrager montage platform (I), verwijdert u moer M8 (N) van bout M8x25
(M). Trek daarna het kinderzitje naar boven en maak het los van de bagagedrager montageschroeven (O).

NO.

For & fierne babysetet fra bagasjebrettets festebase (1), flerner du mutteren M8 (N) fra bolten M8x25 (M). Deretter trekker
du babysetet oppover og flerner det fra bagasjebrettets festepinner (O).

PL.

Aby usunac fotelik dzieciecy z podstawy mocujacej na bagaznik (1), zdja¢ nakretke M8 (N) ze sruby M8x25 (M). Nastepnie
wyciggnac fotelik do géry i wyjac¢ go z kotkéw mocujacych do bagaznika (O).

RO.

Pentru a scoate scaunul pentru copil de pe suportul de fixare pe portbagaj (I), desurubati piulita M8 (N) de pe surubul
M8x25 (M). Apoi trageti scaunul pentru copil in sus si scoateti-l din stifturile pentru fixarea de portbagaj (O).

RU.

[inA Toro yTo6bl CHATL AETCKOE CMAEHbE C ONOPbI AN KpenneHna Ha 6araxkHuke (1), cHumuTe ranky M8 (N) c 6onta M8x25
(M). 3aTem NOTAHWTE AETCKOE CUAEHbE BBEPX U CHMWTE €ro €O WTbipen Ana dukcauum Ha baraxHuke (O).

SK.

Ak chcete detsku sedacku uvolnit z montazneho podstavca nosica (1), odskrutkujte maticu M8 (N) zo skrutky M8x25 (M).
Dalej potiahnite detsku seda¢ku smerom nahor a oddelte ju od fixaénych kolikov nosi¢a (O).

SL.

Ce zelite odstraniti otroski sedez s podstavka za pritrditev na prtljaznik (I), odstranite matico M8 (N) z vijaka M8 x 25 (M).
Nato povlecite otroski sedez navzgor in ga iztaknite s pritrdilnih zaticev prtljaznika (O).

SR.

Da uklonite decije sediste sa montazne osnove prtljaznika (I), uklonite navrtku M8 (N) sa zavrtnja M8x25 (M). Zatim, povu-
cite decije sediste nagore i skinite ga sa montaznih osovinica prtljaznika (O).

)"

For att ta bort barnstolen fran monteringsbasen pé pakethallaren (1) skruvar du forst av M8-muttern (N) frén bulten (av
typ M8x25) (M). Dra sedan barnstolen uppét och lyft av den fran pakethallarens monteringspinnar (O).

TR.

Bebek koltugunu bagaj tasiyici sabitleme althgindan (I) sokmek icin M8 somunu (N) M8x25 civatadan sokin (M).
Sonrasinda, bebek koltugunu yukari dogru ¢ekin ve bagaj tasiyicisi sabitleme pimlerinden (O) ¢ikartin.

UK.

o6 3HATW AnTAYE CMAIHHA 3 OCHOBW KpinneHHa fo 6araxHuky (1), BigkpyTiTb raiky M8 (N) 3 6onty M8x25 (M), noTArHiTh
CUAiHHA BBEPX i Ha3aA i 3HIMITb oro 3 WTNPTIB KpinneHHa 6araxkHuky (O).

ZH.

BENMNTEREERE () EETE/LER, 5% M8 128 (N) B M8X25 #ie (M) LT, AEEEILE
wE b, FMTERNEEH (0) EET,

www.polisport.com 37




EN.
When riding without the seat on, the base doubles as a prac-
tical object carrier with the help from its straps.
FR.
Si vous roulez sans le siege, vous pourrez utiliser la Base de
fixation au porte-bagages comme un porte-accessoires, a
I'aide de ses sangles.
PT
Quando remover o porta-bebe, podera utilizar a base de fixa-
¢&0 ao porta-bagagens como um porta-objectos.
DE.
Beim Fahren ohne den Kindersitz dient der Halteblock durch
seine Gurte auch als praktischer Trager.
AR.
UsS il 5426 s ‘g«,ﬁ\ 25 05 der Ll Jloaal e
Lo Uypl 1 2o VU BlazaV dsls (oL Jod Bdas
BG.
KoraTo kapame Benocvneaa 6e3 CToNYeTo fja € BbpXy Hero,
OCHOBATa V3MbJIHABA ABOWMHA POSIA KAaTO NPaKTUYEH HOCUTEN
C NomoLLYTa Ha CBOMTE PEMBLN.
cs.
P¥i jizdé bez pfimontované sedacky se zékladna zdvojnasobi
a je z ni prakticky nosi¢, u néhoz se daji pouzivat popruhy.
DA.
Nar du kerer uden sadet, fordobler basen som en praktisk
objekt baerer ved hjaelp af sine stropper.
EL.
‘Otav odnysite Xwpig To KAOIOPA, N BAon emeKTEIVETAL WG pia
TIPOKTIKH OXAPA HETAPOPAG AVTIKEIMEVWVY HE
™ otiPIEN TWV IHAVTWV.
ES.
Cuando conduzca sin el asiento, la base funcionard como un
practico portaobjetos con ayuda de las correas.
ET
Istmeta séitmisel saab alust koos rihmadega kasutada prak-
tilise pagasialusena.
FI.
Kun pyoriilet ilman istuinta, pohja kaksinkertaistuu toimi-
vaksi telineeksi hihnojen ansiosta.
HE.
NXWI17 79710 0'010, 2AWINN 72 021N TWUKD
IV MTYA 7vin 0'Yon

38 www.polisport.com

HR.

Kada se postolje koristi bez sjedala, prakti¢no je za nosenje
drugih stvari uz pomo¢ remenja postolja.

HU.

Amikor az Ulés nincs felszerelve a kerékparra, a keret — heve-
dereinek készonhetben - targyak széllitdséra is praktikusan
hasznélhato.

IT.

Quando viene tolta la seduta, la base ha anche la funzione di
pratico portaoggetti grazie alle fascette.

JP.

V=M RUTETIBRIC. ANSYT=2FERTRE
TR—RZFr U 7EULT. AYPORKEENICSFIAL
RRITEYS,

LT

Vazinéjant be sédynés, pagrindg galima naudoti ir kaip
praktiska daikty laikiklj su dirzeliais.

LV

Braucot bez sédeklisa, baze ir salokama ka praktisks
priek$metu parvadatajs ar tas siksnu palidzibu.

NL

Indien u geen kinderzitje gebruikt, kan het montage plat-
form dienen als een praktische bagagedrager met behulp
van de bijhorende riempjes.

NO.

Nar du sykler uten babysetet, kan festebasen ogsa brukes
som en praktisk objekttransporter ved hjelp av stroppene.
PL.

Podczas jazdy bez zamontowanego fotelika podstawa,
przy wykorzystaniu jej paskow, moze stuzy jako praktyczny
bagaznik.

RO.

Cand circulati fara a avea scaunul montat, suportul de pe
portbagaj poate deveni un element practic pentru transpor-
tul de obiecte cu ajutorul chingilor acestuia.

RU.

Mpn e3ge 6Ge3 cufeHbA oOMopa CAYXMT B KauyecTBe
NPaKTUYHOTO NPUCMOCOGNEHUA ANA NEPEBO3KN NPeAMETOB
6narofapa GUKCUPYIOLWMM PEMHAM.

SK.

Pri jazde bez nasadenej sedacky mozno podstavec vyuzit
spolu s jeho popruhmi ako nosi¢ predmetov.

SL.

Pri vozniji s kolesom brez pritrjenega otroskega sedeza lahko
podstavek uporabljate kot prakti¢ni prtljaznik za prevazanje
stvari, ki jih pritrdite z jermenoma.

SR.

Kada vozite bez sedista, osnova sluzi kao praktic¢an nosac za
predmete uz pomoc¢ kaiseva.

1A

Nar du cyklar utan barnstol kan du dven anvdnda basen som
en praktisk hallare for foremal med hjélp av remmarna pa
basen.

TR.

Koltuk takili olmadiginda suriis yaparken, kayislarin da
yardimiyla kullanigli bir nesne tasiyicisi olan althgin tasima
kapasitesi ikiye katlanir.

UK.
OCHOBY KpIMneHHA CUAIHHA B0 6GarakHNWKY MOXHa TaKoX
BMKOPUCTOBYBaTW ~ ANA  MNepeBe3eHHA  Pi3HOMAHITHUX

npeameTiB, 3aKpiNMBLLN iX 3a JOMOMOroK pemeHiB.

ZH.

BIINEARERRE)LER, ZREMESH TR MR
ESCRREMIESR.



MAINTENANCE
To keep the baby seat in good working conditions and to prevent
accidents we recommend the following:

- Check regularly the mounting system of the seat to the bicycle
in order to make sure it is in perfect condition.

- Check all the components to see if they work properly. Do not
use the seat if any of the components is damaged. Damaged
components must be substituted.

- Clean the seat with soap and water (do not use abrasive, corro-
sive or toxic products).

SAFETY INSTRUCTIONS AND WARNINGS

« The rider must be at least 16 years of age;

« The baby seat is only suitable for transport children with a max-
imum weight of 48.5 Ibs / 22 kg, with an age limit of 5 years.
Check the child's weight regularly and do not carry a child that
weighs more than this.

« Do not carry a child less than 12 months of age, in this baby seat.
To be a passenger, the child must be able to sit up straight with
the head held upright while wearing a bicycle helmet. A doctor
should be consulted it the child’s growth in questionable.

WARNING: For safety reasons this seat shall only be fitted to lug-
gage carriers conforming to EN14872.

« Check if all parts of the bicycle function correctly with the baby
seat mounted.

« Do notinstall this baby seat on a racing bicycle (drop handlebar).

« Secure the child on baby seat ensuring that all the safety belts
and straps applied firmly but not so tight as to cause discomfort
to the child;

« Make sure the seat stays slightly reclined towards the back and
not towards the front, to avoid the child from slipping.

« The baby seat must never be used before adjusting the safety belt.

WARNING: Additional security devices shall always be fastened.

« Do not allow any part of the child’s body or clothing, shoelaces,
baby seat belts, etc. to come in contact with moving parts of the
bicycle because can be harmful to the child or cause accidents.

« A wheel protector is recommended to prevent the child from in-
serting its feet or hands between the spokes. The use of protec-
tion underneath the saddle or the use of a saddle with internal
springs is mandatory. Make certain that the child is not able to
hinder the brakes, thus avoiding accidents. These adjustments
should be revised with child’s growth.

« Dress the child with proper clothes according to weather condi-
tions and use an appropriate helmet.

« The children in seats need to be more warmly clothed than rid-
ers of cycles and should be protected from rain.

« When the baby seat is not in use, fasten the waist buckle of the
security harness to prevent the straps from dangling and enter-
ing in contact with some turning part of the bicycle as wheels,
brakes, etc. as these may be a hazard to the cyclist.

WARNING: Do not attach additional luggage to the child carrier.

WARNING: Do not modify the seat.

« If you carry additional luggage its weight must not exceed the bicycle’s
carrying capacity and it must be carried in front of the rider.

WARNING: The cycle may behave differently with a child in the
seat particularly with regard to balance, steering and braking.

WARNING: Never leave the cycle parked with a child in the seat
unattended.

« Check the screws regularly and replace any when required.

WARNING: Do not use the seat if any part is broken.

« The position of the baby seat must be adjusted so that the bicycle rider
does not touch the baby seat with the feet when in motion.

« The weight of the rider and the child carried must never be more
than the maximum load allowed for the bicycle. Check the bicy-
cle instructions manual on the bicycle supplier to make sure if
the bicycle supports this additional load.

« You must cover any sharp or pointy object of the bicycle that
may be reached by the child.

« The seat and cushion can get hot if under the sun for a long
time. Make sure that they aren't too hot before seating the child.

« When transporting the bike on luggage racks or bicycle racks on
the car roof or boot door, always take the child seat off the bike.
The drag could damage it or tear it off the baby seat.

« Check that the seat functions correctly when mounted.

« Check the laws and regulations in your country, related to carry-
ing children in seats attached to cycles in force.

« Carry only children that are able to sit unaided for a longer pe-
riod of time, at least as long as the intended cycle journey.

« [t’s very important to adjust correctly the seat and its compo-
nent parts for optimum comfort and safety of the child. It’s also
important that the seat does not slope forwards, so that the
child does not tend to slide out of it. It’s also important that the
backrest slope backwards slightly.

ENTRETIEN

Pour garantir un bon fonctionnement et éviter des accidents, nous

vous recommandons de:

- De vérifier régulierement sile systeme de fixation du porte-bébé
a la bicyclette se trouve en bonnes conditions.

- D'inspecter toutes les pieces en vérifiant leur bon foncti-
onnement. N'utilisez pas le porte-bébé si I'une des piéces est
endommagée. Toute piece défectueuse devra étre remplacée.

- De vérifier la propreté du porte-bébé ; lorsquiil est sale, lavez-le
avec de I'eau et du savon (n'utilisez pas de produits abrasifs, corrosifs
ou toxiques) et laissez-le sécher a température ambiante.

INSTRUCTIONS DE SECURITE ET AVERTISSEMENTS

« Le conducteur de la bicyclette doit étre agé de 16 ans au moins.

« Ce porte-bébé n'est prévu que pour le transport d'enfants d'un
poids maximum de 22 kg et agés au plus de 5 ans. Vérifiez le
poids de I'enfant avant tout usage du siege. N'utilisez en aucun
cas ce siége pour des enfants dont le poids est supérieur aux
limites fixées.

« N'utilisez pas ce siége pour des enfants de moins de 12 mois.
Pour circuler comme passager, I'enfant doit pouvoir sasseoir
avec le dos en position verticale et la téte droite lorsqu'il porte
un casque de protection. Consultez un médecin si I'enfant
présente des problémes de développement.

AVERTISSEMENT: Pour des raisons de sécurité, ce siége ne doit
étre fixé qu'aux porte-bagages conformes a la norme EN14872.
« Vérifiez que tous les éléments de la bicyclette fonctionnent

correctement lorsque le porte-bébé est monté.

« N'installez pas ce siége sur un vélo de course (guidon bas).

« Attachez I'enfant au siége en vous assurant que les ceintures de
sécurité et les courroies sont bien en place et correctement serrées
(sans exceés toutefois, afin que I'enfant n'éprouve aucune géne).

« Assurez-vous également que le siege est [égérement incliné vers
I'arriere et non vers l'avant, afin que I'enfant ne glisse pas.

« N'utilisez jamais le siege d'enfant avant d'avoir ajusté la ceinture
de sécurité.

AVERTISSEMENT: Fixez toujours les dispositifs de sécurité
supplémentaires.

« Vérifiez qu’en toutes circonstances aucune partie du corps de
I'enfant ou de ses vétements (lacets, ceintures de sécurité, etc.)
ne puisse se trouver en contact avec une partie mobile de la
bicyclette, ce qui pourrait blesser I'enfant ou provoquer un accident.

« Nous vous recommandons d'installer une protection sur la roue
afin d'éviter que I'enfant ne mette ses pieds ou ses mains dans
les rayons. L'utilisation d'une protection sous la selle ou d'une
selle dotée de ressorts internes est obligatoire et vous devrez
vous assurer que l'enfant n'a pas accés a la zone des freins pour
éviter tout accident.

www.polisport.com 39




PT

« Habillez votre enfant avec des vétements chauds et équipez-le
d'un casque approprié.

« Les enfants assis sur les siéges doivent étre plus chaudement
vétus que les conducteurs, ils doivent également étre protégés
de la pluie.

« Lorsque le siege n'est pas utilisé, bouclez la ceinture du harnais
de sécurité : les boucles pendantes peuvent entrer en contact
avec des parties mobiles (roues, freins, etc) et présentent un
danger pour le cycliste.

AVERTISSEMENT: N'ajoutez pas de bagage supplémentaire au siége.

AVERTISSEMENT: Ne modifiez pas le siége ;

« Si vous transportez un bagage supplémentaire, celui-ci ne
doit pas dépasser la capacité de charge du vélo et doit étre
transporté a l'avant.

AVERTISSEMENT: La bicyclette peut avoir un comportement
différent lorsque le siege est occupé ;

AVERTISSEMENT: Ne jamais laisser la bicyclette garée avec un
enfant dans le siege sans surveillance ;

« Vérifiez réguliérement I'état des vis et remplacez-les si besoin est.

AVERTISSEMENT: N'utilisez jamais le porte-bébé si I'une de ses
pieces est défectueuse ou endommagée.

« La position du siege d'enfant doit étre ajustée afin que le
conducteur ne le touche jamais avec les pieds lorsqu'il pédale.

« Le poids cumulé du conducteur et de I'enfant ne doit jamais

excéder la charge maximum autorisée pour votre bicyclette.
Vérifiez dans le manuel de votre bicyclette ou aupreés de votre
revendeur que cette charge supplémentaire est supportée.

« Veillez a protéger tout élément pointu de la bicyclette pouvant
étre atteint par I'enfant.

« Le siége et le rembourrage peuvent étre trés chauds s'ils sont
exposés longtemps au soleil : assurez-vous qu'ils ne sont pas
brélants avant d'asseoir 'enfant.

« Lorsque vous transportez la bicyclette sur le porte-bagages
d'une voiture ou au moyen d'un porte-vélo sur hayon, retirez
toujours le porte-bébé : le vent pourrait I'endommager ou
méme l'arracher.

« Vérifiez que le porte-bébé fonctionne correctement une fois monté.

« Vérifiez les lois et reglements en vigueur dans votre pays
concernant le transport d'enfants a bicyclette.

« Transportez uniquement les enfants pouvant rester assis, sans
aide, pendant un long moment, au moins durant le cycle de
voyage envisagé.

« |l est treés important de régler correctement le siége et ses
composants afin d'offrir a I'enfant une sécurité et un confort
optimal. Il est également important que le siége ne soit pas
incliné vers l'avant afin d'éviter que I'enfant ne glisse hors du
siege. Il est également important que le dossier soit [égérement
incliné vers l'arriere.

MANUTENGAO

Para boas condicoes de funcionamento e para prevenir acidentes

recomendamos o seguinte:

- Verifique regularmente o sistema de fixacdo do porta bebé a
bicicleta se encontra em perfeitas condigoes.

- Inspeccione todos os componentes verificando se trabalham
eficazmente e ndo use o porta bebé se algum dos componen-
tes estiver danificado. As partes danificadas devem ser sempre
substituidas.

- Inspeccione a limpeza do porta bebé e quando sujo lave-o com
agua e sabdo (ndo use abrasivos, corrosivos ou produtos toxi-
cos), deixando-o secar a temperatura ambiente.

INSTRUGOES DE SEGURANGA E AVISOS

« O condutor deve ter no minimo 16 anos de idade.

« Este porta bebé apenas é adequado para o transporte de crian-
gas com um peso maximo de 22 kg até aos 5 anos de idade.
Verifique o peso da crianga antes de utilizar o porta bebé. Em
circunstancia alguma deve utilizar o porta bebé para transportar
uma crianga com um peso superior ao limite admissivel.

« Nunca transporte criangas com idades inferiores a 12 meses de
idade neste porta bebé. Para poder ser transportada a crianca
deve conseguir manter-se sentada, com a cabeca equilibrada
sem esforco e com a cabeca protegida com um capacete de
bicicleta. Deve consultar um médico se a crianga apresentar um
crescimento questionavel.

AVISO: Por razbes de seguranga, este assento deve ser apenas
fixo aos porta-bagagens conformes com a norma EN14872.

« Verifique se todas as partes da bicicleta funcionam conveniente-
mente com o porta bebé montado.

« Nunca instale este porta bebé numa bicicleta de corrida.

« Apos colocar a crianga no porta bebé deve, obrigatoriamente,
ajustar de imediato todos os cintos e abragadeiras sem contudo
incomodar ou magoar a crianca.

« Assegure-se que o porta bebé fica ligeiramente inclinado para
tras e nao para a frente, para a crianca ndo escorregar.

AVISO: Os dispositivos de seguranga adicionais devem estar sem-
pre fixos.

« Nunca deve utilizar o porta bebé sem antes ajustar o cinto de
seguranca.

« Nao permita que nenhuma parte do corpo, roupa, atacadores
dos sapatos da crianca ou cintos do porta bebé, etc. fique em

40 www.polisport.com

contacto com qualquer parte movel da bicicleta, pois pode ferir
a crianga ou provocar acidentes graves.

« Aconselha-se o uso de uma protecgéo na roda para evitar que a
crianca insira pés e maos nos raios. £ obrigatério o uso de uma
proteccao por baixo do selim ou um selim com molas internas
e assegurar-se que a crianca ndo acede a zona dos travoes de
maneira a prevenir acidentes. Estes ajustes tém que ser revistos
com o crescimento da crianca.

« Aconselha-se vestir a crianga com roupa adequada as condigoes
climatéricas, assim como o uso de um capacete de protec¢ao;

« A crianga transportada no porta-bébé deverd estar melhor
agasalhada do que os ciclistas adultos, e protegida devidamente
da chuva.

« Aperte todos os cintos mesmo quando nao transporta nenhuma
crianga. Evitando assim que as fivelas andem a balancar e en-
trem em contacto com alguma parte movel da bicicleta, travoes,
ou rodas, pois podem causar acidentes;

AVISO: Nao colocar nenhum tipo de bagagem adicional no assento.

AVISO: Nao modificar o assento.

« Se transportar bagagem suplementar, esta ndo deve ultrapas-
sar a capacidade de carga da bicicleta e deve ser transportada
a frente do condutor.

AVISO: A biclicleta pode ter um comportamento diferente quan-
do a crianca esta sentada, em particular no que se refere ao equi-
librio, controlo da direc¢ao e travagem.

AVISO: Nunca deixe a bicicleta estacionada com a crianga la sen-
tada e sem vigilancia.

« Verifique regularmente o estado dos parafusos e substitua-os se
necessario.

AVISO: Nao utilizar o assento se alguma parte deste estiver par-
tida ou danificada.

« A posicao do porta bebé devera ser regulada de maneira a que
o condutor ndo toque com os pés no porta bebé quando em
andamento.

« O peso do condutor e da crianga transportada nunca deve su-
perar a carga maxima admitida para a sua bicicleta. Verifique o
manual de instrugdes ou consulte o fabricante para verificar se a
sua bicicleta suporta este peso adicional.

« Proteja qualquer objecto pontiagudo da estrutura da bicicleta
que possa em qualquer situagdo ser alcancado pela crianca.

« Verificar a temperatura do porta bebé depois de uma longa ex-
posicao ao sol, pois pode estar quente e queimar a crianca.



« Se transportar a bicicleta no tejadilho duma viatura devera retirar
0 porta bebé a fim de evitar possiveis danos ou evitar ser arran-
cado da bicicleta pela turbuléncia do ar.

« Verifique se o porta bebé funciona correctamente depois de montado.
« Verifique se no pais em que utiliza o porta bebé existem leis es-
pecificas sobre o transporte de criangas em porta bebés.

PFLEGEANLEITUNG
Zum Erhalt der Schutzwirkung und um Unfdlle zu verhindern,
empfehlen wir folgendes:

- Kontrollieren Sie regelmafBig ob das Fixierungssystem des Kin-
dersitzes am Fahrrad einwandfrei funktioniert.

- Uberprifen Sie alle wichtigen Teile auf Beschadigungen und
benutzen Sie nie den Kindersitz mit defekten Teilen. Ersetzen Sie
immer beschédigte Teile des Fahrradkindersitzes.

- Die Kunststoffteile kénnen Sie mit einer Seifenlésung abwa-
schen. Keine aggressiven Mittel (wie z.B. Losungsmittel, Schleif-
mittel, Atzmittel oder andere Chemikalien) verwenden, lufttrock-
nen lassen.

SICHERHEITSHINWEISE

« Das Mindestalter fir den Fahrer des Fahrrads betragt 16 Jahre;

« Der Kindersitz wurde speziell fur die Beférderung Kindern mit
einem Gewicht von max. 22 Kg und einem Alter von max. 5
Jahren entwickelt. Uberpriifen Sie regelmafig das Gewicht Ihres
Kindes. Kinder mit einem Gewicht von tber 22 Kg durfen nicht
beférdert werden.

« Kinder im Alter von unter 12 Monaten ddrfen nicht im Kindersitz
beférdert werden. Es dirfen ausschlieBlich solche Kinder befor-
dert werden, die in der Lage sind, gerade zu sitzen und den Kopf
beim Tragen des Schutzhelms in aufrechter Position zu halten.
Bei Zweifeln hinsichtlich des Entwicklungsstadiums des Kindes
sollte ein Arzt zu Rate gezogen werden.

WARNUNG: Aus Sicherheitsgrinden darf dieser Sitz nur auf Ge-
packtragern montiert werden, die der EN14872 entsprechen.

« Uberprifen Sie nach der Montage des Kindersitzes das korrekte
Funktionieren aller Bestandteile des Fahrrads.

« Den Kindersitz nicht auf Rennrader (mit nach unten gerichtetem
Lenker) montieren.

« Vergewissern Sie sich, dass alle sicherheitsrelevanten Gurte und
Riemen straff ansitzen, jedoch ein bequemes Sitzen weiterhin
gewahrleistet ist;

« Die Lehne des Kindersitzes sollte leicht nach hinten gekippt sein,
um ein Herausrutschen des Kindes auszuschlieRen.

« Vor Gebrauch des Kindersitzes unbedingt den Sicherheitsgurt
anpassen.

WARNUNG: Zusatzliche Sicherheitsbefestigungen mdussen im-
mer angebracht werden.

« Stellen sie sicher, dass es fur kein Korper- oder Bekleidungsteil
des Kindes maoglich ist, in Kontakt mit beweglichen Teilen des
Sitzes oder Fahrrads zu kommen, und uberpriifen sie diesmit
den wachsen des kindes. Es Konnen die FuBe des Kindes in die
Speichen geraten und die Finger in den Bremsmechanismus
und in die Sattelfedern;

« Das Kind muss mit auf die Wetterverhdltnisse abgestimmter
Kleidung und einem passenden Schutzhelm ausgestattet sein.

« Das Kind im Sitz soll warmer als der Fahrer gekleidet sein und vor
Regen geschutzt werden.

« Wenn der Kindersitz nicht benutzt wird, muss der gurt geschlos-
sen sein, damit dieser nicht herunterhangt und mit den beweg-
lichenTeilen des Fahrrads wie Rédern, Bremsen etc. in Berihrung
kommt und somit eine Gefahrenquelle fir den Fahrradfahrer
darstellt.

WARNUNG: Befestigen Sie kein zusatzliches Gepéck an dem
Kindersitz.

WARNUNG: Am Sitz durfen keine Anderungen vorgenommen
werden.

« Wird zusatzliches Gepack mitbeférdert, darf dies die zuldssige
Maximallast des Fahrrads nicht Gbersteigen und muss vor dem
Fahrer beférdert werden.

WARNUNG: Das Fahrverhalten des Fahrrades kann mit dem Kind
im Sitz anders sein. Speziell in Bezug auf die Balance, die Len-
kung und das Bremsen.

WARNUNG: Das Fahrrad darf nie geparkt werden, wenn das Kind
unbeaufsichtigt im Sitz ist.

« Uberpriifen Sie die Schrauben regelmaBig auf festen Sitz und
ersetzen Sie sie erforderlichenfalls.

WARNUNG: Der Sitz darf nicht verwendet werden, wenn irgend-
ein Teil defekt ist.

« Die Position des Kindersitzes muss so angepal3t werden, dass
der Fahrradfahrer wahrend der Fahrt nicht versehentlich mit den
FlBen an den Kindersitz stot.

« Das Gesamtgewicht von Fahrradfahrer und beférdertem Kind
darf das fur das Fahrrad zugelassene Hochstgewicht nicht tber-
schreiten. Informationen Uber die zuldssige Hochstlast konnen
aus der Bedienungsanleitung des Fahrrads entnommen oder
beim Fahrradhandler eingeholt werden.

« Stellen Sie stets sicher, dass das beforderte Kind nicht mit spitzen
Teilen des Fahrrads in Berihrung kommen kann

« Bei langerer Sonneneinstrahlung konnen sich Sitz und Polste-
rung stark erhitzen. Vergewissern Sie sich vor Benutzen des
Sitzes, dass dieser nicht zu hei3 fir das Kind ist.

« Vor dem Transport des Fahrrads auf einem Dachgepéck- bzw.
Hecktrager muss der Kindersitz abgenommen werden, um Be-
schadigungen des Sitzes durch den Fahrtwind zu vermeiden.

« Uberpriifen Sie nach der Montage das korrekte Funktionieren
des Sitzes.

« Bitte machen Sie sich mit den in Ihrem Land geltenden gesetz-
lichen Bestimmungen und Vorschriften beztglich der Beforde-
rung von Kindern in Fahrradkindersitzen vertraut.

« Verwenden sie immer die Gurte zur Sicherung des kindes.

« Decken sie offen liegende sattelfedern ab.

« Befordern Sie nur Kinder, die fiir lingere Zeit ohne Hilfe sitzen kdnnen,
mindestens fiir die Dauer der geplanten Fahrt mit dem Fahrrad.

« Es ist sehr wichtig, den Sitz und seine Komponenten richtig ein-
zustellen, um optimalen Komfort und die Sicherheit des Kindes
zu gewahren. Es ist ebenso wichtig, dass der Sitz nicht nach vor-
ne neigt, damit das Kind nicht aus dem Sitz rutschen kann. Es ist
ebenso wichtig, dass die Riickenlehne leicht nach hinten geneigt ist.

Llall
B e i e e BULL &l el g e Wl o sl el
(VL Jasi

S 4l e STl e S0 Rl il s s Ty 5 o s e
s U

I3] dnil | 055" Vions” iy s o ST o) Ll UL o "l
sl ] L W S USUJT ca 36 SUSL e ol cils

S S Sl |15 g . ks Uy galall sl il idasa)-
Lasil | b | Reld) 1 DLy

Ol pdocdly Y1 & ledss

W16 e S e Ji Y ol e

W57 224b 5 48.5 o iy iz ¥ ool JUBYT Jid Lais Do s Jiball e e

b o Y sl o) g il 05 e ST GE T bl S
sl 5 I e s 3 iy Jib Jud il s Y e S

ol o ¥l o " J 112 e se Sy Jib ok e A dake iy Yo
I oty i JS°O T e 100 Bkl e oS I3 Skl ke il
3 ) e Y Uspes

www.polisport.com 41




bl s g5 ki (5 i3 45 oo BT ol SV sl ! 0S5 Lase
S Jiball a0 L o’ JS'G Byl < 2T S s o ST

). sian ssie (GU" dals e L Jila)l anie S5 Ve

"D oS ok s Rl 1T e ;e STl i) e 5 il e
(i)l Tilae J a5 Y e e’ p L

Sl GV g3l sy oI urdy BT ol S8 3 e anil ] ol e ST
Y1 L 5 Gillae Jilall e ol s e

LYl O g e Ly Toss e

e ool &1 ST ikl S O T ikl Sz g e el g e
S a3y Jill e o 8 Y Gl 3l | I e e oy Sl
JONFEPFR

RSO tu‘ o oy 5l ) Ykl Jis] il Aol S NEE v
2 Y Al i | e BB S50 e el ol T el 7T 1
(sl gy 3l JWLy S s L o 53U ok Jiball ol e ST L
L)l o Wiy s bavall o ldes Jodsd ey

AU e s i e O e "0 g i)l

b, sl Y Wy W R el ol Jidal) anie ol e S e
ks OUSL s SO sy S SMnallS da a1 ‘“@ [PRERRI
el ST, e

oLl 85U e 5l Ll sl | paiss: 2

UL Jalowy £ Lo dsal gl Lo Ve i

il e o S lkes 2 Y i

PER IO S Y VRS PP S R RO OIS UE T B PE9N [y DE-CR g H Y
SLILUT s

O bk S350 skl e 3 JUbYI Jad e S Jorizals

Gl e L p Ll gl 2o JI AL gl e oo 5YT e o SasLs

Sl sl LTy e il Jib ey Lo Gyl O il 0 i
Sl el

ke LW ol 3y i L Jib sy < Bl D80 Tl Willas g Y2 i
L3 5l o) I3 Lo ol Jas”l b JS'o 2l e

Vel wa gl oS 5] il i Ve i

ol I 30l i pagr Ksils ol s 3l g8 IS < L] s
bl g s SIS sl & kdlsgladl ol

Jiball dail Tl ST idle J) o3 Y o o Jaall ke g s Lo e
el U aey

"o 5’ B Wk e il sl oty Y Jailly S0 055 32 Y ol o

of oo STl Gl 331 Rl g s)lll dall st Juds ol dalidll o Lo
ALY Ugad | sde Jud WSg Dol

el 01 Jadal) o Ss Gl ld 7T B 51 33l + T ol e clde e

ool oo U b i 5l et 'Y L e 3 Wl il e
il e B T 1)

G’ ol Ll " e sl ol ol ¥ Dls e Gl dl Ji5 e

)] dmie 3 5l G ) el 33 S Bl e Jakal) s eli Loy i Ll

S ke Bes gy Jom aaill ol e STe

B JUBYI Jaons Tkl ly L sl | bl G Jpail | a7 S lesdasdlly 11 g o
Cobhal Ll | st

el | e el o oY1, Ly o (LY e LY i
ENT4872. Ll e

o1 53 | K 45Uy (o Sl s il e
S oS Y el e Ll e Bty ikl 2l

of el on Lol iyl Jalll G5 Y (o ol ] <] nsy
RENGTEN N 3 (175 PP e

NOAAPDBXKKA

3a fa 3anaswTe feTckata cepanka B AOOPO ChCTOAHWE W Aa

npenoTepaTnTe MHUMAEHTU, HUe B nNpenopbyBame CieAHOTO:

- lposepsBariTe perynapHo cuctemata 3a ¢uKcupaHe Ha
cefankata KbM Benocunena, 3a ia ce yBepuTe, 4e e B I'\E‘p(i)E‘KTHO
CbCTOAHME.

- ﬂpOBEpHBaV\Te BCUMYKKM KOMMOHEHTW, 3a fAa Buaute [ann
paboTAT npasunHo. He 13non3saiite cepankata, ako HAKOU
OT KOMMOHEeHTNTE Ca noBpeaeHn. HOBDE“JGHVITE KOMMOHEHTN
TpAGBa fa 6bAaT CMeHeHw.

- lMouncrete ceflankata CbC canyH M BoAda (He 13non3ganTe
abpasvBHY, KOPO3VBHU WM TOKCUYHI NPOAYKTM).

WHCTPYKLIMW 3A BE3OMACHOCT U NPEAYNPEXAEHUA

« KonoesgausT Tpab6Ba Aa Obe no-ronsm ot 16 roamHy;

« [leTckata ceflanka e npefHasHayeHa camo 3a TpaHCnopTupaHe
Ha fleta C MakcUManHO Ternio 22 Kr, Ha Bb3pacT A0 5 rOAUHW.
YBepeTte ce, ye CTe NPOBEPWIN TEIIOTO Ha AeTeTo, Npean Aa
n3non3gate cefankata. [py HKakBKM 0OCTOATENCTBa CefankaTa
He 61Ba fja Ce M3N0”13Ba 3a Alella, HafBMLLIABALLM OF PaHUYEHNETO
3a Ternoto.

« He n3nonseaite cefankata 3a gela no-manku ot 12 meceua. 3a
1a MoXe AIeTeTo fia ce BO3u 6e30MmacHO B Tasu cefjasnka, To Tpatsa
712 MOXe [1a Cean CUrypPHO 1 1a MOXe [1a Ce AbPXW rnasata cu
13NpaBeHa, Tbil KaTo TPAGBA fia HOCW BENOCKNEAHa KacKa.

NPEAYNPEXAEHUE: OT cbobpakeHus 3a 6e3onacHoCT
Ta3m Ceflarnka Le Ce NOCTaBA Camo Ha 6araxxHULM, KOUTO
cboTeeTcTBaT Ha EN14872.

« [poBepeTe fanu BCUYKM YacTW Ha Benocvnesa GpyHKUMOHMpaT
KOPEKTHO C MOHTMPaHa AeTCKa cefjanka.

« He MoHTMpaiiTe Tasn cefanka Ha CbCTe3aTenHn Benocunean (c
HaBeAEeHO KOPMUIIO).

« OcurypsBaHe CUrypHOCTTa Ha [eTeto Ha aetékata cepanka
O3HayaBa BCMUKM O0E30MaCWTENIHW KOMaHW ¥ pembun Aa
ce nocTaBAT gobpe, HO He CTerHato, 3a fa He npuuMHABaT
OnckoMdOpT Ha fJeTeTo;

42 www.polisport.com

« YBepeTe ce, Ye ceflasikaTa CTOM JIeKO HakfloHeHa Hasaf, a He
Hanpef, 3a fla n3berHete K3xny3saHeTo Ha feTeTo.

« [leTckaTa cefjanka HuKora He Tpabsa Aa GbAe u3non3saHa npean
na 6bae perynupaH 0be30nacuTenHUAT KoMaH.

NPEQYNPEXAEHUE: [lonbnHutenHute npucnocobnequs 3a
6e30MacHOCT TpAGBa BMHarM Aa ObaaT 3akpeneHu.

« He gonyckaiite HMKOA YacT Ha AeTcKaTa Cefanka Win ApexuTe,
06yBKIUTE, pemMbLTe Ha cefankata U TH. [a ce AoKOCBaT Ao
ABVIXKELLM Ce YacTV Ha BENOCUNEa, Thil KaTo ToBa MOXe Aa Gbae
OMacHo 3a AETETO UK fia 0BEAE A0 MHLWAEHTU.

« [penopbusa ce NocTaBAHe Ha NpefnasuTen Ha KonenoTo, 3a Aa
ce NPefoTBPaTV NOMafaHEeTo Ha KpakaTa Unu pblieTe Ha AeTeTo
Mex gy cnuuuTe. M3non3saHeTo Ha npeanasuten nog cefankara
WV Ha Cejanka C BbTPELIHMN NPYXVHY € 3aibIKNTeNHO. YBepeTe
ce, ye IETETO He e B CbCTOAHME [ja Bb3MNPEenATCTBa CrMpayKnTe,
3a [1a ce M36ArHaT MHUMAEHTU.

« ObnuuaiiTe AETETO C NOAXOAAWM APexu Cnopen BPemeTo u
13N0N3BalTe NOAXOAALLA KacKa.

o [leuata B cepankute e Heobxogvmo fAa GbaaT Mo-Tomno
obneyeHn OT BENOCUNEANCTUTE ¥ MOTOLMKNETUCTUTE 1 TPpAOBa
Aa 6baaT 3alUMTEHN NPY AbXKA.

« Korato fieTckaTa ceflanika He ce U3nosn3Ba, 3aTerHere Konanure ¢
MoMoLLTa Ha KIUrncoseTe, 3a Aa NPeAoTBpaTUTe NPOBMCBAHETO
Ha pembuUMTe U NOMAAaHETO MM BbB BbPTALM Ce YacTh Ha
Beslocuneaa, Hamp. Konena, Cmpayku v ap., Tbii KaTo ToBa MoXe
na 6bae onacHo.

NPEAYMNPEXAEHUE: He nocrasanTe gonbaHuteneH barax Ha
feTcKaTa cefjanka

NPEAYNPEXAEHUE: He moandwnumpaiite cepankata

« Ako npeso3BaTe AOMbAHWUTENEH 6arax, HEroBOTO TErNO He
TpAbBa fa HaABWlWaBa TOBAPOHOCMMOCTTa Ha Benocunega v
CbLMAT TPAGBA Aa Ce NpeBo3Ba Npef Konoessava.

NPEAYNPEXAEHUE: lNMoseaeHneTo Ha Benocunena Moxe Aa
6baie pasnnuHoO C AeTe B cefjankara, 0COHEHO Mo OTHOLWEHME Ha
6anaHca, KOPMWAHOTO yNpaBneHve 1 CNpaHeTo

NPEAYNPEXAEHUE: Hukora He ocTtaBaiTe Benocvnepa



napKupaH c ete B ceflarnkara, 6e3 HabnioaeHvie

« [poBepnABaliTe BUHTOBETE PEOBHO M CMEHANTE HAKOW OT TAX,
KOraTo € Heo6XoANMO.

NPEAYNPEXAEHUE: He wn3nonsganTte cepankata, ako HAKOA
HeliHa YacT e cyyneHa

« Mo3vuwATa Ha cegankata TpAbea Aa Gbfe perynvpaHa Taka,
Ue KOMoEe3daybT Aa He AOKOCBA Cefasnkata npu BbpTeHe Ha
neganute.

« Ternoto Ha konoesfaua M feTeTo HUKora He TpAGBa Aa
HaABMlLaBa MakKC/MmasiHaTa TOBAapPOHOCMMOCT Ha Befiocuneaa.
MposepeTe PbKOBOACTBOTO Ha NPOV3BOANTENA C MHCTPYKLMUTE
3a BeNoCvneda, 3a Aa Ce yBepuTe, Ye BENOCMMEnbT MOXe Aa
M3AbPXN AONBAHNTENEH TOBAP.

« TpAbBa [a MOKpUMETe BCEKM OCTbP UAM pexell npeameT Ha
BesiocMnesa, KoMTo Moxe fa 6be A0CTUrHaT OT AeTeTo.

« Cepankata M Bb3raBHMLATA MOXe [i@ Ce Harpedr, ako ca
V3N10MEHN NPOABIIKUTENHO BPEME Ha CITbHLIE. YBepeTe ce, ue He
Ca npekKaneHo ropeLun Npeau a NocTaBuTe 4eTeTo B Cefankata.

« [py TpaHCnopTVpaHe Ha Benocvneaa Ha baraxHuK Ha NoKpKBa
N BpataTa Ha aBTOMOGI/U'I, BUHarn ceanante JeTCKaTa ceflanka
oT Benocunesa. TerneHoTo 61 A NOBPEAWIO UMK Lie paskbCa
[eTCKaTa ceflanka.

« [lposepete fann cegankata ¢OyHKUMOHMPA KOPEKTHO Mpwu
MOHTVPAHETO.

« MpoBepeTe fanu 3akoHWTe 1 pasnopebuTe BbB Ballata CTpaHa
NO3BOMIABAT NPEBO3BaHe Ha [eua Ha AOMbIHUTENHK Cedankn
KbM Benocunesau.

« [peBo3BaiiTe Camo Aelia, KOUTO Ca B CbCTOAHME CaMOCTOATENHO
fa CefAaT 3a NO-AbAbr Nepuoj OT Bpeme, MOHe TONKoBa
NPOOBIIXKNTENHO, KOJTKOTO MMaTe HamepeHue fia MbTyBate.

« MHOro e BaxHo MNPaBWIHO Aa HarnacuTe CTONYeTo U Herosute
CbCTaBHM 4aCTM 3a MOCTUraHe Ha OonTuManeH KOMd}OpT n
6e3onacHoCT 3a feteto. Chlo Taka € BaxHO CTONYeTO Aa He
Ce HaKnaHA Hanpe[, Taka 4Ye Aa HAMa Bb3MOXKHOCT OeTeTo
fa ce M3nab3He, Aa ce M3xNy3n oT Hero. Cbllo Taka e BaxHO
obnerankata fja ce HaK/OHM NeKO Ha3ag.

UDRZBA
Aby Vdm détskd sedacka spravné slouzila a aby nedoslo k nehodg,
doporucujeme nésledujict:

- Pravidelné kontrolujte upeviiovaci systém sedacky ke kolu a
ujistéte se, ze je v perfektnim stavu.

- Kontrolujte vsechny soucéstky, zda spravné funguji.
Nepouzivejte sedacku, pokud je nékterd soucast poskozena.
Poskozené soucéstky musi byt vymeénény.

- Sedacku ocistite vodou a mydlem (nepouzivejte abrazivni, koro-
zivni nebo toxické vyrobky).

BEZPECNOSTNI INSTRUKCE

« Cyklista musi byt starsf 16 let.

« Tato détskd sedacka je vhodna kprepravé déti o maximalni
hmotnosti 22 kg a do stéfi 5 roky. Pfed pouzitim sedacky
zkontrolujte hmotnost ditéte. Za zadnych okolnosti nelze sedacku
pouZzit k pfevézeni ditéte, které tuto hmotnost presahuje.

« V sedacce nevozte dité mladsi 12 mésicl. Aby mohlo dité jezdit
v cyklistické détské sedacce, musi umét rovné sedét a drzet
vzpiimené hlavu, na které musi vzdy mit cyklistickou helmu.
Pripadné vyvojové nejasnosti Vaseho ditéte konzultujte vzdy s lékarem.

VAROVANI: Z bezpec¢nostnich déivodd musi byt tato sedacka
pfipevnéna jen k nosici zavazadel podle EN14872.

« Nepouzivejte détskou sedacku na zavodnim kole.

« Zajistéte, aby dité v sedacce mélo viechny pésy a feminky
utazeny, ale ne tak pevné, aby dité zranily nebo mu pasobily ne-
pohodli. Zajistéte, aby sedacka byla mirné naklonéna dozadu, ne
dopfedu, aby dité nesklouzavalo.

« Sedacka nesmi byt nikdy pouzivana bez toho, aby jste nastavili
bezpecnostni pasy.

« Nedovolte, aby dité, ani jakakoliv ¢ast jeho obleceni , bot, pasd
sedacky atd. pfisla do kontaktu s pohyblivymi ¢astmi kola.

« Doporucujeme pouzivat kryt kola tak, aby dité nemohlo strcit
ruce nebo nohy do dratl kola. Uzivani krytu pod sedlem nebo
sedla s integrovanymi pruzinami je povinné. Ujistéte se, ze dité
nedoséhne na brzdy, zabréanite tim nehodam.

VAROVANI: Piidavng bezpe¢nostni zafizeni musi byt vzdy zapnuta.

« Nedovolte, aby dité, ani jakakoliv ¢ast jeho obleceni, bot, past
sedacky atd. prisla do kontaktu s pohyblivymi ¢astmi kola.

« Dité prepravované v sedacce teple obléknéte (tepleji nez
jezdce) a vzdy mu dejte odpovidajici ochrannou prilbu.

« Déti na sedackach musi byt oblec¢eny mohem tepleji nez jezdcia
musi byt chrdnény pred destém.

« Jakmile sedacku nepouzivite pro dité, odstrante ji z kola. Jeji
volné casti (pasy, feminky) by se pfi Vasi jizdé mohli dostat do
pohyblivych ¢asti kola. Predejdete tak Urazu.

VAROVANI: Nepiipeviujte k sedacce zadné zavazad|o.

VAROVANI: Neprovadéjte na sedacce z4dné tpravy.

« Prevazite-li dalsi zavazadla, musite je prevazet pred fidicem a
nesmite prekro¢it nosnost kola.

VAROVANI: Kolo s ditétem v sedacce se mize chovat odli$né.
Zejména se to tyka rovnovahy, fizeni a brzdéni.

VAROVANI: Nikdy nenechévejte zaparkované jizdni kolo s
ditétem v sedacce bez dozoru.

« Kontrolujte pravidelné stav Sroubt a je-li to nutné, vyménite je.

VAROVANI: Nepouzivejte sedacku, pokud je kterdkoliv jeji ¢ast
poskozend.

« Sedacka musi byt umisténa tak, aby se ji cyklista pfi jizdé -
pohybu nohama nedotykal.

« Celkova vaha cyklisty plus ditéte v sedacce, nesmi byt vyssi, nez
maximalné povolend nosnost Vaseho kola.

« Jakékoliv predmeéty, umisténé na Vasem kole, musi byt z dosahu ditéte.

« Po dlouhém pobytu na slunci mdze byt plocha sedacky horkd —
presvédcte se, ze neni prilis horkd pred tim, nez do ni posadite dité.

« Jestlize prevazite kolo na nosici a to bud stfe$nim nebo na zadni
dvere, sedacku vzdy z kola sejméte. Mohlo by dojit k poskozeni
¢asti sedacky nebo uvolnéni nékterych ¢asti, coz by mohlo mit
za nasledek nehodu.

« Pfi montazi si ovéite, ze viechny funkce sedacky jsou v poradku.

« Informuijte se o platnych zakonech a nafizenich ve Vasi zemi tykajicich
se prepravy détf v sedackach pfipevnénych k jizdnim koltim.

« Vozte pouze déti, které jsou schopné sedét delsi dobu bez
pomoci, minimalné tak dlouho, jak potrva zamyslena cesta.

« Je velmi dulezité nastavit sedacku a jeji soucésti spravné, aby
bylo dosazeno optimalni pohodli a bezpecnosti ditéte. Rovnéz
je dilezité, aby se sedacka nepfekldpéla, a dité z ni nevyklou-
zlo. RovnéZ je dlleZité, aby zadni opérka byla mirné naklonéna
dozadu.

www.polisport.com 43




EL

VEDLIGEHOLDELSE

For at sikre god brugstilstand og undga eventuel tilskadekomst

anbefaler vi:

- Regelmaessig kontrol af systemet der fastger barnestolen til
cyklen for at sikre at det er i god stand.

- Kontrol af alle delene for at bekreafte at de alle fungerer effek-
tivt; barnestolen ma under ingen omstaendigheder anvendes
hvis nogen af delene er beskadiget. De beskadigede dele skal
udskiftes.

- Hold barnestolen ren. Til det formdl anvend vand og saebe
(anvend aldrig aetsende eller slibende rensemidler eller giftige
produkter), og lad stolen terre ved stuetemperatur.

SIKKERHEDSINSTRUKTION

« Foreren af cyklen skal vaere fyldt 16 dr.

« Denne stol er udelukkende beregnet til transport af bern med en
kropsvaegt op til max. 48.5 Ibs / 22 kg og med en aldersgreense
pa 5 ar. Bekreeft barnets vaegt inden barnestolen tages | brug.
Stolen ma under ingen omsteendigheder benyttes til bern som
overstiger den maksimalt tilladelige vaegt for stolen.

«Transporter aldrig et barn i denne stol, som er under 12 maneder
gammel. For at kunne sidde i stolen skal barnet kunne sidde ved
egen hjaelp og barnet skal baere en cykelhjelm. Er du i tvivl om
dette, sperg da din leege til rads.

ADVARSEL! Af sikkerhedsmaessige arsager ber denne cykel-
bar-nestol bagagebaerer, der opfylder kravene i standarden
EN14872.

« Kontrollér at alt fungerer korrekt pa cyklen, efter montering af
cykelstolen.

« Monter aldrig denne stol pa en cykel med racerstyr.

« For optimal sikkerhed er det ngdvendigt at tjekke selerne jeevnlig
og at se til, at selerne sidder korrekt og ikke er til gene for barnet.

« Veer ligeledes opmaerksom pg, at stolen ikke haelder fremad men
derimod har en haeldning bagud, sa barnet ikke glider fremad.

« Stolen ma aldrig benyttes for selerne er korrekt justerede.

ADVARSEL! Ekstra sikkerhedsanordninger skal altid fastgeres.

« Veer ligeledes opmaerksom pg, at stolen ikke haelder fremad men
derimod har en haeldning bagud, sa barnet ikke glider fremad.

« Vaere meget opmaerksom pa at tgjdele fra barnet eller dele fra
stolen aldrig kan komme i forbindelse med nogle af cyklens be-
vagelige dele.

« Det anbefales at anvende en hjulbeskytter for at undgé, at barnet
kan komme til at stikke fodder eller haender ind mellem hjule-
gerne. Brugen af beskyttelsesskaerm under sadlen eller brug af
en sadel med interne fledre er pakraevet. Serg for, at barnet ikke

kan komme til at hindre anvendelsen af bremserne og undga
derved ulykker.

« Kled altid barnet fornuftigt pa og brug altid kun en godkendt
cykelhjelm.

« Born i seedet bor vaere varmere pakleedt end den der kerer cy-
klen, og de ber vaere godt beskyttet mod regn.

« Nér der ikke sidder et barn i stolen, skal selerne fastspaendes alli-
gevel for at undga at de bliver fanget af cyklens bevaegelige dele
som feks baghjulet. Dette for at mindske risikoen for at skade
foreren af cyklen.

ADVARSEL! Hang ikke ekstra bagage pa cykelbarnestolen.

ADVARSEL! Foretag ingen aendringer af cykelbarnestolen.

« Hvis du transporterer yderligere bagage, ma dennes vaegt ikke
overstige cyklens lastekapacitet, og den skal transporteres foran
cyklisten.

ADVARSEL! Cyklen kan fungere anderledes med et barn i stolen.
Dette gaelder specielt med hensyn til balance, og nar der styres
og bremses.

ADVARSEL! Efterlad aldrig barnet uden opsyn i cykelbarnestolen,
nar cyklen parkeres.

« Kontroller regelmaessigt skruerne og udskift om nedvendigt
slidte eller beskadigede skruer.

ADVARSEL! Anvend ikke cykelbarnestolen, hvis dele af stolen er
i stykker.

« Stolen skal altid have en position, sdledes at fererens ben ikke
rammer stolen under kerslen.

« Den samlede veegt med forer og barn ma aldrig overstige
cyklens totale laste evne.

« Se til at barnet ikke kan rere ved cyklens dele under kerslen.

« Under ekstreme varme grader kan stolen og betraekket blive
utrolig varm. Anbring derfor aldrig et barn i en stol der har staet
i direkte sol, uden at tjekke disse dele farst.

« Ved transport af cyklen pa et biltag eller en cykelkrog, skal man
altid afmontere stolen, da denne ellers kan blive beskadiget
under transporten.

« Tjek altid stolens korrekte funktionalitet efter den er monteret.

« Tjek altid regler og lovparagraffer vedr. transport af bern i dit
eget land, fer du bruger stolen farste gang.

« Baere udelukkende born, der er i stand til at sidde i en leengere
periode, i det mindste sa laenge som den tilsigtede cyklus rejse.
« Det er meget vigtigt at justere saedet korrekt, samt dets bes-
tanddele for optimal komfort og barnets sikkerhed. Det er ogsa
vigtigt, at seedet ikke far en haeldning fremad, sa barnet ikke har
tendens til at glide ud af det. Det er ogsa vigtigt, at rygleen ligger

en smule baglaens.

SYNTHPHZH
Ma TN owoTr AEIToUpYia TOU TIOPT-UMEUTTE Kal YIa VA ArmOQUYETE
ATUXNHOTA, GG TPOTENVOULE Ta €61G:

- EAéyxete ouxvd €dv TO 0UOTNHA OTEPEWONG TOU TTOPT-UMEUTTE
oto modrAato Bploketal oe Kahr katdotaon.

- EmBewpeite OAa Ta aVTAMNAKTIKA, ENEYXOVTAG €AV AEITOUPYOUV
QIMOTENEOHATIKA KAl N XPNOWOTIOIEITE TO TIOPT-UMEUTTE €AV
Kamolo amd autd éxel eBapel. Ta kateoTpappéva pépn Ba mpénel
TavTa va avtikabiotavTat.

- ENéyxete tnv kaBapdtnta TOU MOPT-UreUmE kal otav gival
BPWUIKO TAOVETE TO HE VEPO Kal 0amouvl (Un XPNOIUOTIOIETE
KauoTIKG, OlaBpwTikd r To&ikd mpoidvta), agrivovtds To va
OTEYVWOEL O€ BePUOKPAOia TTEQIBANOVTOG.

OAHTIEZ KAI MIPOEIAOMOIHZEIZ AX®ANEIAL

« O avapatng mpémel va gival TOUAAXIOTOV 16 €TWV.

« AUTO TO TTaSIKS KABIoUA €ival KATAMNAO HOVO yia TN HETAPOPd
maldlv péylotou Bapoug 48,5 Ibs / 22 kg kat nAikiag éwg kat
SETWV. SIYOUPEUTEITE TIWG eENéyEaTe TO BAPOg Tou aidloy TPV
amd T xperion Tou kabiopatog. To kabiopa Sev mpémel og Kapia
TIEPITTTWON va XpNnotpomoinBel yia T HETagopd evog maidioy, To

44 www.polisport.com

omoio urepRaivel To dplo Bapoud.

o Mnv petagépete maildld pikpdtePa Twy 12 pnv@v pe autd
10 Madikd kablopa. Ma va eival emBatng, to madi mpémet va
pmopel va kdBetal {ola pe To KePAAL Pnhd dTav popd éva Kpavog
modnhdtou. Oa TPEMEL va OUPBOUAEUTELTE éva yiaTpd av dev
elote ofyoupol yla Ty avantuén tou maidlou.

MPOEIAOMOIHZH: la Adyoug acealeiog, autd To KaBiopa
TIPETEL va TOMOBETETAl HOVO OE TTOPT-UIMAYKAL TTOU CUHPWVOUV
e To poturnio EN14872.

« EAéy€Te av Oha Ta pépn Tou TodNAATOU AEITOUPYOUV CWOTA OTaV
¢yl TomoBetnOei To Mad KO kABlopa.

« Mnv TomoBetoeTe autd To MAIIKO KABIOUA OE éva aywVIOTIKO
TTOSNAATO (HE TIUOVI TIPOG T KATW).

« ToroBeTroeTe MPOOEKTIKA TO MaISi 0TO KABIoHA Kal ENEYETE OTL
ONOL Ot IHAVTEG AOPANEIOG Eival OIXTOl ANA Ol TOGO TIONU TIOU
va pnv kéOetat dveta to naidi.

« S1IYOUPEUTE(TE OTI TO KABIOPA EXEL pIa JIKPT KAION TIPOG Tl THiow
Kat Ox! TPOG Ta UITPOOTA, Yia va pn YNOTPA To maidi.

« To madikd kablopa dev MPETEL va XPNOILUOTIOIEITAL TIOTE TPV
PUOUIOETE TOV IHAVTA ACPANEIDC.

MPOEIAOMOIHZH: Mpdobetec SIaTAEEIC a0QANEIOG TTPEMEL TTAVTA



va KAeivovTal.

« Mnv eMTPEVYETE KaVEVA LEPOG TOU OWHATOC I} TOU POUXIOUOU TOU
TIaid10V, va ENBEL OE EMAQN HE TA KIVOUUEVA PEPN TOU TTOSNAATOU
yiati prmopei va BAAeL To maidi fy va TPOKAAESEL ATUXHHATA.

« MpoTelvetal va UMApyEl TPOCTATEUTIKG (AVTag £T01 WOTe To Tadi
va pnv umopei va Bdel ta modia Tou iy Ta XéPIa Tou avapeoa
ot aktivee. H xprion mpootaciag katw amd ) oéha, i n
XPrON GEAAC HE EOWTEPIKA EAATAPIQ, EiVAl UTTOXPEWTIKN. [1a TNV
amoguyr atuxnuatog, Befaiwdeite o1l To Maidi dev pmopei va
Tapeumodioel Ta epéva.

« Gopéoete 010 Tad{ KATAAMNAQ POUXa, QVAAOYA HE TIG KAIPIKEG
OUVOIKEG KAl XPNOIUOTIOOETE €va KATAMNAO KPAVOG.

« Ta madid mou ka&Bovtal oto madikd kablopa mpémel va gival
VTupéva mmo (eoTtd amd Toug TOSNAATEG Kal va TTPOOTATEVOVTAL
and n Beoxn-

« Otav 10 madikod kdBlopa dev xpnolOTOLETalL, OPIEETE TNV
TIOPTIN TNG HEONG TNG TTPOGSECNC AOPANEIQG YA VA ATTOPUYETE
TOV KivEUVO Ol IHAVTEG VA ENBOULV OE ETIAPH HE KATIOIO KIVOUHEVO
HEPOG TOL TOSNAATOUL OTTWG Ol POGEC, TA PPEVA, KATT. yIaTi AUTO
uropei va givat emkivouvo yia Tov modnAatn.

MPOEIAOMOIHZH: Mnv mpocaptdte AMEG ONMOOKEUEG OTO
TIOPT-UTTENTTE.

MNPOEIAOMOIHZH: Mnv tpomornoleite To kabiopa

o AV LETQQEPETE QIOOKEVEG, TO BAPOG TOuG Ogv TIPETEL va
urepPBaivel TN HETAQOPIKR KAVOTNTA TOU TOONAATOU KAl TIPETTEL
va TormoBeTolvTal umpoaTtd amnd Tov avaBatn.

MPOEIAOMOIHZH: To modnAaTo WMOPEl va OCUUTMEPIQEPETAL
Slapopetikd otav umdpxel madi oto kabioua, dlaitepa doov
apopd TNV 100PPOTTIA, TO TIHOVL KAl Ta ppéva

MPOEIAOMNOIHZH: Mnv a@rjvete TIOTE TIOPKAPIOHEVO TO
modnAato pe maidi 0To KaBiopa xwpig emiPAeyn

« EAéyxete Ti¢ BiSEC TAKTIKG Kal QVTIKATAOTAOTE TIG OMOTE ¥PeldleTal

MPOEIAOMOIHZIH: Mn xpnoiporoleite To MOSAHAATO av KAmMoIo
THAUa Tou éxet {nuia

« H B¢on Tou maidikou kaBiopaTog MPEMeL va PUBUIOTE! £T0L WOTE
0 avaRaTng va pnv akoupmd To matdiko kABiopa pe ta modia Tou
otav Kiveltat.

« To Bapog tou avapdtn kat Tou malbiov Sev TPETEL TTOTE va
elval deyaAUTtepo amd 1o avwtato BAPOG ToU EMTPEMETAL Yia
TO ouykekpipévo modnhato. EAéyEte Tic odnyieg Tou eyxelpidiov
Tou MOONAATOU OToV TIPOUNBEUTH Tou TOSNAATOU yia va
OlYOUPEVTEITE OTI TO TOSNAATO WMOPEL va KPATroel autd TO
eMmmAéoV QopTIO.

« MNpémel va mPooTaTéPETe OMMOI0OATIOTE QNP QVTIKEILEVO TOU
ToSNA&TOU MoV PMopEl val PTACE! TO TTadi.

« To kdBopa kal o paghapdkl pmopei va (eotaBolv ToAD
av Bpiokovtal otov AAMO yla HeYAAo Xpovikd  SldoTnpa.
S 1youpeuTeite 6T1 Sev eival TOAU (e0Ta TPV KaBioeTe T TTaIdL.

o Otav petagépete 10 MOOAAATO Of OXAPEC QTMOOKEUWV
N modnA\ATwv OTO TIAVW HEPOC 1) OTO TMOPTUMAyKa( Tou
QUTOKIVATOU, TavTa va Ryddete to kdBlopa. H avtiotaon pmopei
va XaAAOEL 1 Va armooTidoel To TTadIKO KaBlopa.

« ENéyETe OTi TO KABIopa AelTtoupyei owoTd OTav TO TOMOBETATETE.

o ENéYETE TOUC VOROUG Kal TOUG IOXUOVTEG KAVOVIOUOUG TNG
XWPAG 0ag ouU aPoPOLV TN HETAPoPd maldiwv os kabiopata
moSnNAATWV.

« Metagépete pévo maldla mou eival kava va kdBovtal xwpig
BonBeia yla peyallTePO XPoVIKO SIA0TNUA, TOUAAXIOTOV yia 600
Slapkei n mpoRAemdpevn modnAatikr Sladpopr.

« Eivat oAy onpavtikd va pubuicete owoTtd To kABlopa kat Ta
€€APTANATA TOU YIa TN PEYIOTN AVEDT KAl A0QAAELD TOU TTASIOU.
Eivat emiong onuavTikd o KABIoPa va unv yEpVeL TPog Ta UIpooTd
(OTE va Pnv €xel To madi T taon va yliotpdel and auté. Eival emiong
ONUAVTIKS N TAGTN Va YéPVEL EAapPE TIPOG Ta THOW.

MANTENIMIENTO
Para unas buenas condiciones de funcionamiento y para prevenir
accidentes recomendamos lo siguiente:

- Verifique regularmente que el sistema de fijacion del portabebés
a la bicicleta se encuentra en perfectas condiciones.

- Inspeccione todos los componentes verificando si trabajan efi-
cazmente y no use el portabebés si alguno de los componentes
esta danado. Las partes danadas se deben sustituir siempre.

- Inspeccione la limpieza del portabebés y cuando esté sucio
lavelo con agua y jabon (no use abrasivos, corrosivos o produc-
tos tdxicos), dejandolo secar a temperatura ambiente.

INSTRUCCIONES DE SEGURIDAD Y AVISOS

« El conductor debe tener, como minimo, 16 afios de edad.

« Este portabebés sélo permite el transporte de nifos con un peso
méaximo de 22 kg y una edad méxima de 5 anos. Compruebe
el peso del nifio antes de utilizar el portabebé. Bajo ninguna
circunstancia debe usar el portabebé para transportar a un nino
con un peso superior al limite admisible.

« Nunca transporte a nifos menores de 12 meses de edad en este
portabebés. Para poder transportarlo, el nifo debe ser capaz de
mantenerse sentado, con la cabeza equilibrada, sin esfuerzo y
con la cabeza protegida con un casco de bicicleta. Si el nifio pre-
senta un crecimiento cuestionable, debe consultar a un médico.

ADVERTENCIA: Por razones de seguridad este asiento sola-
mente puede colocarse en portaequipajes conformes con la
Norma EN14872.

« Compruebe que todas las partes de la bicicleta funcionan debi-
damente con el portabebés montado.

« Nunca instale este portabebé en una bicicleta de carreras.

« Tras colocar al nifio en el portabebé, debe, obligatoriamente,
ajustar inmediatamente todos los cinturones y abrazaderas sin,
no obstante, incomodar ni hacer dafo al nifo;

« Asegurese de que el portabebé queda ligeramente inclinado

hacia tras y no hacia delante, para que el nifio no resbale;

« Nunca debe usar el portabebés sin antes ajustar el cinturén de
seguridad;

ADVERTENCIA: Los dispositivos de seguridad adicionales deben
estar siempre cerrados.

« No permita que ninguna parte del cuerpo, ropa, cordones de los
zapatos del nifo o cinturones del portabebés, etc. queden en
contacto con cualquier parte movil de la bicicleta, ya que puede
herir al nifio o provocar accidentes graves.

« Se aconseja el uso de una proteccion en la rueda, para evitar que
el nifo introduzca los pies o las manos en los radios. Es obligato-
rio el uso de una proteccion por debajo del sillin o un sillin con
muelles internos y asegurarse de que el niflo no acceda a la zona
de los frenos, para prevenir accidentes.

« Es aconsejable vestir al nifio con ropa adecuada para las condi-
ciones atmosféricas, asi como el uso de un casco de proteccion;

« Los nifos en los asientos necesitan estar mas abrigados que los
ciclistas y deben estar protegidos de la lluvia.

« Abroche todos los cinturones incluso cuando no transporta a
ningun nino. Ello evitard que las hebillas estén balanceando y
entren en contacto con alguna parte mévil de la bicicleta, frenos
o ruedas, ya que pueden provocar accidentes;

ADVERTENCIA: No fijar equipaje adicional al asiento.

ADVERTENCIA: No modificar el asiento

« Si transporta equipaje suplementario, este no debe superar la
capacidad de carga de la bicicleta y debe transportarse delante
del conductor.

ADVERTENCIA: La bicicleta puede comportarse de modo dife-
rente con un nifo en el asiento. Especialmente en referencia al
equilibrio, la direccién y frenado

ADVERTENCIA: Nunca dejar la bicicleta aparcada con un nifio
desatendido en el asiento

« Compruebe regularmente el estado de los tornillos y sustitiya-
los si es necesario.

www.polisport.com 45




(3]

Fi

ADVERTENCIA: No utilizar el asiento si cualquier parte estd rota.

« La posicion del portabebé debe regularse de forma que el con-
ductor no toque con los pies en el portabebé cuando la bicicleta
esté en movimiento.

« El peso del conductor y del nifio transportado nunca debe ser
superior a la carga méaxima permitida para su bicicleta. Com-
pruebe en el manual de instrucciones o consulte con el fabri-
cante si su bicicleta soporta este peso adicional.

« Debe proteger todo objeto puntiagudo de la estructura de la
bicicleta que pueda, en cualquier situacion, alcanzar al nifo.

« Compruebe la temperatura del portabebés tras una larga expo-
sicion al sol, ya que puede estar caliente y quemar al nifo.

« Sitransporta la bicicleta en la baca de un vehiculo, debe retirar el
portabebés para evitar posibles danos provocados o evitar que

se arranque de la bicicleta debido a la turbulencia del aire.

« Compruebe que el portabebés funciona correctamente después
de estar montado.

« Compruebe si existen, en el pais en el que usa el portabebés,
leyes especificas sobre el transporte de nifos en los portabebés.

« Transporte Unicamente a ninos que puedan estar sentados sin
ayuda por un largo periodo de tiempo, por lo menos tan largo
como el tiempo de viaje previsto.

« Es muy importante ajustar correctamente el asiento y sus com-
ponentes para la comodidad y seguridad del nifo. También es
importante que el asiento no se incline hacia delante para que el
nifo no pueda resbalarse y caerse. También es importante que
respaldo esté ligeramente inclinado hacia atras.

HOOLDUS

Et hoida turvatool heas seisukorras ning valtida 6nnetuste tekkim-

ist, soovitame jargmist:

- Kontrollige aeg-ajalt turvatooli jalgrattale kinnitamise ststeemi,
et veenduda selle ideaalses seisukorras.

- Kontrollige kéiki turvatooli osi, et veenduda, et need toimivad
korralikult ning drge kasutage laste turvatooli juhul, kui selle
mistahes ohutusseadised on kahjustatud. Kéik kahjustatud osad
tuleb alati valja vahetada.

- Hoidke laste turvatool puhtana, pestes seda seebi ja veega (drge
kasutage abrasiivseid, sdovitavaid voi toksilisi puhastusvahen-
deid) ja laske sellel kuivada toatemperatuuril.

OHUTUSNOUDED:

« Jalgrattur, kes kasutab laste vedamiseks turvaistet, peab olema
vahemalt 16-aastane.

« See lapseiste sobib ainult kuni 5-aastaste laste transportimiseks,
kelle kaal ei Uleta 22 kg. Arge unustage enne istme kasutamist
kontrollida lapse kaalu. Mingil juhul ei tohi istet kasutada lapse
transportimiseks, kelle kaal on lubatust suurem.

« Arge pange jalgrattaistmele istuma alla 12 kuu vanust last.

HOIATUS: Ohutus kaalutlustest ldhtuvalt voib selle istme sobitada
ainult EN14872-le vastavatele pakiraamidele.

« Veenduge alati, et iste oleks korralikult jalgrattale paigaldatud.

« Arge paigaldage jalgrattaistet maanteerattale.

« Turvarihmad peavad alati olema kinnitatud!

« Veenduge, et lapse keha ega ka riided ei oleks (ihenduses jal-
gratta likuvate osadega see voib pohjustada vigastusi.

« Soovitatav on kasutada jalgratta rattal kaitset valtimaks lapse
kontakti kodaratega.

HOIATUS: Téiendavad ohutusseadised tuleb alati kinnitada

« Veenduge, et lapse keha ega riided ei oleks tihenduses jalgratta
likuvate osadega see voib pohjustada vigastusi.

« Kinnitage enne séitu koik turvarihmad tugevalt, kuid mitte nii
tugevalt et lapsel oleks ebamugav.

« Enne kasutamist reguleerige turvarihm alati parajaks.

« Soovitatav on kasutada rattakaitset, et laps ei saaks panna oma
jalgu ega kasi kodarate vahele. Sadula all oleva kaitsme véi si-
semiste vedrudega sadula kasutamine on kohustuslik. Veendu-
ge, et laps ei saaks takistada pidurdamist ja seega 6nnetuste
valtimist.

« Laps peab olema piisavalt soojalt riides ja kandma kaitsekiivrit.

« Lapsed peavad istmetes olema ratturitest soojemalt riides ning
vihma eest kaitstud.

« Istet ei tohi Umber teha.

HOIATUS: Arge kinnitage lapse kandeseadme kiilge taiendavat
pagasit.

HOIATUS: Arge modifitseerige istet

« Arge soitke lisapagasiga. Kui see on véltimatu, kinnitage see jal-
gratta ette korvi.

« Pane tdhele, et jalgratta koorem liiga suureks ei lahe jalgrat-
turi + istme + lapse kaal ei tohi Uletada jalgrattale tehase poolt
madratud maksimaalset kandevoimet.

HOIATUS: Kui laps on istmel, vdib ratas kdituda tavalisest erine-
valt, isedranis tasakaalu, juhtimise ja pidurdamise osas

HOIATUS: Arge mitte kunagi jatke pargitud ratast valveta, kui laps
on istmel

« Juhul kui veate lisakoormat, ei tohi selle kaal Uletada jalgratta
kandevoimet; koormat tuleb vedada soitja ees.

HOIATUS: Arge kasutage istet kui tkskdik milline osa on katki.

« Kontrollige regulaarselt kruvisid ja vahetage need vajadusel valja.

« Kéik rihmad peavad olema kinnitatud, ka siis kui last ei ole istmes.

« Seadke jalatoed sellisele korgusele et laps saab jalgu vabalt
toetada.

« Jalgrattaiste peab olema seatud sellisele kaugusele, et jalgrattur
ei puuduta oma jalgadega séitmise ajal istet.

« Kasutage istet ainult lastega, kes suudavad soidu kestvuse jook-
sul iseseisvalt istuda.

« Adrmiselt oluline on, et iste ja selle osad on reguleeritud lapse
optimaalse mugavuse ja turvalisuse tagamiseks. Jalgige, et iste ei
kalduks ettepoole. Vastasel juhul voib laps istmest valja libiseda.
Istme seljatugi peab kalduma veidi tahapoole.

HUOLTO
Jotta lastenistuin pysyy hyvassa kunnossa ja onnettomuuksilta val-
tytdan, suosittelemme seuraavaa:
- Tarkista saannollisesti, ettd istuimen kiinnitys on moitteettomas-
sa kunnossa.
- Tarkista, ettd kaikki osat toimivat kunnolla. Ala kdytd istuinta, jos
joku osa on vahingoittunut. Vahingoittuneet osat pitaa vaihtaa.
- Puhdista istuin saippualla ja vedelld (414 kayta hankaavia, syovyt-
tavia tai myrkyllisid tuotteita).

TURVAOHJEITA JA VAROITUKSIA

« Pyoréilijan tulee olla vahintaan 16 vuotias;

e Tdma lastenistuin soveltuu ainoastaan korkeintaan 22 kg
painavan, enintddn 5-vuotiaan lapsen kuljetukseen. Tarkista

46 www.polisport.com

lapsen paino ennen istuimen kadyttda. Istuinta ei tule missaan
tapauksessa kayttaa, jos lapsen paino ylittad painorajoituksen.

« Ald kuljeta téssa istuimessa alle 12-kuukautista lasta. Matkusta-
van lapsen tulee kyetd istua suorassa ja pitda paansa suorassa
pyorékypérd padssaan. Ota yhteyttd lddkariin, jos et ole varma
lapsen kehitysasteesta.

VAROITUS: Turvallisuussyista tdman istuimen saa asentaa ainoa-
staan EN14872 mukaiseen tavaratelineeseen.

« Tarkasta, etta kaikki polkupydran osat toimivat oikein lastenistui-
men ollessa asennettuna.

« Ald asenna tété lastenistuinta kilpapydrddn (alaspéin kadnnetty
sarviohjaustanko).

« Varmista lapsi lastenistuimeen varmistamalla, ettd kaikki turva-
vy6t ja hihnat ovat tiukalla ja etté lapsen olo on téstd huolimatta
mukava;



« Varmista, ettd istuin on hieman taaksepain kallellaan, eika eteen-
péin, nain valtetaan lapsen liukuminen istuimessa

« Lastenistuinta ei saa koskaan kéyttad, ennen kuin turvavyé on
saadetty oikein

VAROITUS: Lisaturvallisuusvarusteet tulee aina kiinnittaa

« Varmista, ettei mikdan osa lapsen kehosta tai vaatetuksesta,
kengdnnauhoista, lastenistuimen hihnoista jne. kosketa polku-
pyoran liikkuvia osia, koska tdmd saattaa vahingoittaa lasta tai
aiheuttaa onnettomuuksia.

« Pyoran suojan kdyttd on suositeltavaa, jolloin lapsi ei voi laittaa
jalkojaan ja kdsidan pinnojen valiin. Suojan kaytt6 satulan alla tai
sisalld sijaitsevilla jousilla varustetun satulan kdytt6 on pakollista.
Varmista, ettei lapsi kykene estamaan jarrujen toimintaa, nain
valtetdan onnettomuudet. Ndma saadot on tarkastettava lapsen
kasvaessa.

« Pue lapselle sadolosuhteisiin soveltuvat vaatteet ja kdytd sopivaa
kyparaa.

« Istuimessa oleva lapsi tdytyy pukea lampimammin kuin itse pyo-
railija ja hanta taytyy suojella sateelta.

« Kun lasteinistuinta ei kdytetd, kiinnitd turvavaljaiden lannevyo es-
tadksesi hihnoja roikkumasta ja padseméstd polkupyoran liikku-
viin osiin, kuten pydriin, jarruihin tms.. Ne ovat muutoin vaarana
pyorailijalle.

VAROITUS: Ald kiinnnitd lisdmatkatavaroita lastenistuimeen.

VAROITUS: Ald tee istuimeen muutoksia.

« Jos kuljetetaan lisdksi muuta tavaraa, kuljetettavan tavaran paino
ei saa ylittdd pyoran kantokykyd. Muut tavarat on kuljetettava
pyorailijan etupuolella.

VAROITUS: Polkupyoréan toiminta, erityisesti tasapaino, ohjaus ja
jarrutus, voi muuttua, kun lastenistuin on kiinnitettynd siihen.

VAROITUS: Ala koskaan jata lasta ilman valvontaa lastenistuimeen
« Tarkista saanndllisesti ruuvien kunto ja vaihda tarvittaessa.

VAROITUS: Ala kéyté istuinta, jos sen jokin osa on rikkoontunut

« Lastenistuimen asento tulee saataa niin, ettei pyorailija kosketa
jaloillaan lastenistuinta py6raa polkiessaan.

« Pyordilijan ja kuljetettavan lapsen paino ei saa koskaan olla
enempdd kuin polkupyéran suurin sallittu kuormitus. Tarkista
polkupyoran kasikirjasta tai polkupyorén jalleenmyyjéltd varmis-
taaksesi, ettd polkupyora kestaa taman ylimaaraisen kuorman.

« Suojaa kaikki polkupyoréan terdvét ja pistavét osat, joihin lapsi
saattaa paasta kasiksi.

« Istuin ja sen pehmuste saattavat kuumentua niiden ollessa
pitkddn alttiina auringolle varmista ennen lapsen asettamista
istuimeen, ettei sen paallinen ole lilan kuuma.

« Jos polkupyordd kuljetetaan auton katolla tai takana, irrota istuin py6-
rastd. lImavirta saattaa vaurioittaa istuinta tai irrottaa sen pyorastd.

« Varmista asennuksen jélkeen, ettd istuin toimii oikein.

« Tarkasta maassasi voimassa olevat lait ja madrdykset, jotka koskevat
lapsien kuljettamista polkupy®riin kiinnitetyissa lastenistuimissa.

«Kuljeta vain lapsia, jotka pystyvat istumaan ilma apua pidemman
ajan. Vahintaan sen ajan kuin suunniteltu pyoramatka kestaa.

« On erittain tarkedd saataa istuin ja sen osat lapsen maksimaalisen
mukavuuden ja turvallisuuden takaamiseksi. On myos tarkedd,
ettd istuin ei ole kalteva eteenpdin ja niin ettd lapsen ei ole
mahdollista liukua pois. Samoin on tarkeéa, etta istuimen sel-
kénoja on hieman taaksepain.

APITAN
AWINn 7 ANY71 NIIKD YN D37 1Y10* NIXAN NIX7NNN
120'n N71Y9 2¥N2 DD7YW PIrNN

AN %Y Y2 NdWN DX VAR [DIXA 'V [In2Y Y'min-
071N 2¥N1 X'NY N'0an7? '

J'7NN DTIRPON DX N'02NYT ' D'ADIN D DX ATORA 1IN2-
N2IN. 179 025700 TNX 179X D291 DX AWINA IYNNYN IR
AYINd YIN'Y 197 INA91W 0D 97nnY

D'YWON WIN'Y. 1201 D' 77 X IUNNYD, AWIND '1j7'17-
2wIn? pn?7 DM 717 0'790 IX 0Y9RN, D NIY

NINATRI NN NIXAD

;NINDY7 16 722 NI'n7 2''N 2dINN »

/a7 22 TV D7PWNY D'T? WONY 71 D'RNN DT 71N AVIN «
197 T7'0 7pwn DX 7IMY7 1ITOEN. DY 5 1w 0% Timv4ss
AYIN YNNWAY |'X [SINI D'I9 DIYA. QYN UIN'WD

QNN pwnn a7y D7pwne o' IR

N1 07AW D77 NWONY7 1NN AWIN UNNWA? 'K
D'721000 D'T7'7 771 X "NIN'V2 71NN AYIN. D'YTIN-12n
NTOPA D'YIAN DN WRD IPTDYUKRI DX 7'Tn7I D'9IT nwY
MLVPN N'IT? NAXNOXA D'TIXN [N TR 797 11AAN NHTIWUKRD «
JITDN 210 X 19'7NN-45% N

AWIN WRD ['7N NIIXQ DFTZONN DUMIDIRD 770 ‘DY 1T .
D7y 207 Irnn

)0INY 1T '252 (Y1 "I9IXK 729 DT R1N YN 1¥PDN 7K
DU RTI7 ITORNI 71NN 2AWIN 22 % T7'0 DK INVAK
NIPITA [I'R X NPTINA N0 NIYIXINI NIN'OAN NNIAN
DINN-'K 177 DWW ID TN

nNTR 197 K71 MINK? NYPNA 101 WY AWINNY ITOFN »
10N 27200 TN v 'O, 0TI9IND

MIAN XN 1197 P1I7NN AYIND WNNWAT? 'K D717 «

Jin'oan
.n'pTanl 0o NI'A7 TAN 02N 0'9011 NIN'LA pnn .

DY, Y1 7707 IR - TN 9 1w P77 1Intn X .
0'V1 0'P7N DY VAN RI2A7 - 12117 NIN'0AD DNIAN, 117230
NARN? DIMYT IX 772 VIA97 7170 T, DTI9INA

NIX 0'DA7N T7'An YN 'D 0'72'72 "N wnnwn? ymin .
NN, 722720 IYIN P 9R1T NIDD NIXCIX 1PN NIod

D'¥'O{7 752 X022 INX D'IDINN K07 NNNN [AN2 WNNWN?
yinYe ', 0'M7an N7IYe7 ¥9n7 20! 1R TW IXTL D19
70 %9 IMNY 19 75 NIR NINKNN NIYY7 W' DJIKN DO
IUNNWNI VIR AT 'RIN7 D710 WI272 770 DX w27«
NN'RNN NToA

¢ D'ININN DTN DX 1027, YIN'WA 1K 717NN AWIN WK «
DY YAnd X1271 7070'2'M NIVIXINN Vi ' Nin‘uan nnm
1N 15w, 131 D'AY73, D*7272 (130, DI9IND W D'AAINON 0PN
25177 "o NHN? NI7IY

W "12'DN N71D' IR D'N'N9N DT D'AVIN: TR
DUIDIND

DTN RWIN 7R 9011 [Von MDD 7X: "NNTX

2wl 1YW D 1w¥an iR TR

AWION AN K7 [yonn 7¢ 177wn, 9011 |VON D'XYI1 DNX DX *
22170 197 DA N7 2N KINEDTIDIRD W AR'YIN

2011 TWNN NI' DN DT 0'WAYT N7 DY 0AYINA DTN .
DW2 190 D7V A7 W'l DMK

25170 1197 DN NIFR7 2N RINEDTMIDIRD 7Y AR'WIN

T7 D'RYIWKRD NIV 91X 12'2' D'IDINNY DN NNTR
N Y, (ITRYT VAW NN 09, AWINd

2wInd NNAYN K77 T7' DY D'MI9IRD DX 1NN 7R D71V7: NnTR
JIXN 197 DNIX 1917001 NIYAPA DA DR 7T -

L1 1INYY 770 7900 DX AWIN IWNNYN 7R DONTR
22170 7Y 1'2271 NIDOY P PIFNN AYIN DI DR D'RNNT Y' -
L IMYIM 21NN QYN 1WA K7

In D71Y7 12700* X7 AWIN2 KW' T7'01 2000 YW D77wn .
790 7 NIXANN P2 12"y, D'I9IX? MNINA 2NN 0Nivn
T Q011 0Nl JNN7 0112 DTIDIRAY KTI7 D D'I9IND
70 99 1T AWNd K¥NIW DTI9INA V71 IX TN DXV D NI0dT Wt .
M'Y' wnwa 0N DN DX DANNNY 02179 NdNEAYINN -
TIX DN 12'WINY 1197 'T DN DR DAY IXTL 27 AT wn?
hrih}

2V D'I9IN NUIN IX [VON KYIN '22 79 D'I9IND D720 A«
717NN AWIN DR TNN 170N, 17¢ NINKD N7TA IR 2070 (122

www.polisport.com 47




Q=
= o

Un INIX WITNY7 IX AWINY7 7'™M7 02179 DN, DMI9IRD 7wn
D'"I9IXRN

2071 XN 1270 TZONN AVINAY IPTA »

VAl Dd9YW N1TNA qQRINAY NIRRT D70 DR 1P -
D'I9IN 7V 0'AINN D'AYIND DT NR'WIT

D'720%7 P2 NTAYIN 72NYT [N NIN'VA NIA'ON: AT
EN14872|7 X D'NRINN

N7 NNTY K77 MW7 0N 0T P R N e
DINAN NN IR NINDY, NI NDINK

112127 NI AWINN DK D270 1137 TINN 21WN .

DA 2IYN. T7'N 112V NI'AN NINYLAL NINR N 12Y
101 AN K7 TP CT), TR LI K7 AYINNY
NUIN 22N MYYNY DA 2IYN. 100 N¥IND 77007
21INKY7 vYN

ODRZAVANJE
Savjeti i preporuke koji slijede pomoci ¢e vam u sprjecavanju nez-
goda i odrzavanju djecje sjedalice u najboljem stanju:

- Preporucljivo je redovito provjeravati cijeli sustav za ucvrscivanje
sjedalice na bicikl i uvjeriti se u njegovo savrseno stanje.

- Temeljito provjeravajte sve dijelove ¢ime cete osigurati njihov
pravilni rad. Ne koristite sjedalicu ako je bilo koji od dijelova
ostecen. Ostecene dijelove potrebno je zamijeniti prije sliedece
uporabe sjedalice.

- Za Cid¢enje sjedalice koristite samo deterdZent i vodu. Uporaba
abrazivnih, korozivnih ili toksi¢nih sredstava ostetit e sjedalicu.

SIGURNOSNE UPUTE | UPOZORENJA

«Voza¢ mora imati najmanje 16 godina;

«Ova djecja sjedalica pogodna je iskljucivo za voznju djeteta
najvece tezine 22 kg i starosti do 5 godine. Prije uporabe
sjedalice svakako provjerite tezinu djeteta. Sjedalicu ni u kom
slucaju nije dozvoljeno koristiti za prijevoz djeteta cija tezina
premasuje navedenu najvecu dozvoljenu.

«Djecja sjedalica ne smije posluziti za voznju djeteta mladeg
od 12 mijeseci. Jedini siguran poloZaj za dijete tijekom voznje
u sjedalici je uspravni sjedeci polozaj, drzeci uspravno glavu
zasticenu kacigom.

UPOZORENJE: Zbog sigurnosnih razloga, ovo sjedalo moze se
postaviti samo na nosace prtljage sukladne s EN14872.

« Nakon postavljanja djecje sjedalice provjerite funkcioniraju li is-
pravno svi dijelovi bicikla.

« Ne postavljajte djeju sjedalicu na trkace bicikle (spusteni upravljac).

« Sigurno ucvrstite dijete u djecjoj sjedalici sigurnosnim pojase-
vima i trakama, pazeci pritom da djetetu nije neugodno;

« Provjerite je li sjedalica nagnuta lagano prema nazad, a ne pre-
ma naprijed kako dijete tijekom voznje ne bi iskliznulo.

«Dje¢ju sjedalicu nije dozvoljeno koristiti prije podesavanja i
primjene sigurnosnog pojasa.

UPOZORENLJE: Uvijek je potrebno u¢vrstiti dodatne sigurnosne
elemente.

« Pazite da dijete niti jednim dijelom tijela ili odjece, vezica za cipele,
sigurnosnog pojasa i dr. ne dodiruje pomicne dijelove bicikla jer je to
izuzetno opasno za dijete, a moze uzrokovatii nesrece.

« Preporucljiva je i zastita za kotace kako dijete ni u kom sluc¢aju ne
bi moglo gurnuti noge ili ruke izmedu precki kotaca. Uporaba
zadtite ispod sjedala ili uporaba sjedala s unutarnjim oprugama
je obavezna. Kako bi se sprijecile nesrece, provjerite da dijete ne

moze ometati kocenje. Tijekom djetetova rasta potrebno je re-
dovito provoditi podesavanja.

«Dijete odjenite s obzirom na vremenske prilike i koristite
odgovarajucu kacigu.

« Djeca u sjedalicama moraju se obudi toplije od vozaca i zastititi
se od kise.

«Kada ne koristite dje¢ju sjedalicu, pricvrstite kopcu na struku
sigurnosnog okvira djecje sjedalice i tako sprijecite dodir sigur-
nosnih pojaseva s pokretnim dijelovima bicikla poput kotaca,
kocnica i sl. $to predstavlja opasnost za biciklista.

UPOZORENVJE: Ne stavljajte dodatnu prtliagu na nosac za dijete.

UPOZORENJE: Ne prepravljajte sjedalicu.

« Ako vozite dodatnu prtljagu njezina teZina ne smije premasivati
nosivost bicikla i treba je voziti ispred vozaca.

UPOZORENVJE: Tijekom voznje djeteta u djecjoj sjedalici moguce
je drugacije ponasanje bicikla s obzirom na ravnotezu, uprav-
ljanje i kocenje.

UPOZORENJE: Nikad ne ostavljajte parkirani bicikl s djetetom u
sjedalici bez nadzora.

« Redovito provjeravajte vijke i zamijenite ih kad je potrebno.

UPOZORENJE: Ne koristite sjedalicu ako je bilo koji dio slomljen.

« Polozaj djecje sjedalice treba prilagoditi tako da je vozac bicikla
ne dodiruje nogama tijekom voznje.

« Ukupna tezina vozaca i djeteta ne smije nikad premasiti najvece doz-
voljeno opterecenje bicikla. Provjerite upute za bicikl kod prodavaca da
biste provjerili moze li vas bicikl podnijeti dodatna opterecenja.

« Potrebno je prekriti sve ostre ili Siljate dijelove bicikla koje bi di-
jete moglo dohvatiti.

« Sjedalica i jastuk mogu se jako zagrijati nakon duzeg izlaganja
suncu. Prije no $to posjednete dijete, provjerite jesu li prevrudi.

« Prije prijevoza bicikla na nosac¢ima za prtljagu ili nosa¢ima za
bicikle na krovu ili vratima auta, uvijek skinite sjedalicu s bicikla.
Trenje je moze ostetiti ili iS¢upati.

« Prilikom postavljanja sjedalice uvijek provjerite je li ispravna.

« Provjerite vazece zakone i propise u vasoj drzavi koji se odnose
na voznju djece u sjedalicama pri¢vré¢enim na bicikle.

« Vozite samo djecu koja su u mogucnosti sjediti bez nadzora
dulje vrijeme, tj. barem koliko je potrebno za obavljanje voznje.
« Vrlo je vazno ispravno podesiti sjedalo i ostale dijelove za opti-
malnu udobnost i sigurnost djeteta. Takoder je vazno da sjedalo
nije nagnuto prema naprijed, kako se ne bi dogodilo da dijete
isklizne iz njega. Vazno je i da je naslon za leda lagano nagnut

prema natrag.

KARBANTARTAS
A megfelelé mikodés megérzéséhez és a balesetek megelézésére
az aldbbiakat ajanljuk figyelmébe:

- Rendszeresen ellendrizze, hogy a gyermekdilés tokéletesen
van-e régzitve a kerékparon.

- Vizsgélion meg minden alkatrészt, ellendrizze megfelelé
mUkodésuket, és ne hasznalja a gyermekdilést, amennyiben va-
lamelyik alkatrész sérilt. A sérilt alkatrészeket minden esetben
ki kell cserélni.

- Ellenérizze a gyermekuilés tisztasagat, és amennyiben az piszkos,
tisztitsa meg szappanos vizzel (ne hasznaljon suroldszer-
eket, mar6 hatast vagy mérgezé anyagokat), ezutdn hagyja
szobahdmérsékleten megszéradni.

48 www.polisport.com

BIZTONSAGI UTASITASOK

« A kerékparos legalabb 16 éves legyen.

« Ez a bébillés kizarolag legfeliebb 22 kg sulyd, 5 éves kord
gyermekek szallitdsara alkalmas. Az Gilés hasznélatdt megel6zéen
feltétlentl mérje meg gyermeke sulyat. Az tlésben semmilyen
kortlmények kozott nem szabad az emlitett sulyhatarndl
nehezebb gyermeket szallitani.

« 12 hénaposnal kisebb gyermeket ne Ultessen a gyermekulésbe.
Ugyanis az utazd gyermeknek egyenesen kell tartania a fejét a
kerékparos sisakban. Ajanlott orvossal konzultalni fejlédésben
lévé gyermekek esetében.

FIGYELEM: Biztonsagi okokbdl, erre az ulésre csak olyan
csomagrogzitét szabad szerelni, amely megfelel az EN14872
eléirasainak.



« Ellendrizze, hogy a kerékpar alkatrészei rendesen funkcionalnak.

« Ne hasznalja a gyermekiilést versenykerékparokon (ejtett kormany).

« Bizonyosodjon meg réla, hogy a biztonsagi dvek és csatok meg-
feleléen védik a gyermeket, de nem tul szorosak, kényelmetlen
érzetet keltve a gyermekben.

« Gy6zédjon meg arrél, hogy az Ulés megfelelden hétrafelé dol-e,
nem pedig eldre, nehogy a gyermek kicsusszon.

« A biztonsagi 6vet mindig hasznélja.

FIGYELEM: Minden esetben fel kell erGsiteni a kiegészitd
biztonsagi szerkezeteket.

« Ne hagyja, hogy a gyermek barmely testrésze vagy ruhazata,
Cipéflizé, biztonsagi 6v stb. a mozgd kerékparral érintkezzen,
amely esetleges balesethez vezethet.

« Kerékvédd haszndlata javasolt, mely megakadélyozza, hogy
a gyermek kezét vagy labat a killék kozé tegye. A kerékvé-
dé nyereg alatti hasznélata, tovabbda a nyereg bels¢ rugokkal
torténd hasznalata kotelezé. Biztositsa, hogy a gyermek ne tudja
megakadalyozni a fékezést, mert ez balesetet okozhat.

« Gyermekét az idéjarashoz megfeleléen dltoztesse fel, és adjon
rd kerékparos sisakot.

« Az Ulésben helyet foglald gyermekeknek melegebb &ltozetet
kell viselnitik, mint a vezet6nek, és az es6tél is védni kell Oket.

« Ha a gyermekilést nem haszndlja, a biztonsagi évet kapcsolja
Ossze, nehogy a lelogd 6v beakadjon kerékpéarozas kozben a
kerékbe, fékbe stb.

FIGYELEM: Ne akasszon egyéb csomagokat a gyermekdilésre.

FIGYELEM: Ne modositsa az Ulést.

» Amennyiben egyéb csomagokat is szallit, a csomag sulya nem
haladhatja meg a bicikli szallitasi kapacitasat. Csomagokat csak
a bicikli elején széllithat.

FIGYELEM: A bicikli egyensulya, korméanyozhatésaga és fékezhe-
tésége megvaltozhat, ha a gyermek az tlésben dl.

FIGYELEM: Soha ne parkolja le a biciklit gy, hogy a gyermeket
felugyelet nélkil az Glésben hagyja.

« Rendszeresen ellendrizze a csavarokat, és amennyiben szlksé-
ges, cserélje ki ket.

FIGYELEM: Ha barmely alkatrész torott, ne hasznélja a gyermekilést.

« A gyermekulést Ugy dllitsa be, hogy a kerékparos laba ne érjen
az Uléshez mozgéas kozben.

« A kerékpdros és a gyermek sulya soha ne legyen tébb mint
amennyit a kerékpar elbir. Gy6z6djon meg, hogy a kerékpar-
gyartd ill. a kerékpdr hasznalati Utmutatéja engedélyezi-e ezt a
plusz terhet.

« Minden, a kerékparon lévé targyat helyezzen olyan tavolsagra a
gyermektdl, hogy ne érhesse el az Glésbol.

« Meleg idében az Ulés és a parnabetét, ha hosszu ideig napsu-
gérzésnak van kitéve, dtmelegedhet. Miel6tt a gyermeket az
Ulésbe Ulteti, gy6zédjon meg réla, hogy az Glés nem tul forro.

« Ha a kerékpart csomagtartdn, vagy kerékpartartdn szallitja,
mindig vegye le az Ulést a kerékparrél. Mivel a gyermekuilés szal-
litas kozben megsérilhet, vagy levélhat a kerékparrol.

« Osszeszereléskor ellendrizze, hogy az Ulés megfelelden mikadik-e.

« Csak olyan gyermeket széllitson, aki segitség nélkul képes hosz-
szabb ideig - legaldbb a tervezett kerékpdrut idétartamaig —
tlve maradni.

« A gyermek kényelme és biztonsaga érdekében rendkivil fontos, hogy
az Ulés és annak alkatrészei megfeleléen legyenek rogzitve. Az lés
nem csuszhat elére, hogy a gyermek ne cstiszhasson ki beléle. A hat-
tamlanak enyhén hatrafelé donthetének kell lennie.

MANUTENZIONE

Per mantenere il seggiolino in buone condizioni prevenendo inci-

denti, si raccomanda quanto segue:

- Controllare regolarmente il sistema di fissaggio alla bicicletta e
assicurarsi che sia in perfette condizioni.

- Controllare che tutti i componenti del seggiolino siano in per-
fette condizioni.

- Non usare il seggiolino se uno dei componenti €'danneggiato.

- | componenti danneggiati devono essere sostituiti.

- Lavare il seggiolino con acqua e sapone, ( non usare abrasivi ,
prodotti corrosivi o tossici).

ISTRUZIONI DI SICUREZZA E AVVERTENZE

« Il conducente deve avere almeno 16 anni di eta.

« Il presente sedile & esclusivamente idoneo al trasporto di
bambini del peso massimo di 48,5 Ibs / 22 kg e fino all'eta di
5 anni. Si raccomanda di verificare il peso del bambino prima di
utilizzare il sedile. In nessuna circostanza si dovra usare questo sedile
per trasportare bambini il cui peso eccede il limite consentito.

« Non trasportare su questo sedile bambini di eta inferiore a 12
mesi. Per poter essere trasportato, il bambino deve essere in
grado di mantenersi seduto, con la testa eretta, indossando un
casco da bicicletta. Consultare un medico se la crescita del bam-
bino mette in dubbio l'idoneita del sedile.

AVVERTENZA: Per ragioni di sicurezza questo seggiolino deve essere
montato solamente su portapacchi conformi alla EN14872.

« Controllare che tutte le parti della bicicletta funzionino regolar-
mente, con il sedile portabebe installato.

« Non installare questo sedile su biciclette da corsa.

« Assicurare il bambino al sedile, controllando che tutte le cinture
di sicurezza e le cinghie siano allacciate saldamente, ma non cosi
strette da disturbare il bambino.

« Accertarsi che il sedile si trovi leggermente reclinato all'indietro e
non in avanti, per evitare che il bambino possa scivolare.

« Non utilizzare mai il sedile portabebé prima di avere regolato la
cintura di sicurezza.

AVVERTENZA: | dispositivi di sicurezza supplementari devono
sempre essere fissati.

« Evitare che parti del corpo o dell'abbigliamento del bambino,
lacci di scarpe, cinture del sedile, ecc, vengano a contatto con
le parti in movimento della bicicletta, poiché possono ferire il
bambino o causare gravi incidenti.

« Si raccomanda di applicare una protezione sulla ruota per evitare
che il bambino introduca i piedi o le mani nei raggi. £ obbligato-
rio inserire una protezione sotto il sellino oppure un sellino dota-
to di molle interne, e verificare che il bambino non abbia accesso
alla zona dei freni, al fine di evitare incidenti.

« Vestire il bambino con indumenti adeguati alle condizioni mete-
orologiche, e utilizzare un idoneo casco.

« Il bambino nel seggiolino deve indossare indumenti pit pesanti
del guidatore e deve essere protetto dalla pioggia.

« Quando il sedile non € in uso, allacciare la fibbia della cintura
di sicurezza, per impedire che le cinghie penzolanti entrino in
contatto con le parti rotanti della bicicletta, come ruote, freni,
ecc, rappresentando un rischio per il ciclista.

AVVERTENZA: Non applicare bagaglio supplementare sul seggiolino.

AVVERTENZA: Non modificare il seggiolino.

« Se si trasportano bagagli supplementari, questi non dovranno
superare la capacita di carico della bicicletta e dovranno essere
trasportati nella parte anteriore.

AVVERTENZA: La manovrabilita della bicicletta puo essere diffe-
rente con un bambino nel seggiolino, in particolare per quanto
riguarda l'equilibrio, lo sterzo e i freni.

AVVERTENZA: Non lasciare mai la bicicletta parcheggiata con un
bambino incustodito nel seggiolino.

« Verificare regolarmente lo stato dei bulloni e sostituirli se necessario.

AVVERTENZA: Non usare il seggiolino se una qualsiasi parte é rotta.

« La posizione del sedile deve essere regolata in modo che il con-
ducente della bicicletta non tocchi il sedile con i piedi durante
il movimento.

« |l peso del conducente e del bambino trasportato non deve mai
superare il carico massimo consentito per la bicicletta. Consultare

www.polisport.com 49




JP

LT

il manuale di istruzioni della bicicletta o rivolgersi al produttore per
accertarsi che la bicicletta possa sostenere questo carico addizionale.

« Proteggere eventuali oggetti appuntiti della struttura della bici-
cletta che possono essere alla portata del bambino.

« |l sedile e I'imbottitura possono riscaldarsi, se esposti al sole per
periodi prolungati. Accertarsi che non siano troppo caldi prima
di accomodarvi il bambino.

« Quando si trasporta la bicicletta sul portapacchi o su una ra-
strelliera, sul tetto dell'automobile, rimuovere sempre il sedile
portabebé dalla bicicletta. In questo modo si evita il rischio
che si danneggi o venga strappato dalla bicicletta a causa della

turbolenza dell‘aria.

« Dopo il montaggio, controllare che il sedile funzioni correttamente.

« Verificare se nel proprio paese sono in vigore leggi specifiche in
materia di trasporto di bambini su sedili fissati a biciclette.

« Portare solo bambini in grado di stare seduti senza aiuto per un
lungo periodo di tempo, almeno per la dura del giro in bicicletta.

« E molto importante sistemare correttamente la seduta e i suoi
componenti per un migliore comfort e sicurezza del bambino.
£ altresi importante che la seduta non sia inclinata in avanti, in
modo che il bambino non scivoli fuori da essa. E importante
anche che lo schienale sia leggermente inclinato all'indietro.

BFANIIOWT

ROWBEEERTNRDIIEICKD, BREHE, NE—V—RERRO

RECEDT ENTEET,
-RE—Y— N OBHREANOEE
BEIT> TS W,

- IRTOAVR—F Y MHSEYICHEET 5 e B+ ICRIRL, TVR—
FYROWTNDICIIBL S B5EE. RE—Y— R EERALBRVNTE
W, BEOHZAVR—RY MNE, RE—Y— N EERTBRICTHRL
THEDBRINEWTER A,

- Y—hOBFANICIE, ABREKOHEEB LSV, FEE. 8
BUEELEEEOHIRBERENET L, RE—Y— R EHHDZ N
BOET,

B ETLRBREICR DI, EHIIICK

REDHDETH LUBE

CBEERIGHRUETHRINIEWIERA,

CZORE—Y— N, BRE22KCE TOTHRUTOFHAETYT ., FiES
—hNCESERRICAEERBL TLLE W, WARBHEICE, REE
BABBREOFHREY—MNCRETIVWTE A,

cZORE—Y— N 12DARBOFHRERE TEVWT ER A, BH
EHIELTRE—Y— MMCBEBL, ANUXy M EREUTHEEEIS B
ﬁ%fm%hé?ﬁ@&%iﬁuaﬁﬁaiﬁéztﬁf%iio

& R FOEEN S, AV — NIENT4872RBICESE LI HALSIM

umoﬁwzumwiﬁm

. V= hEBD I foRIET, BEEOEIAERICHEET 2N ES

LTLEE W,

CZONE—Y—hF, BEBEERE (FOvZ/A\YRIL) KBORIFT
W EE A

CIRTORENIVNEZRRS Y THUoMD &, L RFHROBLM
PBLBSBWVREICHE > TWB T EERBL, EFHENE—Y—
MMCHERLET,

CBFERNBOELELRNLS. RE—Y— NOEDLRIH TR PPEANE

REICE>TWBZ L ZRRL TSN,

ARE=Y— R BT Y= IR EBELTHS SERL I L,

CDTHHREEBEFH TLLE N,

- BFROFEPRRO—EL. #ll, N\E—>— FUJAILFQUJ\EEEE(D
AHEAICHEMT DL, BTHRICE>TRETH D, BROR
EDBDETDOT, ZOLSBYIPEMULANLSICLTLREL,

BFHROFRNAR—IBWIEANZZEBVE S, RA —ILH/NN—DERAH
WEINET, BT RILTH-REERBRATY Y IHEYRILES
ERAEEW, BEEHLEDRS, HFHENT L —FRIEEHT S L7
WZEERBLTLREW, BFROBRICADE T, Th5zEERE

ITBIENBETT,

CBFRRICIE. RIRICA >Rz S, BUIBANILX Y hEREIET
{EEW,

- BEREOEGREICHN, BHEFOFHER. KOEIMVREZL. MIC
HIcnBESRESNBIRELEBVET,

ARE—Y— R EZERVASBRVEE, NLADIRSDNTEHEHEDE
W, TL—FREDABHMNCHESDTZEBRTITOT, BENIL
MD'?IZ NV DL EEH TENWTL R E W,

BELH RE—Y—MNCEPEMMUBVWTIZE W,

EARE—Y—hEREL TRWITE A

- BFROMICHYEENGAEF. ERNBEEOERERHIREBI AN
LS UTLREE W, Ko, ZOFYIHEREDRIICHE TIZE W,

B BTHRERED & BREOEH BINFVR ATFUVI T
L—FORIL) MBEERRDCENHDET,

EE ENICNE—Y— N FRERELEETHEL TESEDICL
TRWIEREA,

CEERICR Y OREZRIRL. BERBUTRRL T ZE W,

EBE NE—Y— MIBIERS N HZBEE. BALTRWTEEA,

. —Y—hOBROMIRYY 3 vid, BEEEEFRICEREDRENIRE
—Y—MNCEMUBWESANEICREBLRITNEWIE A,

EREEERT BB FROGEOG . BHREORATEZRL TBX
TIEWIERA, BEREX—H—ORIKGGRAZEZ BFHAICHED ., BELD
BHGRENZOLSBHEILMA SN DN ESHZRERL TS W,

cBEEICEDRSIYDH Z2BER. BFHRAZNICHNS I EDRVE
S, BB TLRE W,

NRE=Y—RPIyYaviE REBKBICESNET S
ENBDET, BFHREESEIRIC, B<R> TLALD
{REEW,

CHEEEEBHEOL—TPRSVIUY ROST—YSy VP EERERF
v YUTZICRD R TERT ZBEE. BITBEENSRE—Y—NEED
HUTLREW, JvIPFrUTIRED RE—Y—RIDGATREDS]>
RENTIMD T BAREMENHD T,

TARE—Y—hORMIFEICIE. ¥— MEBICHET S /R LT
{EEW,

CBEEROFITRARNE—Y— M LB HEFHRORFICEAL TE., HEXW
DEDRITOFER R SHEBEE WV .

SEAETPRIC, XABULTEZZEDTEZRFHROAMELTVET,
cRFROBRBROREEERDMEICIE, Y— N EN—VEEEALHE
TBIENEETY, Key— MEIHICES. BFHRABOELELN
ESBREDFLLEET VW, Ny T LARDERAIDLECELSICLT

{EEW,

PRIEZIORA

Noredami islaikyti puikia kédutés bikle ir isvengti nelaimiy, laikykités

Siy patarimuy:

- Reguliariai tikrinkite kédutés tvirtinimo prie dviracio sistema
norédami jsitikinti, kad ji yra nepriekaistingos buklés.

- Nenaudokite kédutés, jei bent viena i$ sudétiniy detaliy yra
pazeista. Pazeistos detalés turi buti pakeistos.

- Valykite kédute naudodami muilg bei vandenj (nenaudokite
siurksciy, edanciy ar toksiniy medziagu).

SAUGOS INSTRUKCIJOS IR |SPEJIMAI

« Dviratininkas turi bati ne jaunesnis kaip 16 mety.

« Sia vaiko kedute leidZiama vezti tik vaikus iki 5 mety amziaus, kuriy
svoris nevirsija 48.5 svaro / 22 kg. Reguliariai tikrinkite vaiko svorj ir
nevezkite vaiky, kuriy svoris didesnis uz nurodyta pirmiau.

« Jokiu budu neméginkite sSioje kédutéje vezti kadikiy (iki 12 men.
amziaus). Vezamas vaikas turi sedeti tiesiai, laikyti galva vertika-
liai. Vaikui ant galvos turi bati uzdétas apsauginis $almas, skirtas
naudoti vaziuojant dviraciu. Jei vaiko i3sivystymas neatitinka jo
tikrojo amziaus, rekomenduojame pasitarti su gydytoju.

ISPEJIMAS! Saugumui uztikrinti, &i sédyné turi bati jtaisyta tik prie
EN14872 standartg atitinkancios bagazinés.

« Patikrinkite, ar pritvirtinus vaiko kédute visos dviracio dalys veikia

50 www.polisport.com

tinkamai.

« Sig vaiko kedute draudziama tvirtinti ant sportinio tipo dviraciy (su
Zemyn nulenktu vairu).

« Vaikg saugos dirzais ir dirzeliais kedutéje prisekite tvirtai, taciau ne
pernelyg stipriai - kad vaikas nesijausty nepatogiai.

« Pasirapinkite, kad keduté baty siek tiek atlosta atgal, ne j priekj, nes
kitaip vaikas gali nuslysti.

« Nesureguliavus saugos dirzo $ig vaiko kédute naudoti draudziama.

ISPEJIMAS! Visada turi bati pritvirtinti papildomi saugos jtaisai.

« Pasirpinkite, kad jokios vaiko kano dalys arba drabuziai, baty
raisteliai, saugos dirzai ir pan. neliesty dviracio judamuyjy daliy.
Priesingu atveju gali kilti vaiko suzalojimo arba nelaimingo atsiti-
kimo pavojus.

« Kad vaikas nejkisty pédy ar ranky tarp stipiny, rekomenduojame
naudoti rato apsauga. Taip pat privaloma apsauga po balnu arba
balnas su viduje jtaisytomis spyruoklémis. Uztikrinkite, kad vaikas
nepasiekty stabdziy - tai padés isvengti nelaimingy atsitikimuy.

« Aprenkite vaikg oro salygas atitinkanciais drabuziais ir uzdékite
tinkama salma.

« Sédynése sédintys vaikai turi bati aprengti Silciau nei dviratininkai
ir apsaugoti nuo lietaus.

« Kai vaiko kéduté nenaudojama, priverzkite saugos dirzy juosmens
sagtj, kad dirzy juostelés netabaluoty ir neliesty dviracio judamujy



daliy (pvz, raty, stabdziy ir pan.), nes tokiu atveju dviratininkui gali
grésti pavojus.

ISPEJIMAS! Netvirtinti papildomo bagaZo prie nesynes.

ISPEJIMAS! Sédynes nemodifikuoti.

« Jei vezatés papildoma krovinj, jo svoris negali virsyti dviracio kelia-
mosios galios. Krovinys turi bati jtaisytas priesais dviratininka.

ISPEJIMAS! Gali pakisti dviracio su vaiku sédynéje veikimas, ypac¢
pusiausvyra, vairavimas, stabdymas;

ISPEJIMAS! Niekada nepalikti vaiko pastatyto dviracio sédynéje be
priezitros.

« Reguliariai tikrinkite varztus, prireikus juos pakeiskite.

ISPEJIMAS! Nenaudoti sédyneés, jei kuri nors dalis yra suldzusi.

« Vaiko kedutés padeétis turi bati sureguliuota taip, kad vaziuojant
dviraciu dviratininkas neliesty kedutés pédomis.

« Bendrasis dviratininko ir vezamo vaiko svoris turi niekada nevirsyti
didZiausios leidZziamos dviracio apkrovos. Perskaite dviracio
instrukcija arba pasitare su pardavéju issiaiskinkite, ar tokia pa-
pildoma apkrova Siam dviraciui tinka.

« BUtina apsaugoti visas smailas dviracio dalis, kurias galéty pasiekti vaikas.

« llga laika veikiama saulés spinduliy kedute ir jos pagalvélé gali jkaisti.
Pries pasodindami vaikg patikrinkite, ar jos néra pernelyg jkaitusios.

« Prie$ gabendami dviratj ant automobilio stogo bagazinés arba ant
laikiklio, pritvirtinto prie automobilio bagazo skyriaus dury, vaiko
kedute visuomet nuimkite. Dél oro pasipriesinimo kéduté gali bati
pazeista arba net nutraukta nuo dviracio.

« Patikrinkite, ar pritvirtinta kéduté yra tinkama naudoti.

« I3siaiskinkite, kokios galiojanciy jstatymy ir kity teisés akty nuos-
tatos dél vaiky veziojimo kédutése, pritvirtintose prie dviraciy, yra
taikomos jasy Salyje.

« Vezkite tik vaikus, kurie be pagalbos gali issédéti ilgesnj laiko tarpa
arba bent numatytos kelionés trukme.

« Siekdami uztikrinti optimaly vaiko sauguma ir komforta labai
svarbu tinkamai sureguliuoti sedyne ir jos sudedamasias dalis. Taip
pat labai svarbu, kad sedyné nebuty palinkusi j priekj ir vaikas i$
jos neisslysty. Batina, kad atlosas baty siek tiek palinkes atgal.

APKOPE

Talak sniegtie ieteikumi jums palidzés nepielaut negadijumus un

saglabat mazula sedekliti nevainojama darba kartiba.

- Regulari parbaudiet sédeklisa stiprinajumus, kas nodrosina sasaisti
ar divriteni, un parliecinieties,, ka tie ir teicama stavokli.

- Rapigi parbaudiet visas sédeklisa sastavdalas, lai nodrosinatu,
ka tas funkcioné pienacigi. Nelietojiet sédekliti, ja kada no ta
sastavdalam ir bojata. Pirms sédeklisa izmantosanas bojatas
sastavdalas ir janomaina.

- Sédeklisa tirisanai izmantojiet tikai ziepes un Gdeni. Sédekliti var
bojat abrazivu, kodigu un indigu lidzek|u izmanto3ana.

DROSIBAS NORADIJUMI UN BRIDINAJUMI

« Velosipédistam jabat sasniegusam vismaz 16 gadu vecumu.

« Sis sédeklitis paredzéts tikai tadu bérnu parvadasanai, kuri nav
vecaki par septiniem gadiem un kuru svars neparsniedz 22
kg (485 marcinas). Pirms sédeklisa izmantosanas parbaudiet
mazula svaru. Sédekliti kategoriski aizliegts izmantot tadu bérnu
parvadasanai, kuru svars parsniedz atlauto.

« Sédekliti nedrikst izmantot par 12 ménesiem jaunaku bérnu
parvadasanai. Drosa ir tikai tadu bérnu parvadasana, kuri
sédekliti sp&j nosédét taisni un noturét paceltu galvu, kad uzlikta
velokivere.

UZMANIBU! Drogibas apsvérumu dé| sédekliti drikst uzstadit tikai
uz standartam EN14872 atbilstosiem bagazniekiem.

« Parbaudiet, vai péc sédeklisa uzstadisanas korekti funkcioné visi
divritena mezgli un mehanismi.

« Neuzstadiet bérnu sédekliti uz Sosejas saciksu velosipédiem.

« Piespradzéjiet bérnu sédekliti ta, lai visas drosibas jostas un saites
butu ciedi nostiprinatas, tacu nesagadatu bérnam diskomfortu.

«Lai nepielautu bérna izslidésanu, sekojiet, lai nostiprinatais
sédeklitis bltu savérsts nedaudz atmuguriski, nevis uz prieksu.

« Sédekliti drikst lietot tikai péc tam, kad pienacigi noreguléta
drosibas josta.

UZMANIBU! Vienmér pienacigi nostipriniet papildu drosibas
aprikojumu.

« Nepielaujiet bérna auguma un locek|u, kurpju auklu un apgérba,
ka arm sédeklisa jostu un jebkadu citu priekSmetu kontaktu ar
divritena kustigajam dalam, jo sada saskare var apdraudét bérnu
un izraisit negadijumus.

«Lai nepielautu bérna roku un kaju ieklisanu starp spiekiem,
ieteicams izmantot piemérotus ritena aizsargus. Zem velosipéda
sédekla obligati jauzstada pienacigs aizsargaprikojums vai
jauzstada sédeklis ar iebavétu slégtu atsperojumu. Lai izsargatos
no negadijumiem, parliecinieties, ka bérns nevar traucét bremzu
mehanismu darbibu. Bé&rnam paaugoties, visi aizsargaprikojuma
elementi atbilstosi japieregulé.

« Vienmér apgérbiet bérnu atbilstosi laika apstakliem un izmantojiet
piemérotu kiveri.

«Bérni sédeklos ir jaapgérbj siltak neka ritenbraucéji un tie

jaaizsarga no lietus.

« Laika, kad bérnu sédekliti neizmantojat, pievelciet drosibas jostas
ta, lai nepielautu to nokarasanos un kontaktu ar tadiem divritena
kustigajiem elementiem ka riteni, bremzes u. tml, jo braucot sada
saskare var bt jums bistama.

UZMANIBU! Nenostipriniet uz bérnu sédeklia papildu bagazu.

UZMANIBU! Neparveidojiet sédeklisa konstrukciju.

« Ja nepieciesams parvadat papildu bagazu, ta janovieto priekspusé
un jagada, lai netiktu parsniegta divritena celtspéja.

UZMANIBU! Parvadajot sédekliti bérnu, mainas velosipéda gaitas
ipasibas, jo seviski — uzturot lidzsvaru, staréjot un bremzéjot.

UZMANIBU! Nekad neatstdjiet bez pieskatisanas divriteni, kura
sédekliti atrodas bérns.

« Regulari parbaudiet visus skravju stiprindjumus un péc vajadzibas
veiciet to nomainu.

UZMANIBU! Nelietojiet sédekliti, ja kads no ta elementiem ir bojats.

« Bernu sédeklitis jauzstada ta, lai parvietosanas laika ar to nesaskar-
tos velosipédista kajas.

« Velosipédista un parvadajama bérna kopsvars nekad nedrikst
parsniegt velosipéda maksimalo celtspéju. Lai parliecinatos, vai
divritenis piemérots $adam palielinatam svaram, iepazistieties ar
divritena ekspluatacijas instrukciju.

« Vienmér nosedziet visus asos un smailos divritena konstrukcijas
elementus, kurus bérns varétu aizsniegt.

« Atstajot saulé uz ilgaku laiku, sédeklitis un ta polsteréjums var
sakarst. Pirms bérna iesédinasanas parliecinieties, vai sédeklitis nav
parak karsts.

«Vienmér nonemiet sédekliti, ja divritenis parvadajot tiek
nostiprinats uz automasinas jumta vai tas aizmuguré. Pretéja
gadijuma var tikt bojats gan divritenis, gan sédeklitis, kuru turklat
var noraut gaisa pltsma.

« Péc sédeklisa uzstadisanas vienmér parbaudiet, vai tas ir pienacigi
izmantojams.

« levérojiet visus jasu valsti spéka esosos noteikumus, kas regulé
bérnu parvadasanu divriteniem piestiprinatos sédeklisos.

«Parvadajiet tikai bérnus, kas ir spéjigi patstavigi nosédét ilgaku
laiku, vismaz tik ilgi, cik ir paredzéts brauciens ar velosipédu.

« Bérna optimalam komfortam un drosibai |oti svarigi ir pareizi
noregulét sédekliti un ta sastavdalas. Ari ir svarigi, lai sédeklitis
nesagaztos uz prieksu, bérnam tadejadi izslidot no ta. Artir svarigi,
lai atzveltne atrastos nedaudz atliekta atpakal.

www.polisport.com 51




NL

ONDERHOUD
Voor de goede werking en ter voorkoming van ongelukken raden
wij u het volgende aan:

- Controleer regelmatig het montagesysteem van de BILBY fiets-
stoel, met name de bouten en vervang ze indien nodig

- Controleer of alle onderdelen van het fietsstoeltje naar behoren
werken. Gebruik het stoeltje niet als enig onderdeel kapot is.
Neem contact op met de leverancier voor reserve onderdelen.

- Maak het stoeltje zo nu en dan schoon met water en zeep (geen
schuurmiddelen, corrosieve - of giftige stoffen gebruiken). Het
kussentje kan in een lauwwarm sopje gewassen worden, ophan-
gen om te drogen.

VEILIGHEIDINSTRUCTIES EN WAARSCHUWINGEN

« De fietser moet tenminste 16 jaar oud zijn;

« Dit kinderzitje is uitsluitend geschikt voor kinderen met een
maximumgewicht van 48.5 Ibs / 22 kg en niet ouder dan 5 jaar.
Controleer het gewicht van het kind voor het gebruik van het
zitje. In geen geval dient het zitje te worden gebruikt als het
gewicht van het kind het maximumgewicht te boven gaat.

« Transporteer geen kind, jonger dan 12 maanden in dit kinderzitje. Om
getransporteerd te kunnen worden moet het kind rechtop kunnen zit-
ten met het hoofd rechtop terwijl het een fietshelm draagt. Raadpleeg
een arts als de groei van het kind twijfel oplevert.

WAARSCHUWING: Om veiligheidsredenen mag dit fietszitje alleen
worden bevestigd op bagagedragers die voldoen aan EN14872.

« Controleer of alle onderdelen van de fiets goed werken met de
kinderstoel gemonteerd.

« Deze kinderstoel niet installeren op een racefiets (laag stuur).

« Zet het kind in het kinderzitje en zorg dat alle veiligheidsgordels
en banden stevig zijn aangesnoerd, maar niet zo vast dat ze het
kind ongemak veroorzaken;

« Zorg ervoor dat de stoel enigzins achterover leunt en niet voor-
over, om te vermijden dat het kind er uit zakt

« Het kinderzitje mag nooit gebruikt worden voordat de veilig-
heidsgordel is afgesteld.

WAARSCHUWING: Aanvullende veiligheidsvoorzieningen moe-
ten altijd worden vastgemaakt.

« Voorkom dat enig deel van het kind of zijn kleren, schoenveters,
kinderveiligheidsgordels e.d. in contact komen met bewegende
delen van de fiets.

« Wij raden u aan jasbeschermers te gebruiken om te voorkomen dat het
kind zijn handen en voeten tussen de spaken kan steken. Bescherming
van de onderkant van het zadel is verplicht, tenzij u een zadel hebt met
ingebouwde vering. Voorts dient u ervoor te zorgen dat het kind niet bij
de remmen komt, om ongelukken te voorkomen.

« Kleed het kind met geschikte kleren afhankelijk van het weer en

gebruik een geschikte helm.

« Kinderen die meerijden in kinderzitjes moeten worden afgeschermd
tegen de regen en warmer worden gekleed dan de fietsbestuurder.

« Wanneer het kinderzitje niet in gebruik is, de heupgesp van de
gordel vastzetten om te voorkomen dat de einden bengelen en
in contact komen met enig draaiend deel van de fiets, zoals wie-
len, remmen e.d. en een gevaar voor de fietser opleveren.

WAARSCHUWING: Bevestig geen extra bagage aan het kinderzitje.

WAARSCHUWING: Breng geen wijzigingen aan het fietszitje aan

« Als u extra bagage vervoert mag die niet zwaarder zijn dan de
maximaal toegestane capaciteit van de fiets en de extra bagage
dient voor de fietser te worden vervoerd.

WAARSCHUWING: De fiets kan zich anders gedragen met een
kind in het fietszitje, met name wat evenwicht, sturen en rem-
men betreft

WAARSCHUWING: Laat een fiets nooit zonder toezicht gepar-
keerd staan met een kind in het fietszitje.

« Controleer regelmatig of de schroeven in orde zijn en vervang
ze als dat nodig is.

WAARSCHUWING: Het fietszitje niet gebruiken als er onderdelen
kapot zijn

« De positie van het kinderzitje moet zo zijn afgesteld dat de fietser
de kinderstoel niet met de voeten raakt tijdens het fietsen.

« Het gezamenlijk gewicht van de fietser en het getransporteerde
kind mag nooit zijn meer dan de maximum toegestane lading
voor de fiets. Controleer in de handleiding van de fiets of bij de
leverancier of de fiets deze aanvullende belasting kan hebben

« Puntige onderdelen van de fiets die voor het kind bereikbaar zijn
moeten afgeschermd worden

« De stoel en de bekleding kunnen heet worden wanneer ze lange
tijd in de zon staan. Zorg ervoor dat zij niet te heet zijn voor u
het kind er in zet.

« Wanneer de fiets getransporteerd wordt op een bagage- of
fietsrek aan de auto, altijd het kinderzitje afnemen. De wind kan
beschadiging veroorzaken of het van de kinderstoel afscheuren

« Controleer of de stoel goed werkt als hij gemonteerd is.

« Stel u op de hoogte van de wetten en regelementen ta.v. het
transport van kinderen in stoeltjes op fietsen die in uw land van
kracht zijn.

« Vervoer enkel kinderen die zelfstandig kunnen stilzitten voor langere
periode of tenminste net zolang als de duur van de fietstocht.

« Het is erg belangrijk het zitje en onderdelen op gepaste wijze te
monteren voor optimaal comfort en veiligheid van het kind. Het
is ook belangrijk dat het zitje niet naar voren helt, zodat het kind
er niet uit kan glijden. Verder is het ook van belang dat de rug-
steun lichtjes naar achteren helt.

VEDLIKEHOLD
Folgende anbefalinger vil hjelpe deg med & forhindre ulykker og
holde barnesetet ditt i best mulig arbeidstilstand:
- Det anbefales at du underseker setets fastgjerelsessystem pa syk-
kelen med jevne mellomrom for & forsikre at det er i god tilstand.
- Undersgk naye alle deler for & forsikre at de fungerer riktig. Bruk
ikke setet hvis noen av delene er skadet. Skadede deler ma bli er-
stattet for bruk av setet.
- Bruk kun sdpe og vann for & rengjere setet. Bruk av produkter som
sliper, ester eller giftige kan fordrsake skade pd setet.

SIKKERHETSINSTRUKSJON OG ADVARSLER

« Fgreren av sykkelen ma ha fylt 16 ar.

« Dette barnesetet passer kun for transport av barn med en maksi-
mal vekt pa 48.5 pund / 22 kg og inntil 5 &r gamle. Serg for a sjekke
barnets vekt i forkant av bruk av setet. Barn som overgdr vektg-
rensen skal ikke under noen omstendigheter bruke setet.

« Barnesetet skal ikke bli brukt for & frakte barn under 12 méaneder.
Det er kun trygt for et barn & bruke barnesetet hvis det er i stand til
a sitte oppe og holde hodet rakt og samtidig ha pa en hjelm.

52 www.polisport.com

ADVARSEL: P3 grunn av sikkerhetsarsaker skal dette setet kun bli
plassert pa baggasjebrett som overholder EN14872.

« Kontroller at alt fungerer korrekt pa sykkelen etter montering av
barnesetet.

« Monter aldri dette setet pa en sykkel med racerstyre (nedsenket handtak).

« Forsikr barnet i setet ved & forsikre at alle sikkerhetsbeltene og
stroppene sitter godt fast, men ikke s& stramt at de kan forarsake
ubehag for barnet.

« Forsikr at setet ikke heller fremover, men derimot har en helling
bakover slik at barnet ikke glir fremover.

ADVARSEL: Barnesetet ma aldri benyttes for selene har blitt korrekt
justert.

« Ekstra sikkerhetsutstyr skal alltid vaere godt festet.

« Veer veldig oppmerksom pd at barnets kropp eller klaer, skolisser, barne-
setebelter osv. kommer i kontakt med noen av sykkelens bevegelige
deler ettersom det kan skade barnet eller forarsake ulykker.

« Det anbefales & bruke en hjulbeskytter for & unngé at barnet
kan komme til & stikke fetter eller hender inn i hjuleikene. Bruk
av beskyttelse under sadelen eller bruk av en sadel med interne
fleerer er obligatorisk. Serg for at barnet ikke kommer til & hindre



bruk av bremsene og unngé dermed ulykker. Disse justeringene
ber bli gjennomgatt ettersom barnet vokser.

« Kle barnet med passende kleer i folge vaeret og bruk riktig hjelm.

«Barn i seter ber beskyttes mot regn og trenger & vaere varmere
kledd enn sykkelferere.

« Nar det ikke sitter et barn i setet skal selene likevel festes for &
unngad at de blir fanget av sykkelens bevegelige deler slik som
hjul, bremser, osv. ettersom dette kan minske risikoen for skade av
syklisten.

ADVARSEL: Heng ikke ekstra bagasje pa barnesetet.

ADVARSEL: Forta ikke noen endringer pa setet.

« Hvis du transporterer ekstra bagasje ma denne vekten ikke overstige syk-
kelens lastekapasitet og den skal transporteres foran syklisten.

ADVARSEL: Sykkelen kan fungere annerledes med et barn i setet.
Dette gjelder spesielt med hensyn til balanse, styring og bremsing.

ADVARSEL: Forlat aldri barnet uten oppsyn i setet.

« Kontroller skruene med jevne mellomrom og skift ut nar det kreves.

ADVARSEL: Bruk ikke setet hvis noen av delene er gdelagte.

« Setet skal alltid ha en posisjon slik at syklistens bein ikke berarer
barnesetet i Igpet av kjgringen.

« Vekten til syklisten og barnet som transporteres ma aldri veere mer

enn tillatt last for sykkelen. Sjekk instruksjonsmanualen for sykkelen
fra sykkelleverandaren for 4 forsikre at sykkelen stotter denne eks-
tra lasten.

« Duma alltid dekke skarpe eller spisse gjenstander til sykkelen som
kan komme i kontakt med barnet.

« Under ekstremt varmt veer kan stolen og trekket bli veldig varmt.
Plasser derfor aldri et barn i en stol som har statt i direkte sol uten &
sjekke disse delene forst.

«Ved transport av sykkelen pé et biltak eller sykkelkrok skal man
alltid ta av setet ettersom det kan bli skadet i lzpet av transporten.
Motstand kan skade det eller dra det av barnesetet.

« Sjekk alltid at setet fungerer korrekt etter at det er montert.

« Sjekk lover og forskrifter i landet ditt forbundet med transport av
barn i seter montert pa sykler.

« Bruk babysetet kun til barn som er i stand til & sitte rolig uten tilsyn
over en lengre tidsperiode, i det minste sa lenge som den tiltenkte
sykkelturen varer.

« Det er svaert viktig & justere setet riktig og dets bestanddeler for
optimal komfort og sikkerhet for barnet. Det er ogsa viktig at setet
ikke heller forover, slik at barnet ikke har en tendens til & gli ut av
det. Det er ogsa viktig at ryggstetten heller litt bakover.

KONSERWACJA
Aby fotelik dziatat bez zarzutu i aby unikna¢ wypadkow, zalecamy,
co nastepuje:

- Prosimy sprawdzac regularnie caty system mocowania fotelika do
roweru, aby sie upewnic, ze dziata bez zarzutu.

- Prosimy sprawdza¢ wszystkie czesci fotelika, aby sie upewni¢, czy
dziataja prawidtowo. Nie uzywac fotelika, jesli jakas czes¢ jest usz-
kodzona. Uszkodzone czesci muszg zosta¢ wymienione.

- Prosimy my¢ fotelik woda z mydlinami (prosimy nie uzywac srodkow
ciernych, produktéw powodujacych korozje lub toksycznych).

ZASADY BEZPIECZENSTWA

« Rowerzysta musi mie¢ ukoriczone przynajmniej 16 lat.

« Fotelik stuzy do przewozu dzieci o wadze maksymalnej do 22 kg
lub wieku do 5 lat. Przed uzyciem fotelika nalezy upewnic sie,
Ze waga dziecka nie przekracza okreslonego limitu. Zabrania sie
uzywania fotelika do przewozu dziecka, ktérego waga przekracza
dopuszczalny limit.

« Prosimy nie wozi¢ w foteliku dzieci w wieku ponizej 12 miesiecy.
Po to by by¢ pasazerem w foteliku, dziecko musi by¢ zdolne do
samodzielnego siedzenia z uniesiong gtéwka ubrang w kask ro-
werowy. W razie watpliwosci co do wieku rozwojowego dziecka,
nalezy skonsultowac sie z lekarzem.

OSTRZEZENIE: Ze wzgledu na bezpieczenstwo fotelik ten powi-
nien by¢ przymocowywany tylko do bagaznikow spetniajacych
wymagania wg EN14872.

« Prosimy sprawdzi¢, czy wszystkie czesci roweru dziatajg prawidfo-
wo po zamontowaniu fotelika.

« Prosimy nie montowac fotelika dzieciecego na rowerze wyscigo-
wym (opuszczana kierownica).

« Zapia¢ dziecko w foteliku upewniajac sie, czy wszystkie pasy i ta-
$my sg napiete, ale nie za mocno, zapewniajac dziecku wygode.

« Prosimy sie upewnic, ze fotelik jest lekko pochylony do tytu, a nie
do przodu, zeby uniemozliwi¢ wysunigcie sie dziecka.

« Prosimy nie uzywac fotelika przed dopasowaniem pasa bezpieczeristwa.

OSTRZEZENIE: Dodatkowe urzadzenia zabezpieczajace powinny
by¢ zawsze zapiete.

« Dbac o to, aby zadna czes¢ ciata lub ubrania dziecka, taka jak sznuréwki,
pasy fotelika, itp. nie miaty stycznosci z ruchomymi czesciami roweru,
poniewaz moga zrani¢ dziecko lub by¢ przyczyna wypadku.

« Nalezy stosowac ochrone na koto, ktéra uniemozliwi dziecku
wiozenie stopy lub dtoni miedzy szprychy. Obowiazkowo nalezy
stosowac ochrone pod siodetkiem lub siodetko z zabudowanymi
sprezynami. Nalezy sprawdzi¢, czy dziecko nie jest w stanie utrud-
nia¢ wykorzystania hamulcéw, co pozwoli unikna¢ wypadkéw.

« Nalezy ubra¢ dziecko w ubrania stosowne do pogody i wyposazy¢
w odpowiedni kask.

« Dzieci w fotelikach musza byc cieplej ubrane niz cyklisci i powinny
by¢ chronione przed deszczem.

« Kiedy nie uzywajg Panistwo fotelika dzieciecego, prosimy zapiac
sprzaczke szelek, aby tasmy nie zwisaty i nie wkrecity sie w rucho-
ma czes¢ roweru taka jak kota, hamulce, itp., stwarzajac niebezpie-
czenstwo dla rowerzysty.

OSTRZEZENIE: Do miejsca, na ktérym znajduje sie fotelik z
dzieckiem, nie przymocowywac dodatkowego bagazu.

OSTRZEZENIE: Nie modyfikowac fotelika.

« Waga dodatkowo przewozonego bagazu nie moze przekracza¢
nosnosci roweru. Bagaz taki nalezy przewozic¢ z przodu.

OSTRZEZENIE: Gdy dziecko znajduje sie w foteliku, rower moze
zachowywac sie inaczej, szczegolnie w odniesieniu do utrzymy-
wania réwnowagi, kierowania i hamowania.

OSTRZEZENIE: Nigdy nie zostawia¢ roweru zaparkowanego z
dzieckiem w foteliku bez opieki.

« Sruby wymagaja okresowej kontroli i wymiany w razie potrzeby.

OSTRZEZENIE: Nie uzywac fotelika, gdy jakakolwiek jego czes¢ jest
uszkodzona

« Fotelik musi by¢ ustawiony tak, aby rowerzysta nie dotykat go no-
gami podczas ruchu.

« £3czna waga rowerzysty i przewozonego dziecka nie moze prze-
kracza¢ maksymalnego dopuszczalnego obcigzenia roweru. Prosi-
my sprawdzi¢ instrukcje obstugi roweru lub zapyta¢ sprzedawce,
czy dopuszczalne jest takie dodatkowe obcigzenie roweru.

« Nalezy zabezpieczy¢ wszelkie spiczaste przedmioty, ktdre mogty-
by pozostawac w zasiegu dziecka.

« Fotelik i ceratka moga by¢ gorace, jesli pozostana przez dtugi czas
wystawione na dziatanie promieni stonecznych. Prosimy sie upew-
ni¢, czy nie sg za gorace, przed posadzeniem dziecka w foteliku.

« Podczas przewozenia roweru na stojaku bagazowym lub rowe-
rowym na dachu samochodu lub w otwartym bagazniku nalezy
zawsze zdejmowac fotelik. Ped powietrza moze uszkodzi¢ lub ze-
rwac fotelik z roweru.

« Prosimy sie upewni¢, czy fotelik dziata poprawnie po zamontowaniu.

« Prosimy sie zapozna¢ z przepisami i regulaminami dotyczacymi
przewozu dzieci w fotelikach rowerowych obowiazujacymi w
Panstwa kraju.

« Fotelik przeznaczony jest jedynie dla dzieci, ktére mogg siedzie¢
bez pomocy przez dtuzszy okres czasu, co najmniej tak dtugo, jak
przewidziany czas wycieczki.

« Wazne: fotelik i jego elementy musza zosta¢ ustawione prawidtfo-
wo, aby zapewni¢ optymalny komfort i bezpieczenstwo dziecka.
Nalezy zwroci¢ uwage, by fotelik nie byt nachylony do przodu, tak,
by dziecko nie zsuwato sie z niego. Wazne jest by oparcie plecow
byto lekko odchylone do tytu.

www.polisport.com 53




INTRETINERE
Pentru mentinerea scaunelului in bune conditii de functionare si
pentru prevenirea accidentelor, se recomandd urmatoarele:

- Verificati cu regularitate sistemul de fixare a scaunelului la
bicicleta pentru a va asigura ca se afld in conditii optime.

- Verificati daca toate partile componente functioneaza corect. Nu
folositi scaunelul daca vreuna din partile sale componente este
deterioratd. Partie deteriorate trebuie sa fie inlocuite.

- Spélati scaunelul cu apa si sapun (nu folositi produse abrazive,
corosive sau toxice).

INSTRUCTIUNI DE SIGURANTA $I AVERTIZARI

« Conducdtorul bicicletei trebuie sd aibd varsta de cel putin 16 ani;

« Scaunelul este utilizabil doar pentru transportul copiilor cu
greutatea maxima de 48.5 livre / 22 kg si cu o limita maxima de
varstd de 5 ani. Controlati greutatea copilului inainte de folosirea
scaunelului. Scdunelul nu trebuie folosit in niciun caz pentru
transportul copiilor ce depésesc limita de greutate admisa.

« Nu transportati in acest scaunel copii cu varsta mai micé de 12
luni. Pentru a putea fi transportat in acest scaunel, copilul trebuie
s poata sta sezut drept, cu capul ridicat si sa poarte casca de
protectie. Consultati medicul in cazul in care gradul de crestere
al copilului este discutabil.

AVERTISMENT: Din motive de sigurantd, acest scaunel va fi fixat
doar pe portbagaje care sunt conforme EN14872.

« Verificati functionarea corectd a tuturor partilor bicicletei cu
scaunelul montat.

« Nu montati scaunelul pe o bicicletd de curse (cu ghidon lasat).

« Dupa pozitionarea copilului in scdunel, asigurati-va ca toate cen-
turile de siguranta si curelele sunt stranse bine dar nu intr-atat
incat sa incomodeze copilul;

« Asigurati-va ca scaunelul este usor inclinat inapoi si nu inainte
pentru a evita alunecarea copilului.

« Nu folositi niciodata scaunelul fara a fi reglat in prealabil centura
de siguranta.

AVERTISMENT: Dispozitivele suplimentare de siguranta trebuie
sd fie Intotdeauna bine stranse.

« Asigurati-va cd nicio parte din corpul sau din imbracamintea co-
pilului, precum sireturile de la pantofi, centurile scaunelului etc,
nu intra in contact cu partile in miscare ale bicicletei; acest lucru
ar putea vatama copilul sau cauza accidente.

« Se recomanda folosirea unor aparatori pe roti pentru a impiedica
astfel copilul sd introduca picioarele sau mainile printre spitele
rotilor. Este obligatorie folosirea unei protectii pozitionate sub sa
sau a unei sei cu arcuri interne. Evitati accidentele asigurandu-va
ca in niciun mod copilul nu reuseste sa impiedice franele.

« Imbracati copilul cu haine adecvate conditiilor meteorologice si

echipati-l cu casca de protectie adecvata.

« Copiii din scaune trebuie s& fie imbracati cu haine mai calduroase
decat biciclistii si ar trebui sé fie protejati de ploaie.

« Cand scaunelul nu este in folosinta, strangeti catarama hamului
de siguranta pentru a evita balansarea curelelor si intrarea aces-
tora in contact cu partile rotitoare ale bicicletei precum rotj, frane
etc, reprezentand astfel un pericol pentru biciclist.

AVERTISMENT: Nu addugati bagaj suplimentar pe scdunelul copilului.

AVERTISMENT: Nu modificati scaunelul

« Daca transportati bagaj suplimentar, greutatea acestuia nu tre-
buie sé depdseasca capacitatea portanta a bicicletei si trebuie sa
fie transportat in fata biciclistului.

AVERTISMENT: Se pot inregistra modificari in functionarea bici-
cletei atunci cand se transporta un copil in scaunel, in special cu
privire la echilibru, directie si franare

AVERTISMENT: Nu ldsati niciodata copilul nesupravegheat in scaunel

« Verificati suruburile cu regularitate si inlocuiti-le cand este necesar.

AVERTISMENT: Nu folositi scaunelul daca vreuna din partile sale
este deterioratd

« Pozitia scaunelului trebuie ajustata astfel incat conducatorul bici-
cletei sa nu atingd scaunelul cu picioarele in timpul deplasarii.

« Greutatea conducatorului si a copilului transportat nu trebuie
sa depaseasca niciodata sarcina maximd admisa pentru bicicleta
respectiva. Consultati manualul de instructiuni al bicicletei sau
contactati furnizorul pentru a va asigura ca bicicleta suporta sar-
cini suplimentare.

« Protejati toate obiectele ascutite ale bicicletei care ar putea fi la
indemana copilului.

« Scaunelul si cdptuseala se pot incalzi daca sunt expuse la soare
timp indelungat. Inainte de a aseza copilul in scdunel, asigurati-
vd ca acesta nu este fierbinte.

« Ori de cdte ori bicicleta este transportata pe portbagaj sau pe grilajul
de pe acoperisul maginii, demontati scaunelul de pe bicicleta. Curentii
de aer |-ar putea deteriora sau smulge de pe bicicleta.

« Dupd montarea scaunelului, verificati functionarea corecta a acestuia.

« Verificati dacd in tara dumneavoastrd sunt in vigoare legi si
reglementari specifice relative la transportarea copiilor in
scaunele atasate la biciclete.

« Transportati numai copii care pot sta in scaun fard a fi ajutati o
perioada de timp mai indelungata, cel putin pe perioada avuta
in vedere pentru cdldtoria cu bicicleta.

« Este foarte important sa reglati corect scaunul si partile com-
ponente ale acestuia pentru a asigura copilului confortul si
siguranta optime. De asemenea, este important ca scaunul sa
nu se incline spre fatd, astfel incat copilul s nu aibd tendinta sa
alunece din el. Totodata, este important ca spatarul sa fie usor
inclinat spre spate.

yX0[ 3A AETCKMM KPECJIOM

C Lenbio KayecTBEHHOrO UCMOMb3OBAHWA Kpecna 1 BO 13bexaHue

HeCUaCTHbIX C/lyJaes, Mbl PeKOMeH/yem Cneayioliee:

- PerynapHo nposepAiTe, B UCMPaBHbIX 1 YCNOBMAX HAaXOAWUTCA
CUCTeMa KpenneHna ETCKOro Kpecna K Benocunesy.

- [poBepbTe, BCE NN KOMMOHEHTH PABbOTAIOT ¥ He 1CMoNb3yiiTe
NETCKOE KPecno, eCiin OAMH U3 KOMMOHEHTOB MNOBPEX/EH.
MNoBpexaeHHble YaCTN JOMKHbBI ObiTb 3aMEHEHbI.

- CopepxunTte aeTckoe Kpecno B uuctote. [lpy MbiTbe Kpecna
MCMOMb3yiTe MbifbHYIO BOAY (He wcnonb3yiTe abpasviBHble,
pasbefaloline WM TOKCMYeCKWe BellecTBa), Cylwwute npu
KOMHaTHOW Temneparype.

WHCTPYKLUKX NO COBNMOAEHUIO BE3ONACHOCTU

« Benocuneaucr, se3ywynii peberka, [OMKeH bbiTb He Monoxe 16 neT.

o JleTckoe cupieHbe NpeAHasHaueHo TOMbKO /1A MepeBO3KM
neTei He cTaple 5 neT Becom He bonee 22 kr. [Npexae yem
NOMb30BaTLCA CHAEHBEM, MPOBEPbTE BeC pebeHka. Hu B koem
Cyyae He nonb3ymnTech CrieHbem, ecn BeC peberka npesbillaeT
npefenbHo AOMyCTUMBIN.

54 www.polisport.com

« CuaeHvie He npefHasHaueHo ANA NEPeBO3KM AeTell MONoXe
12 mecaAueB. YTo0bl pebeHOK MOr e3auTb B 3TOM CUAEHWM, OH
JOMKEH YBEPEHHO ¥ MPAMO AepaTb rofoBy, MOTOMY YTO BO
BPeMA Noe3fK1 06A3aTeNbHO UCMOMb30BaHVe Wiema. Ecnn ectb
NPOTVBOMNOKA3aHNA Bpayel, nyutle pebeHKa He CaxaTb B Takoe
BENOCUMEAHOE KPECNO.

BHUMAHUE! [lo coobpaxeHnam 6€30MacHOCTV  yCTaHOBKa
AETCKOrO  CWEHbA PAa3PeLlaeTca TOMbKO Ha BENOCUMeaHble
6araxHWKM, CooTBETCTRYIOWME CTaHAapTy EN14872.

« YbequTech, UTo NOC/Ie MOHTaXa CUAeHWs, Benocunes pabotaet
KOPPEKTHO.

e He yctaHaenvBaiiTe fAeTCKoe cCuAeHWe Ha
CMOPTUBHbIE BENOCUMNE/I.

« Bo Bpema noesgkn Bce pemewkn AOMKHbI ObiTb HAAEXHO
3aCTerHyTbl, HO HE HACTOMBKO Tyro, UToObl MPUUMHWUTE PEBEHKY
601b YN ANCKOMPOPT.

« Bo u36exaHne BbicKarnb3biBaHWA pebeHKa 13 CUAeHUA He Nosb3yiTech
VM, MOKa He OTPErynupoBaHbl PeMHM 6e30MacHoCTy.

« Cnepgute 3a Tem, uTobbl OAexda M 0byBb pebeHKa, pemelKkn
CUAEHWA He CONPYKACcan1Ch C NOABVXHbIMY YaCTAMYM Benocunesa

FOHOYHblE U



BO M3bexaHne TPaBM 1 HECYACTHbIX CNy4aes.

BHUMAHMUE! [lononHutenbHble 3alimTHble  NPUcnocobnequs
HeobXOAMMO 3aKpeniTb.

o Y7100bl pyKM M HOMM pebeHka He nomamu B ChWUbl KOMeca,
pekomeHayeTca yCTaHOBKa 3aLWTHOrO orpaxaeHua.
06s3aTeNbHO HaNMYMe 3aLLMTbl N0 CEANIOM MO0 UCMONb30BaHME
CeAna C YCTaHOBMEHHBIMA Ha Hem MpyxuHamu. Bo m3bexarve
HECUaCTHbIX CJly4aeB MPOBEPLTE, UTO PeBEHOK Ha CAEeHWW He
MeLuaeT paboTe TOPMO30B BenoCHnesa.

« Jlyuwe ogesatb pebeHKa B TEMAYIO ¥ HEMPOAYBAEMYIO OAEXY, 1
0053aTe/IbHO UCMOSb30BATH LEM.

« Jlet B cupeHbe [OMkHbl ObiTb 6onee Tenno ogetbl, uyem
BEIOCMNEANCTbI, 1 ObiTb 3aLLMLIEHb OT AOXK/A.

« Korga pebeHok He cuamnT B CUAEHNN, TYTO 3aCTErHUTe HarpyaHble
peMelKkn Npu NOMOLWK KInncbl BO n3bexaHme nx nposucaHnA
¥ nonafaHnAa BO Bpallalolmecs 4actu Benocunea Takme, Kak
Kofleca, TOpMO3a U TA., YTO MOXET CTaTb MPWYMHON TPasMbl
CamMoro BenocuneamncTa.

BHUMAHMUE! 3ampeuaetca nepesBo3vTb 6Garax Ha AETCKOM
CUAeHNM BMECTe C pebeHKOM.

BHMMAHME! 3anpeliaeTca BHOCUTb M3MEHEHWA B KOHCTPYKLMIO
cuaeHna.

« [1pV HEOOXOAVMMOCTH NEepeBO3KY Haraxa ero BeC He 0MKEH NPeBbILLaTL
MaKCUManbHO AOMYCTVIMOM rpy30MOAbeMHOCTI Benocuneaa. Mpy sTom
6arax pasmeLLaloT Ha nepeaHem baraxHuke.

BHUMAHMUE! Hannune pebeHKka Ha CUOEHWM MOXET U3MEHWTb
nosefeHne  Benocunefa, OCODEHHO — ero  YCTOWUMBOCTb,
YNPABAAEMOCTb 1 3GGEKTUBHOCTL TOPMO30B.

BHUMAHME! Kateropuuecki 3anpeluaercs ocTaBiATs 6e3 npucmorpa
BENOCUNE C HAXOAALLMMCA Ha I€TCKOM CUAEHII PebeHKOM.

« [eprioauuyecky nposepaiiTe 3aTAXKY KpenexHbix 60nTos
CUAEHBA 1 B Cllydae HEOOXOAMMOCTU 3aMeHATE KIX.

BHUMAHMUE! B cnyuyae nonomku niobon fetann sKkcnayatauua
CUAeHbA 3anpeLyaeTca.

« MonoxeHne [eTCKOro CUAeHWA Ha Benocuneae [OMKHO ObiTb
OTPeryn1poBaHo Tak, YTobbl BENOCMNEeaUCT BO BPeMA e3abl He
3a/ieBas Horamy C1aeHua.

« CymmapHblii BeC Benlocuneancta 1 pebeHka He 0MxeH npesbiluars
MaKCVMasbHO I0NYCTMON Harpy3Ki ANA Benocunesa.

« lNocTapaiiTech VCKNIOUNTL BO3MOXKHOCTb MpUKacaHnA pebeHka
K KaKkuM 6bl TO HUM 6bI10 YaCTAM BeNOCKNesa BO BPEMA NOe3KM.

« lMog [oArvM BO3JECTBMEM COSMIHEUHBIX Nydel cuaeHve w
nofiknajka MoryT CtaTb ropauumi. [pexpe uem ycaauTb
pebeHka, ybenTech, 4To cUieH1e He CAIMLLIKOM ropayee.

« Mpu TpaHCNOpPTUPOBKE BefocKnesa B OaraxHUKe MalvHbI U
Ha HaBeCHOM DaraxHuKe, HeOOXOAVIMO CHATL ETCKOE cufieHue C
Benocunesa BO 13bexaHue nospexaeHuii.

« [pu1 MOHTaxe AeTCKOro c1aeHuA Ha senocunes ybenutecs, Yto
OHO He NoBpeXeHo.

« [pexpe Yem UCnonb3osath AeTCKoe cueHne ybeanTec, 4to 310
He 3anpelleHo 3akoHamy B Balueli cTpane.

« K nepesoske B cupeHbe [OMYCKAKOTCA TOMbKO [eTW, KOTopble
B COCTOAHUM CKAeTb 6e3 MOCTOPOHHEN MOMOWW B TeyeHvie
ANVTENBHOMO Nepuosa BpeMeH, No KpaiiHel Mepe B TeueHue
npenonaraemMoro BPemMeHy NoesKu.

« OueHb BaXHO NPaBIbHO OTPEryNMPOBaTh CUAEHbE 1 ero KOMMOHEHTbI
ANA ONTUMANBHOTO KOMPOPTa 11 6e30MacHOCTU pebeHKa. Takxe BaxHO
obecneunTb, YTobbl CeHbE HaKNOHANOCH He Bnepef, a cllerka Hasag,
UT06bI PEOEHOK He BbICKOMb3HYN 13 HEro.

UDRZBA
Odporucame vém dodrzat nasledujlce pokyny:

- Pravidelne kontrolujte upeviiovaci systém sedacky, aby ste sa uis-
tili, ze je vzdy v dobrom stave.

- Skontrolujte vietky casti sedacky, aby ste vedeli ¢i spravne funguju.
Nepouzivajte sedacku, ak niektora z ¢asti je poskodena. Poskodené
Casti sa musia vymenit.

- Sedacku cistite mydlom a vodou (nepouzivajte abrazivne, korézne
a toxické prostriedky).

BEZPECNOSTNE POKYNY

« Cyklista musi mat najmenej 16 rokov,

« Detskd sedacka je vhodnd jedine na prevoz deti s maximalnou
hmotnostou 22 kg a maximalne 5 roky starych. Pred pouzitim
sedacky skontrolujte hmotnost dietata. V Zziadnom pripade by
ste detsku sedacku nemali pouzivat na prevazanie deti, ktorych
hmotnost prevysuje medznu hodnotu.

« Nevozte v sedacke dieta mladsie ako jeden rok. Dieta musi byt
schopné sediet vzpriamene a drzat hlavu, na ktorej mé prilbu.
Pokial mate dieta okolo jedného roka, mali by ste sa poradit s lekarom.

UPOZORNENIE. — Z bezpecnostnych dévodov sa musi tato
sedacka namontovat len na

nosice batoziny, ktoré vyhovuji norme EN14872.

« Skontrolujte ¢i bicykel spravne funguje aj s pripevnenou sedackou.

« Neddvajte detskl sedacku na pretekarske bicykle (kvoli riadidlam,
ktoré su nizsie).

«Vsedacke zaistite dieta bezpecnostnymi pasmi. Pasy st dostatocne
pevné a nenarusia pohodlie dietata.

« Sedacku naklorte mierne dozadu, tym sa vyhnete zoSmyknutiu dietata.

« Nepouzivajte sedacku s rozopnutymi bezpecnostnymi pasmi.

UPOZORNENIE. - Dalsie pridavné bezpe¢nostné zariadenia je
potrebné vzdy namontovat.

« Zabrante kontaktu dietata (alebo jeho oblecenia, Sntrok od topa-
nok, bezpec¢nostnych pasov, atd.) s pohyblivymi ¢astami bicykla,
pretoze mozu dieta zranit alebo spdsobit nehodu.

« Odporticame namontovat ochranny kryt na koleso, aby ste zabra-
nili vsunutiu ndh alebo ruk dietata medzi spice. Pouzitie ochran-
ného krytu pod sedadlom alebo pouzitie sedadla s vnutornymi

pruzinami je povinné. Uistite sa, Ze dieta nemdze obmedzit fungo-
vanie brzd, predidete tym nehodam.

« Dieta teplo oblecte a nasadte mu vhodnu prilbu.

« Deti v sedackach musia byt oblecené teplejsie ako (moto)cyklisti a
mali by byt chrdnené pred dazdom.

« Ked sedacku nepouzivate, pasy utiahnite sponami, aby neprisli do kon-
taktu s kolesami, brzdami, atd’ Inak cyklistovi hrozi nebezpecenstvo.

UPOZORNENIE. - Nepripevriovat dalsiu batozinu na nosic dietata.

UPOZORNENIE. - Sedacka sa nesmie upravovat.

« Ak prepravujete dodato¢nu batozinu, jej hmotnost nesmie prevysit
nosnost bicykla a musf sa prepravovat v prednej casti pred jazdcom.

UPOZORNENIE. - Ked je dieta v sedacke, bicykel sa moze spravat
odlisne najma z hladiska rovnovahy, riadenia a brzdenia.

UPOZORNENIE. - Nikdy nenechéavat bicykel zaparkovany s
dietatom v sedacke bez dozoru.

« Pravidelne kontrolujte skrutky a vymente kazdu, ked treba.

UPOZORNENIE. — Nepouzivat sedacku, ak je niektora cast sedacky
poskodena.

« Poloha sedacky musi byt nastavena tak, aby sa jej cyklista pri pohy-
be nedotykal nohami.

« Hmotnost cyklistu a dietata nesmie nikdy prekrocit maximalnu
vahu ur¢enu pre vas bicykel. Prestudujte si ndvod na pouzivanie
vasho bicykla.

«V akejkolvek situécii zabrénte dietatu natahovat sa za Castami bicykla.

« Pokial je sedacka dlho vystavend sinecnému Ziareniu, méze sa zohriat.
Pred tym, ako do nej posadite dieta, uistite sa, Ze nie je prilis tepla.

« Vzdy odmontujte sedacku z bicykla pri prevoze bicykla autom. Inak
sa cestou moze poskodit alebo odtrhnut z bicykla.

« Po nasadeni sedacky na bicykel sa presvedcte, ¢i spravne funguje.

« Dodrzujte pravidla a nariadenia o preprave deti v sedackach, ktoré
platia vo vzasej krajine.

«Vozte len deti, ktoré dokézu samostatne sediet po dlhsiu dobu, a to
minimalne po dobu trvania pldnovanej cesty.

«Je velmi dolezité spravne nastavit sedacku a jej sucasti pre
zabezpecenie optimalneho pohodlia a bezpec¢nosti dietata. Takis-
to je velmi dolezité, aby sa sedacka nenaklanala dopredu, aby dieta
nemalo tendenciu z nej vyklznut. Je tiez déleZité, aby bolo zadné
operadlo mierne naklonené dozadu.

www.polisport.com 55




SL

SR

VZDRZEVANJE
Ob upostevanju spodnjih pravil bo sedez ohranil svoje lastnosti in
deloval brezhibno in varno:

- Pred vsako voznjo preverite stanje pritrditvenih delov sedeza na
okvir kolesa.

- Redno preverjajte stanje in funkcionalnost sestavnih delov
sedeza. Sedeza ne uporabljajte, Ce je kateri od sestavnih delov
poskodovan. Poskodovane dele morate zamenjati.

- Sedez ¢istite z milnico ali vodo in mehko krpo. Ne uporabljajte
agresivnih in strupenih sredstev.

VARNOSTNA NAVODILA IN OPOZORILA

« Kolesar mora biti star vsaj 16 let.

« Ta otroski sedez je primeren samo za prevoz otrok z najvecjo
tezo 22 kg, do starosti 5 let. Pred uporabo sedeza preverite tezo
otroka. V nobenem primeru ne smete uporabljati sedeza za
prevoz otroka, ki presega to omejitev teze.

« V tem otroskem sedezu ne prevazajte otroka, ki je mlajsi od 12
mesecev. Otrok je lahko sopotnik na kolesu samo, e je sposo-
ben sedeti naravnost, z vzravnano glavo in da nosi kolesarsko
Celado. Posvetujte se z zdravnikom, ¢e ste v dvomu glede pri-
merne razvitosti otroka.

OPOZORILO! Zaradi varnosti namestite otroski sedez le na
prtljaznike, skladne s standardom EN14872.

« Preverite ali vsi deli kolesa pravilno delujejo kadar je sedez pri-
trjen na kolo.

« Ne montirajte otroskega sedeza na dirkalno kolo (s spusc¢enim
krmilom).

« Pritrdite otroka na otroski sedez in zagotovite, da so vsi varnostni
pasovi trdno pritrjeni, vendar ne tako tesno, da bi bilo to neu-
dobno za otroka.

« Sedez naj bo vedno rahlo nagnjen nazaj in ne naprej, da ne bi
otrok zdrsnil.

« Otroskega sedeza ne smete uporabljati, dokler ne nastavite var-
nostnega pasu.

OPOZORILO! Dodatne varnostne naprave morajo biti vedno
pritrjene.

« Poskrbite, da nebi del telesa otroka ali oblacil, vezalk, jermenov
otroskega sedeza itd,, prisel v stik s premikajocimi deli kolesa, ker
to lahko poskoduje otroka ali povzroci nesreco.

« Priporocena je zascita kolesa, ki preprecuje otroku, da bi vtaknil
noge ali roke med $pice. Obvezna je uporaba zascite pod se-
dalom ali uporaba sedala z notranjimi vzmetmi. Zagotovite, da
otrok ne more ovirati zavor in se tako izognite nesrecam.

« Otroka oblecite primerno glede na vremenske pogoje in upora-
bite ustrezno celado.

« Otroci v sedezih morajo biti obleceni topleje kot vozniki kolesa in
jih je treba za¢ititi pred dezjem.

« Ce otroskega sedeza ne uporabljate, zapnite zaponko varnost-
nega pasu. Tako preprecite bingljanje trakov, ki bi lahko prisli v
stik z deli kolesa kot so kolesa, zavore itd, ker bi to lahko bilo
nevarno za kolesarja.

OPOZORILO! Na nosilec otroskega sedeza ne namescajte
dodatne prtljage.

OPOZORILO! Ne spreminjajte sedeza.

« Ce peljete dodatno prtljago, njena teZa ne sme prese¢i nosilnosti
kolesa, nahajati pa se mora pred kolesarjem.

OPOZORILO! Ko je otrok v sedezu, se odzivnost kolesa spremeni,
predvsem glede ravnoteZja, krmiljenja in zaviranja.

OPOZORILO! Nikoli ne puscajte otroka v sedezu na parkiranem
kolesu brez nadzora.

« Redno preverjajte vijake in jih po potrebi zamenjajte.

OPOZORILO! Sedeza ne uporabljajte, Ce je katerikoli od njegovih
delov polomljen.

« Polozaj otroskega sedeza nastavite tako, da se kolesar med
voznjo z nogami ne dotika otroskega sedeza.

« Pred uporabo najprej preverite ali so dobro pritrjeni vsi dodatni
varnostni rdeci pasovi. Glejte sliko 8M in 9M.

« Teza kolesarja in otroka ne sme nikoli biti vecja od najvecje
dopustne obremenitve kolesa. Preverite priro¢nik za kolo ali
vprasajte dobavitelja kolesa, ¢e prenese dodatno obremenitev.

« Zadcititi morate vsak konicast predmet na kolesu, katerega bi
lahko dosegel otrok.

« Sedez in blazina se lahko segrejeta, e sta predolgo na soncu.
Preden posadite otroka v sedez, preverite, da nista prevroca.

« Med prevozom kolesa na prtljazniku avtomobila ali nosilcu na
vratih avtomobila, vedno snemite otroski sedez. Zaradi upora
zraka se otroski sedez lahko poskoduje ali odtrga.

« Preverite ali montirani sedez pravilno deluje.

« Preverite veljavne zakone in predpise v vasi drzavi, ki se nanasajo
na prevoz otrok na sedezih, pritrjenih na kolesa.

«Prevazajte le otroke, ki lahko sedijo brez opore dlje ¢asa, torej vsaj
toliko ¢asa, kolikor se nameravate voziti s kolesom.

« Zelo je pomembno, da sedez in njegove sestavne dele nastavite
pravilno in otroku tako zagotovite optimalno udobje in varnost.
Prav tako je pomembno, da sedeZ ni nagnjen naprej, saj otrok
lahko zdrsi iz njega. Preveriti morate tudi, da je naslonjalo nag-
njeno rahlo nazaj.

ODRZAVANJE
Sledece preporuke pomoci ¢e vam da sprecite nezgode i o¢uvate
najbolje radne performanse decjeg sedista:

- Preporucuje se da redovno proveravate sistem fiksiranja sedista
za bicikl, kako biste ga ¢uvali u odli¢cnom stanju.

- Detaljno proverite sve komponente kako biste se uverili u to da
ispravno funkcionisu. Nemojte koristiti sediste ukoliko je bilo koja
od komponenti ostecena. Pre koris¢enja sedista ostecene kom-
ponente se moraju zameniti.

- Za Ciscenje sedista koristite samo sapun i vodu. Korid¢enje
nagrizajucih, korozivnih ili toksi¢nih proizvoda moze dovesti do
ostecenja sedita.

BEZBEDNOSNE SMERNICE | UPOZORENJA

« Vozac bicikla mora imati najmanje 16 godina.

« Ovo dedje sediste je pogodno za prevoz dece koja teze najvise
22 kg i do uzrasta od 5 godina . Pre koris¢enja sedista izmerite
detetovu tezinu. Ni u kom slucaju se sediste ne sme koristiti da bi
se prevozilo dete teze od naznacenog.

« Ovo decje sediste ne treba koristiti da bi se prevozilo dete mlade
od 12 meseci. Sedenje u de¢jem sedistu je bezbedno samo za
dete koje je u stanju pravo da sedi i drZi glavu uspravno dok nosi
kacigu.

56 www.polisport.com

UPOZORENVJE: Iz bezbednosnih razloga ovo sediste se moze postavl-
jati samo na prtljaznike koji su u skladu sa EN14872 standardom.

« Proverite da i svi delovi bicikla ispravno funkcionisu uz postav-
lieno de¢je sediste.

« Nemojte postaviti ovo decje sediste na trkacki bicikl (sa oboren-
im rukohvatom).

« Obezbedite dete u de¢jem sedistu tako Sto cete proveriti da li
su svi bezbednosni pojasevi pri¢vrsceni, ali ne toliko da bi bilo
detetu neudobno.

« Proverite da li sediste ostaje malo nagnuto unazad, a ne unapred,
kako biste sprecili da dete ispadne.

« Da bi se degje sediste koristilo, najpre mora da se podesi bezbed-
nosni pojas.

UPOZORENJE: Dodatna bezbednosna oprema treba uvek da
bude pri¢vrs¢ena.

« Nemojte dozvoliti da bilo koji deo tela ili de¢je odece, pertle, po-
jasevi decjeg sedista, itd., dodu u kontakt sa pokretnim delovima
bicikla, posto mogu da povrede dete ili dovedu do nesrece.

« Preporucuje se koris¢enje stitnika za tockove da dete ne bi gur-
nulo svoju nogu ili ruku medu Zbice. Obavezno je koris¢enje
zastite ispod sica ili koris¢enje sica sa oprugama. Vodite racuna
o tome da dete nije u mogucnosti da onesposobi ko¢nice,



izbegavajuci nezgode na taj nacin. Podesavanja se moraju pre-
pravljati u skladu s rastom deteta.

« Oblacite dete u odgovarajucu odecu u skladu s vremenskim us-
lovima, i koristite odgovarajucu kacigu.

« Deca u sedistima treba da budu obucena toplije nego vozaci
bicikala i treba da budu zasticena od kise.

« Kada ne koristite decje sediste, pri¢vrstite kopcu bezbednosnog
pojasa kako ne bi visili i dosli u kontakt s nekim od pokretnih
delova bicikla, kao $to su tockovi, kocnice, itd., posto to moze
predstavljati opasnost po biciklistu.

UPOZORENJE: Nemojte dodavati dodatni prtljag de¢jem sedistu.

UPOZORENJE: Nemojte prepravljati sediste.

« Ukoliko imate dodatni prtljag, njegova tezina ne sme da premasi
nosivost bicikla, i mora se postaviti ispred vozaca.

UPOZORENLJE: Bicikl se drugacije ponasa ako je dete u sedistu,
pogotovo kada su u pitanju ravnoteza, upravljanje i kocenje.

UPOZORENJE: Nikada nemojte bez nadzora ostaviti parkirani
bicikl s detetom u sedistu.

« Redovno proveravajte zavrtnje i zamenite ih ako je neophodno.

UPOZORENJE: Nemojte koristiti sediste ako je neki deo slomljen.

« Polozaj decjeg sedista mora tako biti podesen da voza¢ svojim

nogama dok je u pokretu ne dodiruje sediste.

« Tezina vozaca zajedno s detetom koje prevozi nikada ne sme da
premasi maksimalno dozvoljeno opterecenje za bicikl. Proverite
uputstvo za koris¢enje bicikla kod snabdevaca da biste proverili
da li bicikl moze da podnese ovaj dodatni teret.

« Morate pokriti bilo koji ostar ili Siljat predmet na biciklu koje dete
moze da dohvati.

« Sediste i postavka mogu postati vreli ako su duze vreme na sun-
cu. Proverite da nisu suvise topli pre nego stavite dete da sedne.

«Uvek skinite decje sediste s bicikla prilikom prevoza bicikla na
prtljazniku ili na ramu za bicikle na krovu automobila ili zadnjim vrati-
ma. Snazno strujanje vazduha moze osteti ili otrgnuti decje sediste.

« Proverite da li sediste ispravno funkcionise nakon sto je postavljeno.

« Proverite koji su zakoni i odredbe u vasoj zemlji na snazi koji se
ticu prevoza dece u sedistu pricvrs¢enom zu bicikl.

« Vozite samo decu koja su u stanju da sede samostalno na duzi vremen-
ski period, odnosno bar za vreme nameravanog putovanja.

« Veoma je vazno da pravilno podesite sediste i njegove sastavne de-
love radi optimalne udobnosti i bezbednosti deteta. Takode je vazno
da sediste ne bude nagnuto unapred, da dete ne bi iskliznulo iz njega.
Takode je vazno da naslon bude nagnut blago unazad.

UNDERHALL
For att barnsitsen skall fungera bra och for att forhindra olyckor bor
féljande uppmarksammas:
- Kontrollera regelbundet barnsitsens fastanordning pa cykeln.
- Kontrollera ocksa att alla delar fungerar korrekt. Anvénd ej barn-
sitsen om nagon del &r trasig. Skadade delar skall bytas ut.
- Rengodr barnsitsen med tval och vatten.

SAKERHETSINSTRUKTIONEROCH VARNINGAR

« Cyklisten maste vara atminstone 16 ar;

« Barnsitsen ar bara lamplig for transport av barn som vdger
hogst 22 kg och &r upp till tre ar gamla. Kontrollera barnets
vikt innan barnsitsen anvands. Barnsitsen far inte under nagra
omstandigheter anvandas for att skjutsa barn som vager mer an
den angivna maxvikten.

« Korinte ett barn som &r mindre an 12 manader gammalt i denna
barnstol. For att vara passagerare, maste barnet kunna sitta upp
rakt med huvudet uppratt, medan det bar cykelhjalm. En Idkare
bor tillfragas om barnets véxande ar tveksamt.

VARNING: Av sdkerhetsskal: anvand endast med pakethallare
utformad i enlighet med EN14872.

« Kontrollera att cykelns alla delar fungerar korrekt med barnstolen
monterad.

« Installera ej denna barnstol pa en racercykel (bockstyre).

« Spann fast barnet pa barnstolen och se till att alla sékerhets-
balten och remmar ar ordenligt dtdragna, men utan att det blir
obekvamt for barnet;

« Forsékra dig om att stolen forblir nagot lutad bakat och inte
framat, for att undvika att barnet glider

« Barnstolen far aldrig anvdndas innan sdkerhetsbéltet har justerats.

VARNING: Anvand alltid extrafasten

« Lat inte nagon del av barnets kropp eller bekladnad, skosnéren,
barnstolsbalte etc. komma i kontakt med rérliga delar pa cykeln,
da detta kan skada barnet eller orsaka olyckor.

« Anvandning av cykelskydd rekommenderas s& barnet inte kan
satta fotter eller hander mellan ekrarna. Det ar obligatoriskt att
anvanda skydd under sadeln eller en fjddersadel. S hindras barnet
att réra tramparna och olyckor som orsakas av det kan undvikas.

« Klad barnet med klader lampliga for vaderleken, och anvénd en
lamplig hjalm.

« Barn i saten maste vara varmare kladda an cykelforare och ska
skyddas fran regn.

« Nér barnstolen ej ar i bruk, kndpp midjespannet i sakerhetsse-
len for att hindra remmarna fran att dingla och komma i kontakt
med nagon rérlig del av cykeln som hjul, bromsar etc. eftersom

detta kan utgora en risk for cyklisten.

VARNING: Sétt inte varor eller bagage i cykelsitsen.

VARNING: Andra inte cykelsitsen.

«Om man transporterar annat gods, far inte godsets vikt Gverstiga
cykelns barférmaga. Ovrigt gods maste transporteras framfér
cyklisten.

VARNING: Cykeln kan uppféra sig annorlunda med barn i cy-
kelsitsen. Balans, styrformdga och. bromsférmaga kan paverkas
negativt.

VARNING: Stéll aldrig ifran dig cykeln med ett barn i cykelsitsen.

«Kontrollera regelbundet skruvarnas skick och byt dem vid behov.

VARNING: Anvand inte cykelsitsen om nagon del &r trasig.

« Barnstolens lage maste justeras sa att cyklisten inte vidror stolen
med fotterna i rorelse.

« Vikten av cyklisten och det medférda barnet far aldrig vara mer
an den maximalt tilldtna lasten for cykeln. Kontrollera cykelns
instruktionsmanual fran leverantoren, for att vara saker pa att
cykeln klarar av denna extra belastning.

« Du maste skydda eventuella vassa foremal pa cykeln som barnet
skulle kunna na

« Sitsen och dynan kan bli heta om de ldmnas lénge i solen. Se till
att de inte for varma innan barnet sétts i stolen.

« Nar cykeln transporteras pa bagagehyllor eller cykelstall pa biltak
eller pa bagagedorr, ta alltid av stolen. Vinddraget kan skada den
eller slita av den fran cykeln.

« Kontrollera att sitsen fungerar korrekt nar den & monterad.

« Kontrollera de géllande lagarna och bestdmmelserna i ditt land
gdllande att skjutsa barn i stolar som & monterade pa cyklar.

« Anvand barnstolen endast for barn som kan sitta utan hjalp
under en langre tid eller &tminstone sa lange cykelturen varar.

« Det &r mycket viktigt att justera satet och dess delar korrekt for
att uppna optimal bekvamlighet och sakerhet for barnet. Det ar
ocksd viktigt att satet inte lutar framdt s att barnet inte tenderar att
glida ur sétet. Det ar ocksd viktigt att ryggstodet lutar ndgot bakat.

www.polisport.com 57




TR

UK

BAKIM

Bebek koltugunun iyi calisir durumda kalmasi ve kazalarin onlen-

mesi igin asagidaki hususlar tavsiye ediyoruz:

- Mikemmel durumda oldugundan emin olmak icin koltugun
bisiklete sabitleme sistemini duzenli olarak kontrol edin.

- Dlzgun sekilde calistiklarindan emin olmak igin tim parcalari
kontrol edin. Parcalardan herhangi biri hasar gérmuisse koltugu
kullanmayin. Hasar gérmus parcalar degistiriimelidir.

- Koltugu sabun ve su ile temizleyin (asindirici, ¢Urtlict veya tok-
sik trainler kullanmayin).

GUVENLIK TALIMATLARI VE UYARILAR

« Bisiklet strlctst en az 16 yasinda olmalidir;

« Bu bebek koltugu, maksimum agirligi 48.5 Ibs / 22 kg olan ve
5 yasindan buyuk olmayan ¢ocuklarin tasinmasi igin uygundur.
Koltugu kullanmadan 6nce ¢ocugun agirhgini kontrol etmeyi
unutmayin. Bu koltuk hicbir surette belirtilen agirlik sinirni asan
¢ocuklarin tasinmast icin kullaniimamalidir.

«Bu bebek koltugunda 12 aydan daha kiigtik bir cocugu tagimayin.
Gocugun koltukta tasinabilmesi icin bir bisiklet kaski takarken
basi dik olarak oturabilmesi gerekmektedir. Cocugun buytmesi
ile ilgili sorular olmasi halinde bir doktora danisilmalidir.

UYARL:  Guvenlik nedeniyle, bu koltuk yalnizca EN14872
standardina uygun olan bagaj tasiyicilarina sabitlenmelidir.

« Bebek koltugu takili haldeyken bisikletin tiim parcalarinin dogru
calistigini kontrol edin.

« Bu bebek koltugunu bir yaris bisikletine (distik gidonlu) takmayin.

« Cocugu, butin emniyet kemerleri ve kayislarin saglam sekilde
takill fakat cocugu rahatsiz edecek kadar siki olmamasina dikkat
ederek bebek koltuguna baglayin;

« Cocugun kaymasini 6nlemek icin koltugun o6ne dogru degil,
arkaya dogru hafifce yatmis oldugundan emin olun

« Bebek koltugu, emniyet kemeri ayarlanmadan asla kullanilmamalidir.

UYARI: ilave emniyet cihazlari daima sabitlenmelidir.

« Cocugun viicudunun veya elbiselerinin, ayakkabi bagciklarinin,
bebek koltugu kemerlerinin, vs,, bisikletin hareketli parcalari ile
temas etmesine izin vermeyin, ¢iinkl bu durum gocuda zarar
verebilir ve kazalara neden olabilir.

« Cocugun ayaklarini veya ellerini tekerlek parmaklari arasina
sokmasini dnlemek icin tekerlek koruyucu kullanilmasi éner-
ilir. Selenin altinda koruyucu kullanilmasi veya i¢ yaylari
olan bir selenin kullanilmasi zorunludur. Cocugun frenleri

engelleyemediginden emin olun; boylece kazalar 6nlenebilir.

« Cocugu hava sartlarina uygun giydirin ve uygun bir kask kullanin.

« Koltuklardaki ¢ocuklar, bisikletin strticistinden daha kalin bir
sekilde giydirilmelidir ve yagmurdan korunmalidir.

« Bebek koltugu kullanilimadigi zaman, kayislarin sarkmasini ve
bisikletin tekerlekler, frenler, vs. gibi hareketli parcalari ile temas
etmesini 6nlemek icin emniyet kemerinin bel tokasini takin, aksi
takdirde bisiklet strtctst tehlikeyle karsilasabilir.

UYARI: Cocuk tastyiclya ek bagaj takmayin.

UYARI: Koltukta modifikasyon yapmayin

« Ek bagaj tasiyorsaniz, bagajin agirligi bisikletin tasima kapasite-
sini agmamali ve bagaj strtctinin éntnde tasinmalidir.

UYARI: Bisiklet, 6zellikle denge, yénlendirme ve frenle ilgili olarak
koltukta cocuk bulunurken farkli sekilde calisabilir

UYARI: Bisikleti cocuk koltukta tek basinayken park etmeyin

« Widalari diizenli olarak kontrol edin ve gerektiginde degistirin.

UYARI: Herhangi bir pargasi bozuksa koltugu kullanmayin

« Bebek koltugunun pozisyonu, bisiklet strticist hareket halindeyken
ayaklan bebek koltuguna temas etmeyecek sekilde ayarlanmalidr.

« SUrlictinlin ve taginan cocugun agirhdi asla bisiklet icin izin ver-
ilen maksimum ytkten fazla olmamalidir. Bisikletin bu ek ytku
destekleyeceginden emin olmak icin bisiklet tedarikgisinin
bisiklet talimat kilavuzuna bakin.

« Bisikletin, cocugun ulasabilecegi mesafedeki tim keskin ve sivri
parcalarinin Ustind ortmelisiniz

« Koltuk ve minder uzun stire guines altinda kalirsa isinabilir. Cocugu
koltuga oturtmadan 6nce bunlarin ¢ok sicak olmadigindan emin olun.

« Bisikleti araba tavani veya arka kapi Uzerindeki bagaj veya bisiklet
askilar Uzerinde tasimadan 6nce ¢ocuk koltugunu bisikletten
sokdn. Surtiinme etkisi hasar verebilir veya bebek koltugunu
yerinden kopartabilir.

« Koltugun monte edildiginde dogru calistigini kontrol edin.

« Ulkenizde, ¢ocuklarn bisikletlere takili koltuklarda taginmasi ile
ilgili yurarlukte olan kanun ve diger mevzuati kontrol edin.

«Uzun bir sure boyunca veya en azindan istenilen bisiklet
yolculugu stresi boyunca, yalnizca yardimsiz bir sekilde otura-
bilecek cocuklari tastyin.

« Cocugun optimum konforu ve gtiveni icin koltugun ve bilesen
parcalarinin dogru bir sekilde ayarlanmasi cok 6nemlidir.
Koltugun ileriye dogru egimli olmamasi da onemlidir boylece
cocuk koltugun disina dogru kayma egiliminde olmaz. Sirthgin
hafif bir sekilde arkaya dogru egimli olmasi da mthimdir.

OBCJIYTOBYBAHHA

3 MeTol0 NIATPUMYBAHHA AUTAYOrO CUAIHHA B rapHOMY POGOUOMY

CTaHi Ta 3anobiraHHio MOro MOWKOMKEHHIO MU PeKOMEeHaYEMO

HacTynHe:

- [MoctitHo nepesipaiTe cucTemy KpiNAeHHA CUAIHHA [0
Befocuney LWOAO i HeyWKOAXeHOCTi Ta cnigkynrte 3a ii
6e30raHH1M CTaHOM.

- BisyanbHo nepesipaliTe BCi AeTani Ha ix HanexHy npaue3AaTHICTb.
He BuKOpYVCTOBYITE CUAIHHA B Pa3i NOWKOAXEHHA Oyb-AKMX
1oro petaneit. MowkomeHi Aetani MoBMHHI By 3aMiHeHi.

- YnCTKy CMAIHHA BUKOHYITE 3a JOMOMOrOl0 BOAW 3 MNoM  (He
N03BONAETLCA BUKOPUCTOBYBATU abpasvigHi, ki abo TOKCUUHI
NPOAYKTH).

IHCTPYKLIi LLOAO AOTPUMAHHA TEXHIKU BE3MEKU

« Benocuneauct He moxe 6yTv MONOAWMM 16 POKIB.

« Lle autAaYe Benokpicno NpusHayeHe AnA Aiten 3 MakcMmanbHo
Baroto 22 Kr Ta Bikom 0 5 pokiB. [NepeBipTe Bary BawWwoi AUTUHN
nepef BUKOPUCTaHHAM AUTAYOrO Kpicna. B xogHomy pasi He cnig
KOPUCTYBATWCA AWUTAYMM KPICIOM ANA MepeBe3eHHA AUTUHW,
Bara AKOI NepeBuLLye HaBeeHe 3HaueHHs.

« He nepeso3bTe B LbOMY AWTAYOMY CUAIHHI AiTel, WO He
nocarnu Biky 12 micauis. o6 antvHa morna Gyt nacaxnpom,
BOHa MOBWMHHA BMEBHEHO CMAITM Ta TpUMaTU roOoBYy

58 www.polisport.com

BEPTVKaNbHO, OCKINbKK Nif yac 3An € 060B'A3KOBUM HaaAraHHA
BE/IOCMNEAHOrO LWONoMy. B pasi cymHiBiB BiAHOCHO BiAMOBIAHOTO
PO3BUTKY AWUTVHM NOTPIOHA KOHCYNbTaLiA Nikaps.

YBATA! fik 3axig 6e3neku Le Kpicno cnig BCTaHOBMIOBATY TiflbKM
Ha 6araxHuiky signosigHo fo EN14872.

« lepesipante Ha HanexHy OYHKLIOHaNbHICTb BCi 4aCTWHK
BesIoCcUneay, Ha AKOMY 3MOHTOBAHO AWTAYE CULIHHA.

« HemoxHa BCTaHOBMIOBATM AWTAYE CUAIHHA Ha TOHOUHI
BEJIOCUNEAN (3 HU3BKIM pynem).

« besneka ANTVHW B AUTAYOMY CUAIHHI 3a6€3neUyeTbCA HaAiMHIM
3aTAryBaHHAM BCIX MackiB, ane He HaCTIMbKA Tyrum, LWob
CMPUYMHATA ANCKOMMOPT AUTHHI.

« [epeKoHaliTecs B TOMY, O CUAIHHA Ma€ HEeBENMKMIA HaxMN Ha3ag, a He
HaBrakM, OCKINbKM Lie 3anobirae BYCKOB3YBaHHIO AUTUHU.

« He € npunycTUMUM BUKOPUCTaHHA [WTAYOTO CUAIHHA [0
BVKOHAHHA PEerysioBaHHA Nackis 6e3neku.

YBATA! [lonbAHWTENHWTE NpUCNocobneHna 3a 6e3onacHocT
TpA6Ba BMHarV ia 6baaT NOCTaBeHM.

« He € NpynyCTUMMM KOHTAKT PYXOMYX YaCTWH Benocunesy 3 byab-
AKUMM YaCTUHAMK Tina AUTUHW a0 1T OfATY, LWHYPKamy, nackamu
AWTAYOTO CUAIHHA | Tak Aani, OCKINbKN Lie MOXe CIPUYMHUTK
LIKOAY ANTWHI aBO MPU3BECTU 10 HELACHOTO BIUMAAKY.

« PeKOMeHAy€eTbCA BMKOPUCTOBYBATW LWMTOK AN1A Koneca, Wob
3ano6irTv  nonagaHHIo PyK uv HIr AWTUHW MK CMUAMA.



BrKOpUCTaHHA WKTKa HUXKYe Ciana abo BUKOPWUCTaHHA Ciana 3
BHYTPILLHIMM MPYXMHaMW € 060B'A3KOBMM. [epeKkoHainTecs, Wo
AUTHA He 3MOXe 3aBafUTV BUKOPUCTAHHIO rafibM | CNPUUUHUTH
TakUM YMHOM aBapito.

o ITHa noBuHHa GyTW OAArHEHa BIAMOBIAHO MOTOAi, TakoX
HeobXiAHOI0 YMOBOIO € BUKOPVCTaHHA 3aXMCHOTO LOMOMY.

« [liTV, WO 3HaXOAATBCA B CMAIHHAX, MaOTb Oy TV 3axuLLeHi Big fouly
Ta ofArHeHi Tenniwe Hix Bofii Benocmnenis.

« Mpu BIACYTHOCTI B CUGiHHI ANTMHW Nacky 6Ge3neku NoBWHHI
6y nigibpaHi Ta 3aTArHYTI B NPAKKM 3 METOW 3anobiraHHs ix
3BMCaHHIO Ta 6e3nocepeHbOMY NONafaHHIo B PYXOMi YaCTUHM
BeNocvneay, Taki Ak Koneca, rasbma i Tak fani, ToMy Wo Le yABNAE
Hebesneky 1A BenocuneancTa.

YBATA! lNepeaHi cMAiHHA 3MEHLLYIOTb MaHEBPEHICTb Berlocunesa.

YBATA! He npvikpinnioiite 40[aTKOBOrO 6araxy 0 ANTAYOTO Kpicha.

YBATA! He B1ao3miHionTe cugiHHs.

« AKLLO BM NepeBO3uTe AOAATKOBWI Barax, ioro Bara He NOBUHHa
nepeByLLyBaT/ MPUMYCTMY Bary BaHTaXiB ANnA Befnocunepa.
Barax mae 6y pO3TallOBaHNII Nepes BENOCMMNe[VCTOM.

YBATA! Benocunep i3 AUTUHOIO B KPICAi MOXe BeCTV cebe iHaKue,
0CO6/IMBO Lie CTOCYETHCA BanaHCyBaHHA, KEPMOBOTO YNpPaB/liHHA
i ranbmMyBaHHA.

YBATA! Hikonu He 3anuwaiite 6e3 Harnagy 3anapkoBaHwii
Benocmnes i3 ANTUHOIO B KPICAi.

« PerynAapHo nepesipaiiTe reuHT ity pasi HeoOXigHOCTI 3amiioliTe.

YBATA! He kopucTyiiTteca Kpiciiom, AKLWO byab-Aka oro geTtanb
NOLKOKeHa.

« MNonoxeHHA AMTAYOTO CUAIHHA NOBMHHE ByTW BifpPErybOBaHO

TakUM YMHOM, WOO BENOCMNeamcT nig Yac pyxy He TOPKaBCA
110ro Horamm.

« Bara Benocuneamcta Ta [WUTUHWM, KOTPY BiH Be3e, He MOxe
6y GINbIOK HIX MakcKManbHO nepegbadeHa ANA LbOro
Benocuneny. 3BEpHITbCA [0 KepiBHMUTBA 3 eKcnnyatauii Ta
nepeKoHaiiTech B 34aTHOCTI Beflocvnea BUTPUMATL JOfaTKOBY Bary.

« By NOBWHHI BUKNIOUNTY Byab-AKY MOXAMBICTb TOTO, LLO AUTUHA
3MOXe [OTATHYTUCA 3 CUAIHHA A0 3arOCTPEHMX ab0 BUCTYMaUMX
YaCTUH Berocumnesa.

«[Nig yac TprBanoro nepedyBaHHA Ha COHL|i CUAIHHA Ta NPOKNaAKa
MOXYTb CWMNMBbHO HarpiBaTMCA. 3a TakMX OOCTaBWH, MepL Hix
NOCAANTU ANTUHY B CUAIHHS, TPeba NePEKOHATUCA, O BOHO He
Ayxe rapave.

«[ig yac TpaHCNOPTyBaHHA BeNocunesa B 6araxxH1Ky aBTomobing
abo B HasicHOMy GaraHWKy Ha 1oro faxy abo 3afHii asepi,
AnTAYe CUAIHHA NOTPIOHO AEMOHTYBATY 3 BENOCKNeAa.

« [1icnA MOHTaXy CUAIHHA Ha BENnocunes NepekoHanTech B TOMY,
LLO BOHO CMPaBHO QyHKLIOHYE.

« [NepeBipTe, UM He 3a00POHAE 3aKOHOAABCTBO BalLoi KpaiHu Ta
[Mpaswvna pyxy TPaHCMOPTYBaHHA AiTel B AUTAYMX CUBIHHAX, LLO
BCTaHOBMEHI Ha BeNlocunesax.

« BukopuctoByiiTte cvfiHHA AnA NepeBe3eHHA AiTel, Ak MOXyTb
CaMOCTIVIHO  CUAITY B CUAIHHI [JOBMMiA yac, abo yac, AKui
HeobXiaHWI AR BaLLOT MOAOPOXI.

o [lyXe BaXAMBO MPaBWIbHO BIAPErynioBaTM CUAIHHA ANA
ONTUMaNbHOrO KOMGOPTY i Be3nekn AWUTUHU. TakoX BaK1BO,
W06 CUAIHHA He HaXMNANOCA BNepea i AUTUHA He 3iCKoB3HyNa 3
HbOro. CrinHKa Mae By Tn TPOXM HaxuneHa Hasaa.

Hip

THRINA B TR RIS ST  E BB FRETE

- BUEHREEENEE RS, BEEATFEEIERS
- (FEISE P SRR IE R TEAR AR A BRI
B, {5 FE R R EE R B 2R RO ER ¢4

- TR ERREMK, B, BrEEEEn
= MR P RER IR EE

RRIRPME S

BEEHILEELTBY 16 5

< WEBUE T RALRERN 22 A, FREKRA 5 FHIL
B, FRERI—EZONLERMEE, EEAER T
THEF RIS HET 4 E LRI LE

- NEERERSEEZNT 12 MEANILE, RBREBTEER
LA EAEFEERK, RNMRAENLETERE
SRR EEA

BE: BTR2EE MERRETRENE EN14872 15
ERTERE,

HERR)  EEREETESTHRETERY
ERRELNERBITE (FETE) LRRIES
BERFREEIER L BRIFETEHINATEHEN
&, BEREESULRTFENER

- HREBREEEMOME, MARSHE, MUBLERFE
Bt BB ED

- EBRERI—EERRERIFREH

EE: SYREMRMNTZSERE

- RS EREFTRALTINERES
AFUBRFROSEHRR. EF. BERRESHFOEMER
DEMBTENEDEYE, EAXRERFERGERS
BEINEL

- BNREERHIFREN ) LENMRFRNESRE. &
FHEFEE T AR ERIATNENEE, BR)LE
PEER ENTSBBIESNE, MMPLEENER. M
BILENZES KRG TN XL FRIRSH THEMIEIE
RERSBEAAERTF LEYNRBHMB S ENLE
cERLNZFLETERFERESERBNONR, HAL
FRIPIRZ R

JLEEFRRAAN, BENERefBNRINNIERTESR
FS5BTEEDEME (NFER. FiR) R, XT8ES
LREEERTIH

B8 7EE)LEEE LNRTE

BE: FNEXEMETHIER

MRGIMERITE, HEETRSEBEIRITENRTEHEF
BB EE RIS

BE: fILELEEETN, BTEZRERAERST
NEMARE, FHHRETE. FEUNEN

BE: MNBTEEERETENLLLEREER EME

e

- ERRERTH AL ENHTER

BE: )L EEREEAGRITNEBREER

- I L EEBNRMEHR TR, ERFEEEREN
Fahi A E BRI A ERAL

- BEENLENSESENTREET B ITENRREAHE
8. BRETEHEBRENETERPEMUBRERITE
RED IEESNT

« AR 2 F A i R RO R RSB = 1F
CMKHRMAANRT, ERRERITR, WHRERMNE
BASARERR BT RNER
TEAREENSFEENTERIBITER LEEBTEN,
—EBERZFMNETELRT, BEMER EHETRHET
MO REREHR G E
RENERSEREETIERIF

EFREER SRR TERTE LK) L EEREER
JLERIT A

EREAREBKNERELE (EVEMBNETRE
), TREEDNILE,

- EfptR B EATIEAN, DGR/ LENRESFENRT
2, XRFFEEN. AREENR, ZEFTMEEIHT
¥, ML) LERHER. RNFESIaEE R,

www.polisport.com 59




(3
polisport@polisport.com | www.polisport.com & | "‘ l I ,E}
Polisport Pldsticos, S.A. | Avenida Ferreira de Castro @ ’ Lq)
818 Fontanheira | 3720-024 Carregosa | Portugal PAP
MADE IN PORTUGAL | MANO120:1




